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PSA €LASS - IX CBSE Q.P. Format

Test Context Domain/ No. of
Item Type Items No. Passages | Total No. of Items
Qualitative
* Stand Alone MCQ 6 6
* Passage Based MCQ 6 2 12
SUB TOTAL 18
Quantitative
* Stand Alone MCQ 10 10
* Passage Based MCQ 4 2 8
SUB TOTAL 18
Language Conventions
* Grammar &Jsage MCQ 8 8
* Vocabulary in Context MCQ 8 8
* Passage Completion MCQ 8 8
SUB TOTAL 24
TOTAL 60
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LANGUAGE CONVENTIONS
| - Grammar and Usage-MCQ

I on this line before | realised my mistake.
(&  worked

(b)  was worked

(c) am working

(d) had been working

The doctor an operation.
(@ do

(b) performed

(c) is performed

(d)  done

I we should accept the offer.
(@  think

(b)  will think

(c) should think
(d)  would think

We rested the shade of the tree.
(@) in
(b) under

(c) ourselves in
(d) ourselves under

She should be ashamed her actions.
(@ by
(b) at
(c) of
(d) in
He friends has come back.
(@ and his
(b)  orhis

(c) along with his
(d)  along with them

70
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Nowadays,she her drawing board to school.
(@) carried
(b)  carries

(©) take

(d) taken

Neither he nor his servant
@) leave

(b) have left
(c) has left

(d) is left
what he says.
@) listen to
(b) listen
(©) hear
(d) hear to
When | was in trouble, there was to help me.

(&) anyone

(b) no one

(c) someone

(d) all

I lunch one hour ago.
€) have had

(b) had had

(c) had

(d) have

He thought that my car for sale.
€) IS

(b) was

(c) has been

(d) going

He tried to prevent me doing my duty.
(@) against

(b) at

(c)  with

(d)" from
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| would apologise if | you.
(@ am

(b) was

(c) were

(d) are

He has ulcer on his leg.

@ a

(b) an

(c) every

(d) big

He promised in this matter.
(&  helping

(b)  tohelp

(c) help

(d) helped

The teacher made the student the lesson
€) repeat

(b) repeated
(c) repeating
(d) has repeated
we did not go to school.
€) Being a holiday
(b) Since a holiday
(c) On holiday
(d) * It being a holiday

He would beg than steal.

(a) not

(b) no longer

(c) rather

(d) nor

| have not met him he left school.
(@  for

(b) as

(©) since

(d)  when
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The | purchased, had a tear.
(@ cloth

(b)  clothes

(©) clothing

(d)  dresses

The car was leaking

@ il
(b) much oil
(c) oils

(d)  some oils

A lot of money wasted on this project
€) is
(b) are
(c) were
(d) may
is expensive these days.
(@  Shoes
(b) Shoe

(c) A pair of shoes
(d)  Apair of shoe

There are than sixty boys in the class.
(@ nofew

(b) nolesser

(c) no fewer

(d) no lesser

His income than yours.

(@) less

(b) isless

(c) least

(d) islittle

My brother, Ajay is to me and Shalu
(@) elder

(b) eldest

(c) old

(d) oldest

Downloaded From : http://www.cbseportal.com



28

29

30

31

32

33

34

Downloaded From : http://www.cbseportal.com

He was sad yesterday.
(@) too

(b) very

(c) much

(d) fairly

My brother is than | am.
(&) more stronger

(b) stronger

(c) strong

(d) most strong

My stomach is full. I won't have else.
(@) nothing

(b) anything

(c) something

(d) little

The earth around the sun.
(& moved

(b) has moved

(c) is moved

(d) moves

He usually breakfast before he goes to school
(@) has eaten
(b) had eaten

(c) eats
(d) s eating
Why your homework yet ?

(@) didn't you do
(b) hadn't you done

(c) haven't you done
(d) haven't you been done

Last night | a pleasant dream.
(@) could see

(b) saw

(c) had seen

(d) had been seen
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At this age he is tired his life.

(@ with

(b) from

(c) of

(d) upon

He takes pride his wealth.

(@ in

(b) of

(c) with

(d) by

Due to heavy rains, she is trembling cold
(@) from

(b) with

(c) in

(d) by

| request you not to interfere _ my work.
@ in

(b) with

(c) on

(d) within

By the time we reached the station the train

(a) already left

(b) was left

(c) had already been left
(d) had already left

| was reading a book when the telephone bell

(@) ringing

(b) had rung
(c) rang

(d) should ring
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Answer Key Language Conventions -1 (Grammar and Usage-MCQ)
1 (d) had been working
2 (b) performed
3 (a) think
4 (b) under
5 (c) of
6 (c) along with his
7 (b) carries
8 (c) hasleft
9 (@) listen to
10 (b) noone
11 (c¢) had
12 (b) was
13 (d) from
14 (c) were
15 (b) an
16 (c) help
17 (a) repeat
18 (d) It being a holiday
19 (c) rather
20 (c) since

21 (a) cloth

Answer Key Language Conventions -1 (Grammar and Usage MCQ)
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(@)
(@)
(©)
(©)
(b)
(@)
(b)
(b)
(b)
(d)
(©)
(©)
(b)
(©)
(@)

"(b)

(b)
(d)
(©)

oil

is

A pair of shoes
no fewer

is less

elder

very

stronger
anything
moves

eats
haven't you done
saw

of

in

with

with

had already left

rang
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LANGUAGE CONVENTIONS
Il - Contextual Vocabulary-MCQ

Direction : Choose the correct alternatives which explains the idiom/ phrase written in bold

italics.

1 Kezia used to get cold feet when she thought of her father.
(&) getangry
(b) getscared
(c) wusedtocry
(d) felt like crying
2 Maria was on top of the world when she won the Wimbeldon.
(@) felt very happy
(b) felt very nervous
(c) felt satisfied
(d) felt excited
3 The cakes that the woman baked were out of this world
(@) horrible
(b) not tasty
(c) excellent
(d) alien
4 Mahender broke into cold sweat when he heard Iswaran's stories.
(@) got frozen
(b) was cold
(c) was angry
(d) got scared
5 St Peter nearly passed out due to hunger.

(a) fainted

(b) went away
(c) expired

(d) died
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Please wash the dishes right away.

(a) tomorrow

(b) today

(c) some

(d) immediately

Einstein‘s Theory of Relativity showed time and distance in a new light.
(@) new facts were discovered

(b) new light was discovered

(c) facts were given

(d) theories were discussed

Toto was not on good terms with other animals.
(@ friendly

(b) not friendly

(c) naughty

(d) good relations

News of Sachin’s century spread like wildfire.
(@ slowly

(b) fast

(c) here and there

(d) yesterday

Einstein asked President Roosvelt to look into the matter.
(&) toinvestigate

(b) to search

(c) to observe

(d) to peep

It was raining cats and dogs causing a traffic jam.
(@) softly

(b) heavily

(c) animals

(d) gently
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The Geography lesson went over Margie's head.
(@) understand

(b) did not understand

(c) forgot

(d) did not forget

Tom loved to pull Margie's leg.

(@) laugh

(b) irritate

(c) make away

(d) tease

Mother and children have a strong bond of love.
(@) affection

(b) relation

(c) family

(d) bhate

Hari turned into a new leaf when Anil did not hand him over to police.
(@) anintelligent boy

(b) achanged boy

(c) anew thief

(d) a big thief

The swallow kept his word to the Prince.

(@) faith

(b) promise

(c) belief

(d) trust

Parents pay through their nose to get their children into good schools.
(@) pay less money

(b) pay without difficulty

(c) pay easily

(d) pay with great difficulty
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Iswaran loved to blow his own trumpet by telling stories of how he knocked down an
elephant.

(@) to praise himself

(b) to praise others

(c) to talk about others

(d) to play a trumpet

It is no use crying over spilt milk when we fail in exams.

(@) to be happy

(b) toregret

(c) to getirritated

(d) togetangry

The Principal asked the students to give their request in black and white.
(@) written in black ink

(b) painted in black color

(c) in written form

(d) inspeech

After winning the World Cup the cricket team was on cloud nine.
(@) to be very happy

(b) to be very close

(c) to bein trouble

(d) to be angry

The poor boy longed for oranges.

(a) wanted
(b) felt
(c) asked

(d) searched
The boy acted in a humane way when taking care of the lost dog.
(@) hurtful

(b) caring
(c) mean
(d) bad
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| asked if | could go to Hailey's party, and Mom said she would give it some
consideration before she gave me an answer.

(@) paint
(b) thought
(c) flame
(d) mistake

| ate a portion of everything on my plate when | ate a small piece of meat, a small
piece of bread, and a small piece of chocolate pie.

(@) whole
(b) piece
(c) spoiled

(d) complete

Though Sita‘s test was partially done, she received a low grade because it was not
complete .

(@) badly

(b) finally

(c) incomplete

(d) completely

The soft, pliable wood was easy to bend.

(@) bendable

(b) rough

(c) solid

(d) bhard

Sonia has a gregarious personality as she loves to party and make friends.
(a) shy

(b) outgoing

(c) bashful

(d) timid

Some think that rules are unimportant, but they are vital when playing a game
(@ useful
(b) important

(c) terrible
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(d) exciting

Cows are domestic animals.
(@ mad

(b) mean

(c) calm

(d) tame

We use candles, flashlights and lamps to illuminate rooms.
(&) darken

(b) light up

(c) lighten

(d) weaken

These handicrafts are easily broken. Please handle with care.

(a) fragile

(b) delicate

(c) useless

(d) flexible

They are unwilling to cooperate with us in this project.
(a) eager

(b) reluctant

(c) forced

(d) ready

They had to abandon their ship when it began to sink.
(@) leave

(b) anchor

(c) repair

(d) tie

The accident happened because the driver drove recklessly.
(@) cautiously

(b) carefully

(c) hurriedly

(d) carelessly
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The prosecutor has enough evidence to prove his innocence.
(a) witness

(b) statement

(c) show

(d) proof

Football is a favourite game among school boys.
(@) popular

(b) famous

(c) friendly

(d) likeable

He has some rare coins in his collection
(@) special

(b) useful

(c) inexpensive
(d) uncommon
It was indeed a severe test of endurance for the sailors.

(&) problem
(b) torture

(c) ordeal

(d) test

The party found out that they did not have ample time to go there
(&) enough

(b) any

(c) some

(d) much

Answer Key Language Conventions - Il (Contextual Vocabulary-MCQ)
(b) get scared
(a) felt very happy
(c) excellent
(d) got scared
(a) fainted
(d) immediately
(a) new facts were discovered
(b) not friendly
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(b)
(@)
(b)
(b)
(d)
(@)
(b)
(b)
(d)
(@)
(b)
()
(@)
(@)
(b)
(b)
(b)
()
(@)
(b)
(b)
(d)
(b)
(@)
(b)
(@)
(d)
(d)
(@)
(d)
()

fast

to investigate
heavily

did not understand
tease

affection

a changed boy
promise

pay with great difficulty
to praise himself
to regret

in written from

to be very happy
wanted

caring

thought

piece
incomplete
bendable
outgoing
important

tame

light up

fragile

reluctant

leave

carelessly

proof

popular
uncommon

ordeal
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Language Conventions
Passage Based MCQs

Passage 1

Q.1

© © N o g s~ wDd R

I el =
— N P O

2)

Read the following passage carefully and select the most
suitable option from each list according to the corresponding
number in the passage.

The great advantage of early rising is the good

start it gives for ones daily work.

The early riser is able to complete a lot of

work before others even get out of their bed.

As the mind is fresh in the morning free from distractions.
one is able to do quality work.

one is able, if so inclined to have early morning

exercise which keep one energetic throughout the
day. Thus one completes one’s work during the day
without hurrying much and is left with enough

time in the evening for play or relaxation by leisurely
walk. This leads to good night’s rest.

In line 1 the word ‘advantage’ could be best replaced with
1) use

2) favourable

3) means

4) experience

In line 5 the word closest in meaning to ‘distractions’ is
1) prevention

2) attraction

3) inattention

4) concentration
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3)

4)

5)

6)

7)

8)

In line 3 the phrase ‘a lot of’ could be best replaced with

1) most of

2) much

3) more

4) many

In line 6 the word ‘quality’ could be best replaced with
1) good

2) excellent

3) distinct

4) fine

In line 8 the noun form of the word 'energetic'is__
1) energise

2) energising

3) energy

4) energised

In line 7 the word ‘inclined’ can be best replaced with

1) want
2) lean

3) stoop
4) bend

In line 10 the opposite in meaning to the word ‘enough’is___

1) sufficient

2) plenty
3) less
4) scare

Which of the following is the correct spelling of the word
"leisurely"?

1) leisurely

2) liesurely

Downloaded From : http://www.cbseportal.com
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3) leisurrly
4) lesurely
Passage 2
Elephants are (1) in India and in Africa. The (2)
elephants differs in some points (3) the
Indian, being larger with a (4) tusk and bigger ears. In
fact the two (5) considered to be different types in
both countries they live in (6) in the jungles and are
naturally (7) animals that keep away from (8)
. Elephants are good advertisements for (9)
for they live (10) on leaves, grass and
roots.
1) Which of these fits the gap 5 ?
1) is
2) are
3) was
4) being
2) Which of these fits the gap 2 ?
1) African
2) Korean
3) Malaysian
4) Chinese
3) Which of these fits the gap 7 ?
1) ferocious
2) fearsome
3) shy
4) terrible
4) Which of these fits the gap 10 ?
1) entirely
2) partially
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3) preferably
4) occasionally
5) Which of these fits the gap 6 ?
1) company
2) herds
3) crowds
4) singles
6) Which of these fits the gap 8 ?
1) the earth
2) the water
3) the cities

4) men
7) Which of these fits the gap 4 ?
1) larger
2) wider
3) long
4) longer

8) Which of these fits the gap 1 ?
1) available
2) found
3) watched
4) Observed
9) Which of these fits the gap 3 ?

1) on
2) by
3) from
4) with

10)  Which of these fits the gap 9 ?
1) spiritualism
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2) communism
3) vegetarianism

4) capitalism

Passage-3

1)

2)

3)

4)

We all use money in our lives. We use coins or paper-money and
adults use (1) and credit cards, too, but anything
can be (2) for money. In the past people used shells,
beans, string beads salt and (3) other things, even
cows. We think that coins were first used in China and then in (4)
Greece. These were made of gold or silver and

were very (5) . Each coin (6) stamped
with the mark or name of the ruler and the amount the coin was
worth. This is still true today (7) many countries.

Which of the following best fits the gap 3 ?

1) all

2) most
3) few
4) many

Which of the following best fits the gap 5 ?
1) precious

2) important

3) adequate

4) valuable

Which of the following best fits the gap 7 is ?

1) at

2) on

3) in

4) from

Which of these best fits the gap 4 ?
1) primtive
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2) old
3) ancient
4) modern
5) Which of these best fits the gap 2 ?
1) using
2) uses
3) used
4) user
6) The word that best fitsthegap 1is
1) checks

2) cheques

3) checques

4) checkes
7) The word that best fitsthegap 6is
1) is
2) was
3) were
4) are
Passage-4

Read the given passage carefully and fill up the blanks by
choosing the correct option :-

The (1) evaporates (2) from lakes
and oceans. As the air rises, it cools. The water vapour
condenses into tiny droplets of (3) . The droplets
crowd together and form a (4) . Wind blows the (5)

towards the land. The tiny droplets join together and
fall as precipitation to the (6) . The water soaks into
the ground and collects in (7) .The (8)

that never ends has started again.

1) ) moon
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2)

3)

4)

5)

6)

7

8)

sun
water
cloud
fish
ocean
rain
water
evaporation
clouds
water
sunshine
cloud
lake
storm
precipitation
rain

sun
droplet
cloud
river

lake
ground
cloud

. http://www.cbseportal.com

rivers and lakes

oceans and clouds

jars and cups

plants and animals

storm

cycle
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i) river
V) house

Passage-5

Twenty (1) ago, kids in school had never ever
heard of internet. Now I'll bet you can’t find a single person who
hasn’t at least heard of it. In fact many of us use it on a regular basis
and even have (2) to it from our homes. The ‘net’ in
3) really stands for network. A (4) is two or
more computers connected together so that information can (5)

. The internet is a vast resource for all types of

information. Information is accessed (6) web pages
that companies, organisations and individuals create and post. It's
akind of a (7) bulletin board that the whole world uses.
But since anyone can put anything on the internet, you (8)
be careful and use your best (9) and a

little (10) sense.

1) ) hours
1) days
iii) weeks
iv) years

2) )] assess
1)) access

i) reached

iv) brought
3) ) internet
i) fishnet

iii) network
V) netting

4) )] computer
i) internet
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1)) network

V) wire
5) ) hidden
i) lost
i) created
V) shared
8) )] from
i) within
i) through
V) by
7) ) great
i) huge
i) giant
iv) large
8) )] hasto
i) had to

iii) have to

iv) owing to
9) )] wisdom

i) advice

iii) judgement

iv) thought
10) i) rare
1)) common
i) none
iv) sixth
Passage-6
Are you superstitious ? For example (1) that if you

walk under a ladder, you’ll have bad luck for the rest of the day ?. I'm
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not superstitious because if you look carefully, you (2)

that something that is lucky in one country is unlucky in another. In
my country people (3) that if you see a black cat,
you'll be lucky, but for people in other countries black cats (4)
very unlucky!

1) Which of the following fits gap 3 ?

1) said

2) will say
3) says
4) say

2) Which ofthese fitsgap 1?
1) you will believe
2) you do believe
3) do you believe
4) you can believe
3) Which of these fitsgap 4 ?

1) may
2) can
3) are
4) will

4) Which of these fitsgap 2 ?
1) have to see
2) may see
3) will see
4) should be

Passage 7
Mosquitoes are a pest that (1) diseases such as
malaria and dengue fever. In some (2) parts of the
world, people die of malaria because they can’t afford to buy the (3)

they need. However, (4) , everything
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1)

2)

3)

4)

5)

6)

can doisto try and stop mosquitoes (5) . Doing a few
regular clean ups can (6) the pests from reproducing.
The word that best fitsthe gap 5is?

1) feeding

2) moving

3) living

4) breeding

Which is the most appropriate word for gap 4?
1) someone

2) noone

3) everyone

4) anyone

The word that best fits the gap 2is?

1) rich

2) poor

3) poorer

4) veryrich

Which of very bestfitsgap 6 ?
1) help

2) prevent

3) keep

4) allow

Which of these fitsgap 3 ?
1) medicine

2) food

3) drugs

4) sweets

Which of verbfitsgap 1 ?

1) will cause
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2) can cause
3) may cause
4) should cause

Passage 8
Fire fighters have to be very fit (1) very well trained and
very brave. They have to be fit and strong (2) so sometimes they
need to (3) clime tall ladders, or carry people out of buildings that
are (4) at fire. They must be trained properly because they use a lot
of (5) complicated equipment, not just hoses, but breathing
apparatus too. And, of course, they have to be very (6) courageous
because they often (7) has to enter burning buildings to rescue
people. These buildings can (8) to be very hot and so full of smoke
that the fire fighters can (9) hardly see anything. | would be very
flighted, wouldn’t you (10) .

1) Whatis the correct punctuation to be used?
1) comma after ‘fit’
2) full stop after ‘fit’
3) comma before ‘well trained’
4) capital letter requires for ‘well trained’
2) The word thatcan replace ‘'so’is ___
1) because
2) sothat
3) that
4) justbecause
3) Which of the following is the correct spelling of ‘clime’ ?

1) climb

2) climbe
3) cliemb
4) climeb
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4) Which word should be used in place of ‘at’ ?

1) in

2) on

3) upon
4) under

5) Which of the following is the correct spelling of
‘complacated’ ?

1) complicated
2) complecated
3) compilecated
4) compplicated
6) The word that could best be replaced with

1) bold
2) brave
3) confident
4) strong
7) The correctword to be used in place of ‘has’is___
1) are
2) were
3) have
4) had
8) The correctverb to be used in place of ‘tobe’is___
1) are
2) be
3) being
4) will be

9) The word closestin meaning to ‘hardly’is
1) almostnone

2) almost never
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3) scarcely

4) never
10) Thecorrect punctuation mark to be used _
1) full stop after ‘frightened’
2) capital letter of ‘wouldn’t’
3) guestion mark after ‘you’
4) full stop after ‘you’
Passage 9
Last night | watch a really interesting (1) programme on
television It was all about polerice caps. (2) _ Apparently __
with global warming (3) the ice is beginning to melt.
There were pictures of mountains of ice break of and falling into the
sea. (4)
1) the correctword in place of ‘watch’is__
1) watching
2) watched
3) had watched
4) were watching
2) The correct spelling for ‘poler’is
1) polar
2) pollar
3) poular
4) poller
3) The correct punctuation
1) comma after ‘apparently’
2) small letter for ‘apparently’
3) semi colon after ‘apparently’
4) colon after ‘apparently’
4) The correct phrase in place of ‘break of’is___
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1) broke off

2) break off

3) breaking off

4) broken off
Passage 10

1. There is something rather magical about seeing and touching
snow.

I had been brought up in Africa and | had never seen snow.
Of course | had seen pictures of snow but

| had never seen the real thing. Then one day,

I had the chance to go to England. My grandparents

were getting on in years and my parents

wanted to be closer to them. Finally we left

for England. It was along flight. We landed,

© 0 N o Ok~ Db

went through customs and out of the airport.

10. Tomyamazementeverything was white :

11.  “Snow”lcried. Forthefirsttimel

12. picked up a handful of real snow and

13. watched as it melted in my hands.

1) The word closestin meaning to phrase ‘gettingon’inline6is__

1) bringing
2) getting old
3) to be late
4) to be shocked
2) The word ‘handful’inline 12 could be bestreplaced with
1) asmall bowl
2) asmallamount
3) asmall number

4) afixed amount
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3) The word closest in meaning to the word ‘amazement’ in line 10 is

1) shocked
2)  happy
3) surprised
4) anxious
4) The word ‘magical’inline 1 could be bestreplaced with
1) enjoyable
2) enchanting

3) beautiful
4) pleasing
5) The word opposite in meaning to the word ‘real’in line4dis___
1) actual
2) true
3) artificial

4) genuine
6) The phrase ‘broughtup’in line 2 could be bestreplaced with

1) raised

2) taught

3) born

4) migrated
Passage 11

Complete this passage by choosing the most suitable word phrase
from each list to fit the corresponding gap.

The Narmada Bachao Andolan will perhaps (1) in history as
the longest struggle (2) by people to protect the eco -
system. It also raise the (3) guestion whether in the name
of so - called development, the poor villagers and tribals can be
forcedto(4) ___ theirrighttoland, livelihood and decentliving.

1) Which of these fitsthegap 1 ?
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1) goes
2) godown
3) goup
4) went
2) Which of these fitsthe gap 2 ?
1) began
2) begain
3) launched
4) launches
3) Which of these fitsthe gap 3 ?
1) fundamental
2) priority
3) real
4) final
4) Which of these fitsthe gap 4 ?
1) gave up
2) give up
3) giving
4) gave
Passage 12
Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.
Calcutta which is recently (1) as Kolkata owes it
emergence and phenomenal (2) to the British who
(3 theimmense(4)___ ofthiseastern port
1) Which of these fitsgap 3 ?
1) has realised
2) have realised

3)
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4) having realised

2) Which of these fitsthegap 2 ?
1) developing
2) development
3) developed
4) develop
3) Which of these fitsgap 1 ?
1) christened
2) re - Christened
3) called
4) spoken
4) Which of these fitsgap 4 ?
1) ability
2) promised
3) profit
4) potential
Passage 13
Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.
A1) stars are known which are hardly (2) than the
earth, butthe majority is so (3) that hundreds of thousands
ofearthscould (4) __ inside each and leave roomto spare.
1) Which of these fits gap 3 ?
1) larger
2) large
3) small
4) smaller
2) Which of these fits gap 4 ?

1) Is packed
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2) packed
3) be packed
4) will be packed
3) Which of these fitsgap 2 ?

1) big
2) small
3) bigger

4) smaller
4) Which of these fitsgap 1 ?

1) few
2) fewer
3) less
4) least
Passage 14

Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.

Investigations have been (1) for alongtimeto (2)
an environment friendly plastic in the sense that it (3) and
(4) __ apartofthe soil like rotting vegetable scraps do.
1) Which of these fitsgap 3 ?
1) decay
2) decayed
3) decays
4) decaying

2) Which of these fits gap 4 ?
1) become
2) became
3) being
4) becomes
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3) Which of these fitsgap 2 ?
1) produced
2) produce
3) produces
4) producing
4) Which of these fitsgap 1 ?

1) goon

2) goingon

3) wenton

4) gone
Passage 15

Complete this passage by choosing the most suitable word / phrase
from each list to fit the corresponding gap.

Q) Is a (2) of germination. During sprouting (3)
enzymes become active. The starch stored in the seeds is

(4) ___ intosugarslike glucose, fructose and proteins

1) Which of these fitsgap 3 ?

1) active

2) inactive

3) dull

4) sleepy

2) Which of these fitsgap 2 ?
1) process
2) processed
3) processing
4) processes

3) Which of these fitsgap 1 ?
1) sprout
2) sprouting
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3) sprouts
4) sprouted
4) Which of these fitsgap 4 ?
1) convert
2) converts
3) converted
4) converting
Passage 16
Read the following passage carefully and select the most suitable

option from each list according to corresponding number in the
passage.

1. Columbus found himself in a perilous
2. sitaation. He observed signs of dissatisfaction
3. amongst his crew. He pretended asif he
4. was ignorant of this but he felt agitated
5. allthe same
1) Inline 3, the word pretend could be best replaced with
1) faked
2) acted
3) sham
4) puton
2) Inline 2, the word dissatisfaction could be best replaced with

1) unhappiness
2) sad
3) miserable
4) dejected
3) Inline 1, the word perilous could be best replaced with
1) risk
2) hazard
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3) dangerous
4) critically
4) Inline 4, the word ignorant’ could be best replaced with
1) uneducated
2) unconscious
3) llliterate
4) unaware
5) Which of the following is the correct spelling of the word “sitaation”
1) station
2) stationed
3) situation
4) citation
6) which of the following is the same in meaning to the words “ all the
same” asthey are usedinline 5 above?
1) exact
2) eventhough
3) unimportant
4) alike
Passage 17
Read the following passage carefully and select the most suitable

option from each list according to corresponding number in the
passage.

The history of India is to a great extent
determined by geographical conditions.
To the north, she is shut off by the

gigantic mountain - wall of the Himalayas

a M wnh ke

running along her northern fronteer.
1) Inline 3, the word ‘shut - off’ could be best replaced with
1) fastened
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2) locked up
3) sealed off
4) closed up

2) Inline 1, the word ‘extent’ could be best replaced with
1) length
2) area
3) size
4) expanse
3) Inline 4, the word ‘gigantic’ could be best replaced with
1) bigger
2) enormous
3) highest
4) giant
4) Inline 2, the word ‘determind’ could be best replaced with
1) affected
2) learned
3) controlled
4) decided
5) Which of the following is the correct spelling of the word “fronteer”
1) frontier
2) fronteir
3) frontear
4) frontire
Passage 18
Read the following passage carefully and select the most suitable
option from each list according to corresponding number in the
passage.
The joint family system has undergone
2. adrastic change inIndia. These are a
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number of factors which are leading

toits disintigiration
1) Inline 4 the correct spelling of the word “disintigiration”is
1) Disintegeration
2) Disintegiration
3) Disintigeration
4) Disintegration
2) Inline 2, the word “drastic” could be bestreplaced with
1) harsh
2) extreme
3) radical
4) harsher
3) Inline 3, the word factors’ could be best replaced with

1) pointers
2) reasons
3) examples
4) problems
3) Inline 1, the word ‘undergone’ could be best replaced with
1) bear
2) been subjected to
3) experiencing
4) withstand
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Answer Key

Passage 1

1. (1) use

2.  (3) inattention
3. (1) mostof
4. (2) excellent
5. (3) energy
6. (1) want

7. (4) scarce

8. (1) Ileisurely
Passage 2

1. (2) are

2. (1) African
3. (3) shy

4. (1) entirely
5. (2) herds

6. (4 men

7. (4) longer

8. (2) found

9. (3) from

10. (3) Vegetarianism
Passage 3

1. (4 many
2. (4) valueable
3. (3 in
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Passage 4

(i)
(iv)
(iif)
()

(iv)
(iif)
()

(i)
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Passage 5

(iv)
(if)
(i)

(iif)
(iv)
(iii)
(iii)
(iii)
(iii)
(if)
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=
©

ancient
used
cheques

was

sun
water
water
cloud
cloud
ground
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rivers and lakes

cycle

years
access
internet
network
shared
through
giant

have to
judgement

common
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Passage 6

1. (4) say

2. (3) doyoubelieve
3. (3) are

4. (3) willsee
Passage 7

1. (4) breeding
2. (3) everyone
3. (3) poorer

4. (2) prevent

5. (1) medicine
6. (2) cancause

Passage 8

1. (1) commaafterfit’
2. (1) Dbecause

3. (1) climb

4. (2) on

5. (1) complicated

6. (2) brave

7. (3) Dhave

8. (2) be

9. (3) scarcely

10. (3) question mark after ‘you’

Passage 9
1. (2) watched
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2. (1) polar

3. (1) commaafter ‘apparently’
4. (3) breaking off

Passage 10

1. (2) gettingold

2. (2) asmallamount
3. (3) surprised

4. (2) enchanted

5. (3) artificial

6. (1) raised
Passage 11

1. (2) godown

2.  (3) launched

3. (1) fundamental
4. (2) giveup
Passage 12

1. (3) hadrealised
2. (2) development
3. (2) re-Christened
4. (4) potential
Passage 13

1. (2) large

2 (3) bepacked

3.  (3) Dbigger

4 (1) few
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Passage 14

1. (3) decays
2. (4) becomes
3. (2) produce
4, (2) goingon

Passage 15

1. (2) inactive
2. (1) process
3. (2) sprouting
4. (3) converted

Passage 16

1. (2) acted

2. (1) unhappiness
3. (3) dangerous
4. (4) unaware

5. (3) situation

6. (2) eventhough
Passage 17

1. (3) sealedoff

2. (1) length

3. (2) enormous
4, (4) decided

5. (1) frontier
Passage 18

1. (4) disintegration
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(2) extreme
3. (2) reason
4. (2) beensubjectedto
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HINDI LANGUAGE
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Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16
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ANSWER KEY

HINDI GRAMMAR IS USAGE QUESTIONS
WAUE ; 3T& TADBYUl U STl

1 (iv)
3. (i)
5 (i)
7 (iii)
9. (i
1. (i)
13. (i)
15.  (iv)
17. (i)
19. (i)
21. (i)
23. (i)
25. (i)
27. (i)
20.  (iv)
31 (iv)
33, (iv), (ii)
35. (i)
37. (i)
39.  (iv)
41, (i)
43. (i)
45. (i)
47. (i)
49. (i)

2.
4.
6.
8.

10.
12.
14.
16.
18.
20.
22.
24,
26.
28.
30.
32.
34.
36.
38.
40.
42.
44.
46.
48.
50.

(iv)
(i)
()
(iif)
(iif)
(iv)
(iif)
(ii)
(iv)
(iif)
(iif)
(ii)
(iv)
(iif)
(iif)
(ii), (iii)
(iif), (ii)
(iif)
(iv)
(iif)
()
(i)
(iif)
(iif)
(iif)
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&1 T a5 |

() forgeit (@) =it
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(1) = (F1) SqeAThT
Q.10 TaoEl SR TH «.ovooeeees 1 T IS B | TifeRd 315 o1 fef T o |
() Gyt (@) AYeT
(1) fagt (=) aysm
TET SEASI T TS hITT -
Q.11 THATED B cooeerrveerrreenrrissnriaens T (TF)
() q&ih (@) gk
(1) i (%) gfeqen
Q.12 HIHH TR covveceeerevercee. et sTet T <@ (SeT)
(%) sirgl (@) el
(M) =g (%) gt
Q.13  RITHT Ie% T SIga=H & -
() ST (@) T
(1) = (%) g
Q.14 ‘=T IsE ol TgawH € -
() = (@) wit
() sy (%) =hier
Q.15 ‘T’ VIR HI TGATA T -
() et (@) Tt
(1) wfear (&) Ty
ATeETeleh 9T BIfET -
Q.16 (&) JX (@) g&Ih
() = (%) oo
Q.17 drSHt o SIE f& Wist T TTeAT B
SR H Y@ifehd | 1 9T FdgUl
CIRIEEIEED (@) HAfFaTaH
(1) Sfdareeh () gHA=h
Q.18 g a1 | =faa areek T, SfdaT=sh W o ®9 H Y g2 87
(%) S 9 <9 R =St (@) 91 9 R 9 TS|
(1) <Al ASE = 3 (%1) oot <91 T TS B
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Q.19 ‘drcHed’ T i S Hal @ -

() a1 (@) I8

(n) 9™ (%) =d
Q.20 ‘=T’ Y JreETseh Hal 1 Tl fohed § -

(%) e (@) &=

() feare (&) e
I@ife uagH e Faisy -

Q.21 =@ H T B

(F) (@) 3R

(M) *d (=) 99gH
Q.22 U ¥ T ¥ed B

() SAURH HRH (@) WIS Sh

(1) sAfeRTm (1) HaY R
Q.23 e i TH I

(%) HYSH ek (Q@) §aY HRH

(1) sl HRH (91) *H FRH
Q.24 TALHIETE i TET 1 A 1|

(&) Fau (@) Fi

(1) STURH (&) wd
Q.25 TIeel Bl TR oo R (HT)

(+) ¥ (@)

(M) w7 (%) @@
Tratataa e ol § Suga gemil 9 gfd it -
Q.26 FAIH TEA TR covvvreerevvevssssssenessssonnnns d BEl|

(%) 3% (@) 39

() It H (31) 39
Q.27 TS BMTR T oo eeessssesssessses TN

() 39 (@) 3T

(1) SR (%) 34|
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Q.28 T HAARR, cooooeeeeeeeeeeeevvesssrrsessssssees TR T -
(%) 39 (@) SHH
(1) IR (%) ¥
Q.29 HIMTETE covvvvvrrreeeesssssssmssssssssssssnsnnes ferdr | e
() STt (@) A I
(M) = (%) TRt
Q.30 T HE TA T AR e @ 3@ R/ &
() @l (@) =il
(1) et (¥1) gt
Q.31 TER MW & @ T oo, oA ST ST R | e
=ifsa)
() Tt (@) 7R
(M) (%) &g
Q.32 WU i feR Sied ot Tei ‘Her Sier’ @ o1 § -
(F) aftad= g (@) Far &1 fga
() AT e e (%) e e @
Q.33 TE H oovveeeeeeeerrresre B 1 1w fargioo v 21
(%) Hial (@) i3
() it (%)
Q.34 i< T I @R IR 1 ey 91T 2
() afHvEES (@) TUrETEh
CIIERIEED CIR:RIEIEED
Q.35 TH el %A SUS g3 {Wifert v1eg o1 fargioo 92 7|
(%) H&AET=H (@) afRHTETES
(71) TUTETES (%) g
< g -t 3 - foee <P -
Q.36 3T=el-aTael
() BaT-9H (@) Tea-geat
(77) gedt-Tad (&) 9rt-gen
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Q.37 sHa-sIfT

() TA-AM (@) AT-gal

(1) TA-5i (%) A9
Q.38 aTef-aTeh

(%) wfE-Hia (@) diu-ge

(1) FE-TH (=) =H-gEt
Q.39 Fre-Hfe

() HH-hIEl (@) HIe-FW

(T1) HAS-Hiel (9) HIE-HUS
Q.40 srefi-smeft

(%) Hueehdl - 719 w13 (@) ¥rd 1Sl -~ =Me drell

(1) e aTel - 6 IS (&) 14 H1St - GUghdi
Q.41 ‘'HETRI' VK 1 Wik e T -

(&) 9™ (@) whifemE

() T (%) Heaen
Q.42 TV -

() qeTer (@) FHered

(1) Arehifer (=) =t
Q.43 Tl o7 221 Wi 2| Yw@ifehd ves o1 A © -

(%) TR @R (@) Hia1 e

(1) fed e (71) 23S ER
Q.44 ‘F9 ¥ B ek w1 N € -

(F) S H1 99 (@) 1S T 3T

(1) SRR A= (%) S o 9 h1E Tl
Q.45 ‘T3 TRY FHTAT' YeToR 1 1f € -

(%) fowara o (@) frgem &

(1) He 3 (91) B T_Y BT
Teram ot 9 TaEY -
Q.46 IIER HR e 2|

(F) AHHR (@) 9t

() fgwveh (%) XomefE

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

Q.47  TERIT A AT T

(%) HhHE S EERED
(M) wgH (%) Herrh
Q.48 Hym@: o WA HLATE, BFAT© -
(F) Tomef (@) 9gd
() WEEh CHRCTED
Q.49 feran fagioo & Y B © -
(F)TH (@)=
(M) W= (9) 9
Q.50 D @i Ywifehd I8 1 A @ -
() HeTH (@) fergroon
CORERINENLU (%) E=
Q.51 dl B EI-9S W Wfehd U= H Fgod T 2|
(%) Tg7 w9 (T) A T
(1) YT HHH (91) HHIRT THg
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ANSWER KEY
HINDI GRAMMAR IS USAGE QUESTIONS
@UE (&) ATHT TS IFHART

1 (i) 2. (ii)
3. (i) 4. ()
5. (i) 6. (i)
7 0] 8. (i)
9. (i) 10. (iii)
1. (i) 12. (iii)
13. (i) 14. (iii)
15.  (iv) 16. (iv)
17. (i) 18. (i)
19. (i) 20. (iv)
21. (i) 22. (i)
23. (i) 24. (i)
25. (i) 26. (ii)
27. (i) 28. (i)
29. (i) 30. (i)
31, (i) 32. (i)
33. (i) 34. (i)
35. (i) 36. (ii)
37. (i) 38. (ii)
39. (i) 40. (iii)
41. (i) 42. (i)
43. (i) 44. (iii)
45. (i) 46. (i)
47. (i) 48. (i)
49.  (iv) 50. (i)

51. (iii)
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PSA-IX
HINDI LANGUAGE

PASSAGE BASED QUESTIONS

QUg (W) YA, TEAIT
Trfafaa ueane = uget Fefataa yeai o 3w i -

T I ek AT T Ho hEHT
‘TIHA T ot Tk TR T
“ferereprTe 3 T WETEATE X BT’
“H AR =T T Tk A ot WS
T St 3 & ST it | g’
URTA-H U9 o |1y 9T Foreets
W S &7 9 Teh ofTet aht |51
Q.1 T i o A T Y IR Ha 1 Gehal & -
() I (@) st
(M) gfe (%) dia
Q.2 ‘fuepR’ ¥eg | T STUAT hIA-1 HAINE Fohe L &I 2 -
(F) Afmm (@) By
() wergyfd (&) grEfy=d
Q.3 T &l ¥ fFa Fal -
(%) AAeHUT A (@) A+
(M) [T\A (F) A A
Q.4 ‘UMTA-H 9q % W' fRd STeihR 1 YA g3 &2
(%) 3= (@) 9%
CORED (%) voi
Q.5 ‘S’ wIsg k1 wEiTETE e €2
() AT (@) &=
() |t () F
Frefafaa uezrer o ugent weAt o 3w i -
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Tl Bl & wa-aa |
e wie fast g &
Ta 3T e aet §
TeTeh Wehe Sh{dl & &t
ERa quit =t ARt &
T as W Em R R
S U o Flen |
0 AR S R | G o
2 = gt Toreeer Toom
T o i e
a2 T oTal oft T &
Trafa 12t o =l wema
TR Teha Tahia 919 &
ferer wria 3R Sy
Q.6 T oI gE e -
(%) HORW H (@) THA W
(1) SR R (%) ¥Rt SR S A W
Q.7  ©Rdl 3TN IoTeh Wehe hic @ -
() Tl o TEH | (@) well & T1eaq 9
(1) &0 = ok faeehi 9 () W-WaAd
Q.8 fmiwa=%-
(%) T o RO (@) =i oF HROT
(1) 20T o HROT (%) TS HS Grferd o1 o HROT
Q.9 frafd 3 o e et © -
(F) TR T (@) Teg feure
(1) Tt @t (%) Uehia«re ¥ 9 3R o=y
Q10 TSFARE -
() | Te o el @ (@) I & ¥
(1) 3Tt gE=Td o (1) =ieA o q9E 9
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frrefafaa T st gge oAl o ST St -
TRgm R EAR .....11..... H ogd Heva ¢ qiterd safer €t ato ... 12...
T AT T Tha &1 TR BIT S TR ... 13..... FEATH 81 TR
RN ......14..... I gl &1 AoheTar 21

Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

e wam -
(&) |11
(1) Hfeash
(%) ®H
() e
() AT
() A

(%) 98
(1) =i

(@)
(%) SfeA

(@) d&
(=) 99

(@) AgHReId
CIRIEEN

(@) A1
(%) &

T ... 15.... T HIS 3BT TEl 81 A aF HuX ¥ 317 Ta@ar 21 ....16....
STET g HeReret, WX 7S o ....17.... AT %e AT 1 ST .. 18.... |

feraar &1
faazam.......... ?
() =Uel

() 2rdi
faawam........... ?
() 3Tat

(M) 7™
Reawm ... ?

(F) IR
(M) =
... ?

() TeeR
(1) T

(@) [t
(F) &

(@) et
(%) |

(@) I
(%) =mq

(@) 9t
(91) S

v & T W TAT T HEOT ...20.... A AR
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EIehT WA 1T et 21 fl §9 S @Rt oft ....21.... 3T 3ik ferm
WK g it 3@ IH Ao oF ....22.... Th U T3 HWromm g ¥ ...
23.... B T 1| Ueh ot o 87 S5 E)

e T 19........7
Q.19 (=) for@a

(1) FHA

... ?

Q.20 (&) wiawy

(M) Hfd

e .......... ?
Q21 ()&

(M) <@

e ... ?
Q.22 (=) ¥ T

(M) fe=

... ?
Q.23 (&) T¥H

() =B

(@) gt
(%) 9adr

(@) =R
(%) TR

(@) g
(=) &

(@) THEe
CHRE

(@) faw
CHIREIEY

g T ferar & .24, &1 TAR Sifha SEreE @6 ....25..,. STUS B
T@T T i iR aie fopa € .26, B, § F STEATSTHT! WHIS H
T Y ....27.... A TET &1 WA TR | ....28.... 31T & B

R ... ?
Q.24 (=) fawx

() I

Reawm ... ?

Q.25 (%)WK
(M) @R

faazam......... ?

Q.26 (=) @IS

(@) 39 famg
(=) fae fau

(@) =R
(%) AR

(@) 9t
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Q.27

Q.28

Q.29

Q.30

Q.31

Q.32

Q.33

(M) TR

e wm ............ ?
() gHHar

(1) AITAH
ez ... ?
() AfeRan

() FHH

(%) 9=H

(@)
(91) 1&g

(@) =t
(%) fagean

3Neifies & WX ....29.... TURId gU uier Set Yoty | uie ... 30.... &t
firargut werar w1 wfaffice sed o e . 31...., T & v )
T Tooll o At feY, Threr, BY oI} ot 1 37 T o 32, RIS
= 2ol & il  gia &) wthe gegfu wifa =t .33, B

faazam........... ?
() Tee

(M) s
Reawm ... ?
(F) T

() gfst
e ...

() T

(1) wnfHen
Reawm ...
(%) He
CONEISE
Reawam ... ?
() Weiteh

(1) i

-~

-~

(@) 39d9
(%) 9 |

(@) HeTgral
(&) wisdt

(@) forgensre
(9) AR

(@) faem
(%) g

(@) e
(%) wfdfsan

WY i STEAH WA & | W A0TReR Siaq o Y9 o U SAfo
! JTfavar 31T Hag & 3eh IR ARl ol 18 T UgdT &1 ANTReR Sia
T STRTUT GIE HUMTST Y ... 34.... 3N SHA AL S ST 917
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Q.34

Q.35

Q.36

Q.37

Q.38

Q.39

Q.40

Q.41

I ....35.... T 3T &1 0 Taodia wmdior ... 36.... Tt Y&eh Geit &t ferdt

W & S S ....39.... 31 TET Teh ATHIUT BT HEANT ....40.... T2R(Ed &
% HROT TE &, FETIAT & ....41.... T 910 Uef STEahI g ¥ T 2 o
HRUT ...42.... T IR war faar s aren oo fafme 43, 29 S

HIUT SIa o 37T T Ik B

e wm ... ?
(F) FHR

() g%
Reawm ... ?
(%) faur

(M) aid
eazam....... ?
() Sffer

() T
faawam........... ?
(F) STEIERO

(1) fafsre
Reawm ... ?
(F) AR

(1) Harg
Reawam ... ?
(F) Tt

(TT) Ty
eazam........... ?
(%) 71

(1) 3TERH
e ............ ?
(%) 71

(1) S_H

(@) 97
(a1) T

(@) fagia
(9) A9

(@) FHIsl
(=) ufew

(@) 3™
(=) faum

(@) JaR
(7)) faag

(@) IRI
(¥°1) 3Ty

(@) 9sH
(7)) ARH

(@) <A
(®1) SIS
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Q.42

Q.43

Q.44

Q.45

Q.46

Q.47

Q.48

Q.49

feazam....... ?
(%) srEaHifas
(1) AERIRE
... ?
(=) fafere

(M) FhH
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(@) Enrfash
(9) AERIS

(@) A=
(%) AR

T ¢ Fefifer ot 9 T, TURT ST faen|
T 3 ufg | ? feran, arfeergm = o gfaema
Teiey =t forega 31X ooz, wan Fraifea =t swEl
2 TET 37yt fETg o, 7 TRt § g R

&TH hT o TTehT 11 AITH, 31T il Afet, ST &1 aig|
Tt 3 T vrifa w3vr, Fet g It ||
TasTar haet iR oAt TTE1, &1 ohi TET &RT UX &M
Targg gt & wwTe, 41 famem TR-= gm)

Tefifa = fopam en?
() & T @M

(1) 7ot sfegal 1 @
frarifira ferel sher T @2

(%) ofm

() g§ H

“urtf o T TR el © R ST B2
CORNEIS]

(1) T Efe

‘iR 1 forsra’ | o dred 22
() AT 1 Sid

(1) <@ 1 FRER

i\ T frg] 5 T o2
GIEED

(1) foeEr

‘R IR T 3 -

(@) IR =1 T
(%) 2797 Id k1

(@) SAFoT hi
CIRNEED

(@) TEfa
(91) St

(@) &Rl o o9 W A
(%) AT /e

(@) | g5
()
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(&) ™ (@) $0

(M 3= (%) fera
Q.50 frefafead & 9 wqg’ 1 yafaar € -

() retisR (@) Ifem

(1) TR (91) HEen
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ANSWER KEY
HINDI LANGUAGE
PASSAGE BASED QUESTIONS

Qug (|) a9, TG
1 (ii) 2. (iv)
3. (iii) 4. (i)
5. (iv) 6. (iv)
7. (iii) 8. (iv)
9. (iv) 10. (i)
11.  (iv) 12. (ii)
13. (i) 14. (iii)
15. (i) 16. (ii)
17. (i) 18. (iv)
19.  (iv) 20. (i)
21, (iv) 22. (i)
23. (i) 24. (i)
25. (i) 26. (iii)
27. (i) 28. (iii)
29.  (iv) 30. (ii)
31, () 32. (iv)
33. (i) 34. (i)
35. (i) 36. (i)
37. () 38. (i)
39. (i) 40. (iii)
41. (i) 42. (i)
43. (i) 44. (iii)
45. (i) 46. (i)
47. (i) 48. (i)
49.  (iii) 50. (iii)
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Q.1

Q.2

Q.3

PSA-IX
QUANTITATIVE

Stand Alone Questions MCQ

What is the value of

T T -
§64);§x 1 gE
58 75%
(@ 2 (b) 9
9 2
(c) 5 (d) 9

Whatis the remainder when polynomial

x’—ax’ + 6x—ais divided by (x—a)?

TEIE X’ —ax’ +6x—a i (x—a) ¥ 9 3+ T IThe =1 T2
(@ a (b) 3a

(c) a/s (d) 5a

Inthe given figure if SBAC = 72°amd AB =AC, SACD =?

fu T foa & $BAC =720 q2 AB=AC I SACD 1 HH BT :

A
B C "D

(a) 54° (b) 126°

(©) 136° (d) 108°
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Q.4  Findthevalue of —

T A1 Y
36.1
102.4
(@) 6.1 (b) 19
34 32
(c) 19 (d)19
34 31
Q.5 Findthevalue of—
T A1 Y
/0.00059049
(a) 0.243 (b) 0.00243
(c) 0.0243 (d) 0.0273

Q.6  Solveforx—

X ohT | J1d R ¢

(25)° =(125)>

@ 3 (b) 0
© 2 (d) -2
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Q.7

Q.8

Q.9

Solve —
TA M ¢
1—1)(1— 1)(1 ) ...... (1— )
(a) * (b) 2
© 3 @ 2

If nis a natural numberthenn(n+1)is—
I 1N T Wehd W@ 2 4l n (n+ 1) 1 AE ¢
(a) alwaysdivisible by 2

(b) neverdivisible by 2

(c) alwaysaprime number

(d) None ofthe above

(@) 2 9w fawfsa grar 2
(b) 2 9 Tauifsa =& e 21
(C) Hd T A & 2|
(d) SR g LT 21
Simplify —

TA R ¢

(893+786)°-(893-786)*

893 x 786

(a) 1683 (b) 4
(c) 107 (d) 701898
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Q.10 Three numbers areinratiol: 2 : 3 their H.C.F. is 12. The number
are:

(@) 4,8,12 (b) 5,10,15
(c) 10,20,30 (d) 12,24,36
A GEET HT U 1 :2 13 T AMSTHI 4G, [2 A HBMTE
(@) 4,812 (b) 5,10,15
(c) 10,20,30 (d) 12,24,36

Q.11 1f2994+14.5=172then29.94+1.45=
7fg 2994 +14.5=172 qt 29.94 + 1.45 &1 A :
(@) 0.172 (b) 1.72
(c) 17.2 d) 172

Q.12 If one third of a tank holds 80y of water then quantity of water that
half of the tank hold is :

IfE TH F& o 1/3 AN HT UIRAT 80 SfeX & O 39 < o 1/2 W HT

TR A1d |

@ Ly (b) 1005
(©) 120§ (d) 240§
(a) 8 et (b) 100 e
(c) 120 T (d) 240 i

Q.13 1f60% of % of anumberis 36, thenthe numberis—

Ife forell T SF 1 T 60% 36 & o H& B
(@) 80 (b) 100
(c) 75 (d) 90

Q.14 Theequationy-2 — 4+ 2 has.(wherex#4)
X-4 X-4

(&) onesolution (b) two solutions
(c) nosolution (d) infite solutions

WX_%z 4+2 o (ST x£4)
X_
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(a) THEARI (b) A TATI

(c) % &d T2l (d) TEET AT
Q.15 The zeros of the polynomial x’—9x+ 20 are —

U X°— 9x +20 o JEH ¢ :

(a) 4,5 (b) —-4,5
(c) —4,-5 (d) 4,-5

atb _b+c _cta

Q.16 Thevalueof XX X s

a b c
X X X
atb b+c c+a
dk eku
a b c
X X X
(@ 1 b) X
(C) Xa+b+c (d) Xabc

Q.17 Inagroup of cows and hens there were 25 heads and 70 feet find
the number of cows and number of hens :

(@) 10cows, 15hens (b) 15cows, 10 hens
(c) 12cows13hens (d) 13cowsand12hens

el o Tk gge | T qen gl o Rl o "em 25 qen Sk W
1 @ 70 |1 M e Gt o) Gen gaE?

(@) 107, 15 gfifar (b) 15 7=, 10 giifar

(c) 12T, 13 gfifar (d) 137, 12 gfifar

Q.18 Ifone zero of the polynomial x*—4x+K is 6 then the value of K is
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AR X —4x+ K T TH IH 6 B dl K T AH BT
(@ 12 (b) 2
(c) -2 (d) -12
Q.19 If Binuis 10% heavier than Anu and Pinu is 10% lighter than Binu.
Thenwhat can you say about the relative weights of Anu and Pinu.
(@) Pinuisheavierthan Anuby 1%
(b) Pinuislighterthan Anuby 1%
(c) Theyare equalinweight
(d) Pinuislighterthan Anu by 99%
I < T oo 31 o oS 9 10% 3Aferh @ e T 1 oI o1 &
o5 W 10% HH & a1 31 o oI5 o GTYel T T oo T e
(a) O 1 IS 3T o oI 9 1% ek 2l
(b) i o1 a5 31 o oS W 1% HH B
(C) STh1 oS HHM B

(d) T S 31 o oS F 99% A 2

Q.20 A businessman sold two coolers for Rs. 9,900 each making 10%
profit on one and losing 10% on the other. His gain or loss
percentage on the two coolersis:

(@) nogainnoloss (b) lossofl1%

(c) gainofl1% (d) gainof5%

Tehe I < 19 salien 11 aha9 900% 939, faa +f gameg T s
T T I 10% T M9 T T T 10% T BT g3 1 I Ford
o fasha o 34 foRas wfaera @ s1eren 31 gl

(@) HIS AT A g &I (b) 1% k1 B
(c) 1% kT eH (d) 5% T
Q.21 Divide Rs. 391 into three parts which are proportional to the ratios
6:8:9
(a) 102,136,153 (b) 136,102,153
(c) 101,140,150 (d) 195,120,76
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391 T93 i 3H YR <19 9 B faafsd &3 for Sert 914 6:8:9 =1
(a) 102,136,153 (b) 136,102,153
(c) 101,140,150 (d) 195,120,76

Q.22 Three items of a sample are in the ratio of 1:2:3. The mean of third
and second itemis 30. The third itemis:

Teh Heher o i kgl T STUM 1:2:3 71 AE T M AR 3Thg

HTATEA 30 T @ TR TFS FTAFE
(@) 40 (b) 38
(c) 32 (d) 36

Q.23 A bag contains 7 red balls 6 green balls 4 black balls. A ball is
drawn randomly from this bag. What is the probability of the drawn
ball is to be white ball?

T O | 7 A, 6 T SR 4 weh 1§ AgmsEn 9 § ¥ T ]
freRTel STt & | TreRTelt 71 915 o e BN 1 WITehdl &1 g1l ?

(@ 7 (b) 6
17 17
(c) 4 (d) O
17
Q.24 Two dice are tossed. The probability that the total score is a prime
no.is:
T Y Tk T IV T Wifaendr 19 Hifee foh 9 st 1 am
T ST F&A T
(@ 1 (b) 5
6 12
© 1 (d) 7.
2 10

Q.25 Radius ‘r’ of the base of cylinder and sphere are equal. The
volume of both are equal, the height of cylinder is :

T 9o o STUR d a1 B ¢ 999 2| 3 3ok STRIaA SIeR
2l dl el 1 H41S = B
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Q.26

Q.27

Q.28

(&) 4y (b) 3r
3 4
€ 9 (d) 4,
16 3
Sum of the exterior angles of a Quadrilatral is :
forelt =gt <k SfgshIvT 1 0T BT &
(@ 270 (b) 306
(c) 630 (d) 360

If DC||AB the values of xandy are :
few e o= 9 9fE DC||AB @ x qeNy o A & -

A B
u x
Y
55
D C i’
(@) (45°,25°) (b) (25°,65°)
(c) (300,459 (d) (45°,30°)

What type of quadrilateral ABCD is if JAOB =90°?
=qsfst ABCD # aifg [JAOB = 90° &l dl 98 foh e YR 1 @ -

(a) Rectangle * (8) Parallelogram
(c) Rhombus (d) Allofthem
(2) e (b) AR G
() wH=gdw (d) ST et
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Q.29

Q.30

Q.31

Q.32

Q.33

The diagonals of arhombus are 18 cm and 24 cm one of its side is :
Teh qHEGS o foeRull sl A9 A: 18 A qo 24 T ]1 SHHT

(@) 14cm (b) 16cm
(c) 17cm (d) 15cm

Find the area of equilatral triangle of sideis2cm :

2 T SIS oTe) THaTg Tt T &t B -

(@) 4v3cm (b) V3 cm
4
(c) V3em’ (d) 6cm2

Incircle (O, r) ABis the chord and JADB =76°. Find JAOB
T (O, r) ® Sfiel AB & [JADB = 76° @ JAOB =1 9 &I -

D@
A B

(a) 67° (b) 78°

(c) 87° (d) 152°

In the figure given below find the value of JPOR. (POQ being a
straightline)is:

et afa & DPOR %1 W 311 1 (A% POQ Toh ¥ ¥ ©) -

(a) 60° (b) 45°
(c) 30° P T (d) 35°

Which one of the regular figure has the interior angle less than the

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

exterior angle.

(&) Triangle (b) Square

(c) Pentagon (d) Hexagon
fh e FHATg SES h1 3Td:h U1 ATEShHIT W HH Bl 2-
(@) B (b) =

(c) TaYS (d) WSt

Q.34 In the figure given below AD, intersects the angle OBAC in the
ratio 1:3amd AD = DB. Find the value of x.

f7e aTRfd  AD, OBAC &1 1:3 # fawifsa st € 31k AD = DB 21

x 1 71 faifa wifsa) E
108

B D - C

(@) 108 (b) 54

(c) 72 (d) 90

Q.35 ABCDisasquare. Find the coordinates of pointsAand C.
ABCD e i & fag A qen ¢ o et A &

A ")
(-Dl,-z) )
(@ A(1,-2) C(2,-2) (b) A(1,3) C(2,2)
(c) A(-1,3) C(2,-2) (d) A(2,2) C(3,-3)

Q.36 Findthe area of the givenfigure.
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Q.37

Q.38

Q.39

3TMRTd H T T @IS h1 &AHA A HITST)

V731t
8ft

5ft

(a) 56ft2 (b) 58ft2
(c) 63ft2 (d) 78ft2
Diagonal of a square field is 40 m find the area of the field.

e AR @ 1 faerul 40 . < 81 @d 1 &57hd 1 H
(a) 800m?2 (b) 400 m?
(c) 600m? (d) 40v2 m’

One chord of a circle is 10 cm in length. The radius of circle must
be

(a) 5cm (b) greaterthan5cm

(c) greaterthanorequalto5cm (d) Lessthan5cm

Teh o § Weh 9 a1 ofeE 10 T € o< o1 52 i ofee g
() 59

(b) 5 9t 9 Afere

(c) 5 UHI G 3ifyes a1 5 I o SR

(d) 59t 9 =%d

Two circular cylinders of equal volume have heights in the ratio 1:2
ratio of their radiiis :

T o IR Sl T ST SR € AU Seh! Su1gdl ol STUN 1:2
21 ST et w1 A T it

(@) 12 (b) v2:1

(c) 1:2 (d) 1:4
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Q.40

Q.41

Q.42

Q.43

If the diameter of the base of a right circular cylinder is equal to its
height h then its total surface areais :

Teh AT 9ot o SHR 1 o1 ST SHaTs o ael © dl SHeh
Ui g3 &Sl B -

(a) 2mn’ (b) 3 mn’
2
(c) 4 mh’® (d) Th?
3

If the height and radius of a cone of volume V are doubled, then the
volume of new coneis:

IfE Wk Vi Toent 31aq Vv B o o qen = st g o fean
ST ot YT T Y T A € -

(@ 3V (b) 4V

(c) 6V (d) 8v

Asphere and cube are of same height. The ratio of their volume is :

T Tl 37 5 1 Se1gdl U @ Soh S| shi ST © —

(@) 11:21 (b) 3:4
(c) 2111 (d) 4:3
Inthe given velocity time graph, which part represents retardation:
(s) (m/s)
T E
A C
= D
E
= B
3
4
0 Time (cs) ——>
(@ OA (b) AB
(c) BC (d) CD
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T T AT-HHA T, i1 T SR OTHE =01 <91 &1 8 -

E
A C

@ D

S

3 B

le; (s)
(a OA (b) AB
(c) BC (d) CD
Q.44 Weightof aboy on earthis 60N. What will be his weight on moon.
(& 60N (b) 10N
(c) 10kg (d) 60kg
Jeall T Teh TSk ol AR 60N FEHT T ITRT TR TR -
(& 60N (b) 10N
(c) 10kg (d) 60kg
Q.45 The commercial unitof energy (1 kwh)isequalto:

(@) 3.6x10°kJ (b) 3.6x10°kJ
(c) 306x10°kJ (d) 3.6x10°kJ
S o1 SATEEI e W5k (1 khw) SR ® -
(@) 3.6x10°kJH (b) 3.6x10°kJsh
(c) 306x10°kJIeh (d) 3.6x10°kJe

Q.46 The weight of a woman is 500N at the equator. Her weight at the
poles would be :

(@) morethan 500 N (b) lessthan 500N
(c) equalto500N (d ON
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forelt St o1 R fererd 90 W 500N 21 ¢feli TR SHehT WK B -

(@) 500N 31firem (b) 500NH FH
(c) 500N (d ON
Q.47 Acuboid box has dimensions 20 cm x 10 cm x 5 cm. The surface
that will exert maximum pressure on a table would be :
(@) 20cmx10cm
(b) 10cmx5cm
(c) 20cmx5cm
(d) Allthe surfaces will exertthe same pressure

e ¥ TR fHT 20 cm x 10 cm x 5 cm ®1 919 1 foRE Hag g0

ol Afen 3@ gfauiad g -
(&) 20cmx10cm
(b) 10cmx5cm
(c) 20cmx5cm

(d) |+t T8 IR @ Fiiad |

Q.48 While going to his school, a boy starts from A, takes the path AB,
BC, CD, DB and reaches B as shown in the figure. The total
distance covered and the displacement of the boy would
respectively be: ,

C

B 5km D
(& 16km,5km (b) 5km,16km
(c) 16km,6km (d) 9km,5km

Teh TSl faemerd &1 3R S g¢ ‘A’ § IR & F=g8R 921 AB, BC,
CD, DB ¥ 2 gU ‘B’ d% Ugadl &1 dgeh g q9 1 TE T I ST

foreetTo SHHeT: T -
(@) 16km,5km (b) 5km, 16 km
(c) 16km,6km (d) 9km,5km
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Q.49 The distance time graph for the motion of two friends Vijay and
Sameer is given below which of the following statement is true?
A N
Vijay
Sameer

—>

Time

S
rd

Distance ————

(a) Sameeris moving faster.
(b) Both Vijay and Sameer are moving at the same speed.

(c) Itis not possible to find out the relative speed of Vijay and
Sameer.

(d) Vijayis moving faster.
W I fawg @i TR+ fa & faw < 9w o g w2
frreferfiad o 9 shia-91 e Tel 2

A

fot;
T Iehj

(«]
-

v

njh
(a) THR eTUegd et Ifq W = W@ 2|
(b) Torsm SR FHi THE fd 9 =l @ 2|

(c) U W TR R faera ot Trder T 9red 3T Hord 7L 2
(d) focm erdenera e fd @ =t @1 2|
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Q.50 Train starts from a city Aat 6.00 am and reaches the city ‘B’ at 8.30
am. If the distance between the two cities is 160 km the average
speed ofthe trainis::

(@ 70km/h (b) 60km/h
() 74km/h (d) 64km/h

F1g IOTMS! el IET H 6.00 am T A Hich fhdl T IEX |

8.30 am W gt 71 A% ST I1ed o s 1 g 160 km @ 3ot B

e =Tl © -
(@ 70km/h (b) 60km/h
(c) 74km/h (d) 64 km/h
Q.51 Which one of the following has maximum number of atoms :
(& 12gofH,0 (b) 12gofO,
(c) 12gofCO, (d) 12gofCH,
Frfafad 9 forad Tt 1 §EA SAfieshad g ?
(@ HOd12g (b) O,d12g
(c) CO, d12g (d CH,d12g

Q.52 The number of electrons in an element ‘X’ is 11 and the number of
neutrons is 12 which of the following is the correct representation
of the element.

(a) 23X (b) 23X

(c) 12 X (d) 11X

wmﬁg@wﬁﬁmllﬁin@ﬁﬁa@ru%mﬁ
Y hIF-91 qed X ] FE 9E9H @ -

@ 23y 0 23 ¥

() 12)( (d) 11X

Q.53 One mlcrometre is:
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(@) 10”°metre (b) 10°metre
(c) 10°metre (d) 10 metre
T AEFHHR B s -

(@) 107°HX (b) 10°Hiex

(c) 107°#X (d) 10™Hx

Q.54 An object weighs 14 N in air when immersed fully in water, it
weighs only 11N. The weight of the liquid displaced by the object

will be :

(&) 25N (b) 14N

(c) 3N (d) 11N

fordt fif 1 9 § 9N 14 N ® 5ot & gaH W 9T 9K el 1IN €
e g1 foreenfia S/a1 1 AR BT -

(@) 25N (b) 14N

(c) 3N (d) 11N

Q.55 Aboyis carrying a school bag of 2 kg mass on his back and moves
100 m on a levelled road. The work done against the gravitational
force will be (=10 ms™)

(@) 3x10°J (b) 21
(c) 20017 (d) Zero
FHIE ASH 3T T3 W 2 T =M *1 9% I3€ Fhell aHaa
e T 100 H. T T 77 BT €| STk gRI TRyl o o foeg
feh e ST aTet 1 B8R (g = 10 ms ™)
(@) 3x10°J (b) 21
(c) 20017 (d) Zero

Q.56 Sound produced by a thunder storm is heard 8 s after the
lightening is seen the approximate distance of the thunder will be
(speed of sound =340 m/s)
(@ 2.72km (b) 3.72km
(c) 1.72km (d) 4.72km
ferelt dfgasian g1 Scq=1 At digad fE@mE <4 o 8 s &g G 2l 21
TSI H¥ 1 Hi=Tehe U AT (#4191 =1 = 340 m/s)
(@ 2.72km (b) 3.72km
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(c) 1.72km (d) 4.72km
Q.57 The suitable scale for the measurement of the length of an adult
round worm (Ascaris lumbricoids) found in small intestine is :
(@ cm (b) mm
(c) pm (d) m
Th Eh TMIhH (TEhE Jsiehisied) et 3 § qren S 2
THoh AR 1 HIY oh fou Sfad Tohed (|9 &1 dXiehT) BN -
(a) @i (b) foref.
(c) WrEehIHIR (d) .

Q.58 The speed of sound in Air is 331 m/s at 0°C. On increasing the
temperature of air from 0°C to 25°C the speed of sound will :
(@) Decrease
(b) Increase
(c) Remainsthe same
(d) FirstDecreasethenincrease

a1 ¥ waf & 1fd 0°C IT9HH W 331 m/s Bt 21 I T 0°C drqHH

! 25°C T FGMH T -
(a) =M (b) =
(c) Tk T W@ (d) vt =t fRR e

Q.59 F, forceisrequiredto accelerate 2 kg of mass at5 ms™and F, force
is required to accelerate 4 kg mass at 2 M/s’

(@ F,=F, (b) F,>F,

(c) F,<F, (d) None ofthese

F, ot 2 T Seq9H ol 5 ms 2 d i il &1 F, <l 4 Tonun geoam
1 2m/s2 9 T Ll B

(@ F,=F, (b) F,>F,

(c) F,<F, d) ST H HE T8l
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Q.60

Distance (km)

04 08 1.2 1.6
Time(hr)

In the above distance time graph which among the fours travelling

the fastest speed :
(@ B (b) C
() A (d) D
SUgerd THE T UE § fepeent i atfues € -
S
B C
A
= 6T
2,1
D
2 -

04 08 12 16
le; i%Vh

(@) B (b) C
€ A (d D
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ANSWER KEY TO QUANTITATIVE
STAND ALONE MCQ

1. (d) 2. (d)
3. (b) 4. (b)
5. (c) 6. (c)
7. (b) 8. (a)
9. (b) 10. (d)
11. (c) 12. (c)
13. (b) 14. (b)
15. (@) 16. (a)
17. (a) 18. (d)
19. (b) 20. (b)
21.  (a) 22. (d)
23.  (d) 24. (b)
25.  (a) 26. (d)
27. (b) 28. (c)
29. (d) 30. (c)
31.  (d) 32. (¢)
33. (a) 34. (d)
35. (© 36. (a)
37.  (a) 38. (b)
39. (b) 40. (b)
41.  (d) 42. (a)
43. (b) 44. (b)
45.  (b) 46. (a)
47. (b) 48. (a)
49. (a) 50. (d)
51. (d) 52. (a)
53. (b) 54. (c)
55. (d) 56. (a)
57. (a) 58. (b)
59. (b) 60. (a)
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QUANTITATIVE
Passage Based MCQ
Passage No. 1

A survey was conducted among 1200 people of Delhi speaking different
languages, which is shown in the given figure. Calculate the following as
per given figure.

=

Punjabi Malyalam
itich ey:lye

English
vxth

Hindi
fgUnh

150°

Number of Hindi speaking people are :

(i) 150 (i) 45

(ii) 500 (iv) 60

How many people speak Punjabi?

(i) 150 (i) 45

(@ii) 90 (iv) 300

How many people speak Hindi and Tamil both together?
(i) 180 (i) 600

(i) 280 (iv) 380

How many more people speak English than Malyalam?
i 25 (i) 50

(i) 76 (iv) 67
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feeett o faf=t s sier aret < 61 Teerr feran T, fr et 1200 @
yfiret gu S Sent He o 3t o fere o <eiien T 21 Fost ot wer | wdRy
e

Punjabi Maly_alam
itic) ey:lye

English
vxth

45°

150°

Hindi
fglnh

1. &<t sier et @ fara 22

() 150 (i) 45
(i) 500 (iv) 60
2. SITE sier ol A SRl HEA R B2
() 150 (i) 45
(i) 90 (iv) 300
3. Te<t o qfter dier aTel Sl T HeE adrei|
() 180 (i) 600
(i) 280 (iv) 380
4. HoETTY de arel 9 S dier arell s @ o stfue 272
0 25 (i) 50
(i) 76 (iv) 67
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Passage No. 2

The expenditure on education in 1951-52 increases from 0.64% to 3.98%
in 2002-03 (Budgetary estimate). The literacy rate have increased from
18% in 1951 to 65% in 2001. Literacy is not only aright, it is also needed if
the citizen are to perform their duties and enjoy their right properly.
However, a vast difference is notice across different sections of
population. Literacy among males is nearly 50% higher than females and
it is about 50% higher in urban areas as compared to the rural areas.
Literacy rates vary from 96% in some district of Kerala to below 30% in
some parts of Madhya Pradesh.

1. Howmuchistheeducation budgetafterincreasingin 2003?

(i) 18% (i) 64%
(i) 96% (iv) 3.98%

2. Findtheincrease inthe education budget from 1951 to 2003.
i) 47% (i) 96%
(i) 3.34% (iv) 50%

3.  Howmuch hasthe literacy rate increased from 1951 to 20017
(i) 75% (i) 65%
(i) 30% (iv) 96%

4. Inhow many districts of Kerala the percentage of literacy rate is
more as compare to Madhya Pradesh?

(i 30 (i) 66

(i) 65 (iv) 90
e o €9 H e W T 1951-52 o foiw 0.64 GfaeTd & sgaht 2002-03 H 3.98
Hiaerd (SIS SAM) B T 2| SEE WAl <X 1951 o 18 v ¥ 9§t 2001
H 65 wfderd &1 T Afecnsti w1 oTueT qeu § WeRdl R w49 50 Ufera s €
TR TTeftor e Y STden T e H qent § QieRdl X wie q=d gfaerd eifi 2
& & o Toal | e R 96 Hfav # Sfeh 7L Y o 9 WE § 98 30
wher o == 2

1. 2003 ¥ f3en aroie sget foham wfaera &t Tn?
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(i) 18% (i) 64%
(i) 96% (iv) 3.98%
2. 1951 § 2003 ¥ f3ren aie # gfg yfawa saEy)
()  47% (i) 96%
(i) 3.34% (iv) 50%
3. 2001 H HIERAT T AEHL feha Hfawrd &t T ?
() 75% (i) 65%
(i) 30% (iv) 96%
4. ohTc o D TSIl § HET YR T ol | Teha T Herar tfues 82
() 30 (i) 66
(i) 65 (iv) 90

Passage No. 3

In a school there are 120 students in class IX. In the physical education
period 88 students play cricket, 65 students play hockey while some
among them play both cricket and hockey. If one student is picked at
random.

If one studentis picked at random find the probability that —
1. Heplayscricket.

() 11 (i) 11
15 12
(i) 7 (iv) 7
15 11

2. Heplays hockey.

i 13 iy 13
21 20
(i) 13 (v) 12
24 30
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3. Heplayshockey as well as cricket.

(i 22 (i) 11
40 40
(i) 12 (iv) 4
40 20

4. Ifonestudentis picked who plays cricket also plays hockey.
(i) (i) 5

8

(i) 2 (iv) 1
8 8

3
8

ek Tt o wmen 7ol § et 120 o 81 IR ¥1en o ey § 88 BT fowehe
AT 65 BT Bleh! Werd € Saifeh 31 ol | | o o6l 4F O Terd 2l

I Tk BT ol Ao A Tl TreAfhehel 1 H -

1. 9% fere Qo 7l
@ u (i) 11
15 12
@iy 7 (iv) 7
15 11

2. 9% B! Wl gl
i 13 (i) 13
21 20
(i) 13 (iv) 12
24 30

3. g glehl a fehohe 31 Wl Weldl 2

i 22 i) 11
40 40
(i) 12 (iv) 4
40 20
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I T 1 BT A1 ST i1 Fshohe Werdl € o8 gieh! off Wetdr 21

@ 3 (i) 5
8 8
(iiy 2 (iv) 1
3 8

Passage No. 4

Four friends Manan, Chandan, Sanam, Naman are standing at one
unit distance away from the origin in cartesian plane such that their
co-ordinates are (1, 0), (-1, 0), (0, 1), (0, —1) respectively. Manan and
Chandan are facing each other while Sanam and Naman are facing each
other. All the four friends moved three units distance on their right reached
at new points.

Now answer the following questions on the basis of above passage :

1.

Now, what are the co-ordinates on which Manan is standing?

i (31) (i) (-1,3)

(i) (1,3) (iv) (3,-1)

Now what are the co-ordinates on which Chandanis standing?
0 31 (i) (-1,-3)

@) (1,-3) (iv) (3,-1)

Now, what are the co-ordinates on which Sanam is standing?
i 31 (i) (-1,-3)

@i (1,3) (iv) (3,1)

Now, what are the co-ordiniates on which Naman is standing?
@ (3,-1) (i) (-1,-3)

@) (1,3) (iv) (3,-1)

=R 53 791, I, 999, T Fifdd ad R g fog 9 T 3R g W YRR g8
g f w96 fdwns (1, 0), (-1, 0), (0, 1), (0, -1) &1 4 3R ==A & q@
Teh-SWR 1 3R B 1 G0 o T 1 G@ Toh-OR 1 3R 2| =R o 7ot <
R 1 3HTE BT T T F<oh ¢ Tefd R wE=d 2

UK 3T T T 9§ 1 7l o Wt ST sy -
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1. o w e fdvnie waer @2

i (31 (i) (-1,3)

(i) (1,3) ) (3,-1)
2. d eA fory feed e R?

@ (31 (i) (-1,-3)

(i) (1,-3) ) (3,-1)
3. o gm T fadeniss W @er €2

@ 31 (i) (-1,-3)

@iy (1,3) (iv) (3,1)
4. o9 T o fdenies W @@= €2

@ (3,-1) (i) (-1,-3)

(i) (1,3) ) (3,-1)

Passage No. 5

In the given square sum of the rows and columns is given. Find the value
ofthe given variablesA, B, C, D.

S
7

A A A D 26
D B B B 32
D B B C 35
D D C C 42
38 30 29 38 135

1. ThevalueofAis
@M 5 i) 7
@ii) 10 (iv) 11
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2. ThevalueofBis
@ 5
(i) 14

3. ThevalueofCis
@ 7
@ii) 14

4. ThevalueofDis
@ 7
(i) 15

. http://www.cbseportal.com

(i) 7
(iv) 12

(i) 10
(iv) 8

(i) 11
(iv) 9

few T ot o dferdad qen ereererd A KT T | A, B, C, D SHST W1 °F 1d 1

Al Al Al D |26
D| B| B| B |32
D| B| B| c |35
D| D| c| c |4
38 30 29 38 135
l. ok A HIHMA R
(i) 5 i) 7
(i) 10 (v) 11
2. HATHBHF ARG
Qi) 5 i) 7
(i) 14 (iv) 12
3. YR CHHAAR
Qi 7 (i) 10
(i) 14 (iv) 8
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4- oIH D HIAAE
@M 7 i) 11
(@ii) 15 (iv) 9
Passage No. 6

The following bar graph gives the information of the sales of the books
(in thousnads) of six languages during two consecutive years 2010 and
2011.

130 4—
1204
[<H)
Q 1104+
S 1004—
< 90 4
-c% 80 +4— /
S04+ [ - o
S v d
S5 4+~ | v - - = P
E 40 4— L v e e P |
T30 4+ | v
) v e v <
20+ |} L > [ o P
10 4+ / / / / / /
L] v = e 2011
0 English French Hindi Sanskirt Germon _ Spanish
Books _ 2010
Now answer the following questions based on above bar
graph:
1. Total sale of English, Hindi and German books (in thousands)
for both years:
(i) 250 (i) 310
(i) 435 (iv) 560

2.  What is the ratio of total sale of Spanish books in both years
and total books of Hindi in both years?

() 10:11 (i) 8:11
(i) 11:10 (iv) 5:34
3.  What is the average sale in thousands of all the books for the
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year 20107
@ 73 (i) 80
(i) 83 (iv) 88

What is the ratio of the total sale of French books as compared
to the sales of Sanskrit books for both years?

(i) 2:3 (i) 3:5
(i) 7:9 (iv) 5:7

1 3T STer@ S: AW i G&Ieh] St ¥ 2010 TAT 2011 H S el Tkl hl JRIal

T-

< 90 -

c

@« 80 -
(%)
> 70 -
o
£ 60 -
£ 50 4

N

O 40 -

c

1304
& 1204
(o]
9 110
S 1004
[

o 30 A
20 -

10 —

- I B
- |
= v v e 1 P |
e e = 1 | 2011
0 English French BHOISEIS Sanskirt Germ Spanish
/- 2010

ST T ATeE oh SR R = 91 o I I -

ST, Tt e ST AT 1 ekl okl <Ml el o gE ferent (B9 H) ® ¢

() 250 (i) 310

(i) 435 (iv) 560

Tfrer o w1 S ol W g ferht den fe= s S ol § g€ ferht w1
ST 1 €2

() 10:11 (i) 8:11

(i) 11:10 (iv) 5:34
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3. a92010 H g2 el Tkl b1 faet (TR H) o1 d 1 22

(i 73 (i) 80
(i) 83 (v) 88
4. < ol | S AT Y YAShl i opel farsh! qe <A ol | HEHd WOl i
T 1 ol farent o1 STuTa =11 €2
() 2:3 (i) 3:5
(i) 7:9 (v) 5:7

Passage No. 7

Sound is a kind of energy and it needs a medium to travel as it is a kind of
longitudinal wave. The speed of sound in different medium is different.
Along with the nature of the medium temperature also affects the speed of
the sound. At 25°C speed of sound in some medium is given below :

1. Air — 346ml/s
2. Water (Distilled) — 1498 m/s
3.  Water (Sea) — 1531m/s
4. FlintGlass — 3980m/s
5. Steel — 5960m/s

Sound energy gets reflected through a suitable reflecting surface. An
echo is a reflected sound which is heard separately. The sensation of
sound persists in our brain for about 0.1sec. To hear the echo clearly at
22°C, the minimum distance between the source of sound and obstacle
should be 17.2 m as the speed of sound in air at that temperature is 344
m/s.

1. The speed of sound is more in sea water than in distilled water
atthe same temperature because of

() taste of seawater is different from distilled water
(i) density of seawater is more than distilled water
(i) seawater can conduct electricity

(iv) animals can survive in seawater.

2. Anechoisreturned in 3 sec. at 22°C in a hall. What will be the
distance of reflecting surface from the source.
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3.

(i) 1032m (i) 516m
(i) 258 m (iv) 344m
The speed of sound in space will be

(i) Om/s (i) 332m/s
(i) 596 m/s (iv) 1498 m/s

In the same medium the speed of sound
() increase withtemperature

(i) decreaseswithtemperature

(i) remains same

(iv) firstincrease thendecrease

tai ol o1 Wb &9 8 518 we o folt Wk H1ead o1 STavarehdl gidl €1 eaf a3
e Ul ) et Y =T fafa= el | fae-fae gidt @1 Jeay &1 geetd o
T A 9t LAt Y e bl GIfed hidl €1 o WieFHi § 250C W LAt i =e

e R H T R -
1. d9g - 346m/s
2. S (3AA) - 1498 ml/s
3. 5o (FED) - 1531m/s
4. == (fiede) - 3980mis
5. W - 5960m/s

e Sl Tk YR g W THY HL YT 1 Aifd gafdd gidt 81 ufaeaty wh
wWEfdd a7 8 S & gt st o e AR 2 euR ufask § eaft a1 Gag
TR 0.1 sec. T T W@l 8| T Yfaea G- oh T 7ot =afq qen wafa ga
T 0.1 sec. 1 994 TS ST AT A6 22°C AIHM R T Yiaeaf i g
o fIT 9id o Wekish §de o o9 i g0 %A 9 6 17.2 m B =T Safeh 39
AHM W&o i oy | =l 344 m/s B 2|

1.

Tk & AIHA T G STl § wafd Y =l g Sl @ Sfuss gt § it -
(i) T < 1 TR g o ¥ =1 gher 21
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(i) Tl STt o1 S STgd STt § eAfereh e 2|
(iii) e STt feega 1 Hemere 2
(iv) Tl Tt o sfa sfifed ® ded €
2. HE Ufqeaf 3 Hohve qvET GE <At §1 Tekie HaE T 9id & o i gl

E2IR Y
() 1032m (i) 516m
(i) 258 m (iv) 344m

3. ofaRer o saf+ =i =1t = g ?
i Om/s (i) 332m/s
(i) 596 m/s (iv) 1498m/s

4. T & HIEH H LA i =
(i) U A Eaaed @l (i) a9 o w2
(iii) = S_aE 7=l gl (iv) Tect 9t & R st 2

Passage No. 8

In everyday life, we see some objects at rest and others in motion. An
object may appear to be moving for one person and stationary for some
other. Most motions are complex. Some objects may move in a straight
line, others may take a circular path. The simplest type of motion is the
motion along a straight line. The shortest distance measured from the
initial to the final position of an object is known as the displacement.

If the object covers equal distance in equal intervals of time, itis said to be
in uniform motion. During uniform motion of an object along a straight line,
the velocity remainse constant with time. In this case, the change in
velocity of the object for any time interval is zero. However, in non-uniform
motion, velocity varies with time. Non-uniform motion is of two types —
uniform acceleration and non-uniform acceleration. If a car travelling
along a straight road increases its speed by unequal amount in equal
intervals of time, the car is said to be moving with non-uniform
acceleration whereas, if its speed increases or decreases by equal
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amount in equal interval of time, it is said to be moving with uniform
acceleration.

The table given below shows distance (in metres) travelled by three cars
A, B and C. Read this data carefully and answer the questions that follow :

Distance (in metres) covered by three cars

Time CarA CarB CarC
1st second 5 5 5
2nd second 5 10 8
3rd second 5 7 11
4th second 5 9 14
5th second 5 15 17
1. Whichofthe carsis moving with uniform motion?
O A (i) B
(i) C (iv) B&C

2. The car that covers the maximum and the minimum distance in
the 3rd second respectivelyis:

i) A&C (i) B&C
(i) C&A (iv) A&B

3. Which of the car is moving with uniform acceleration?
n A (i) B
(i) C (iv) B&C

4. Howmuchdistanceis covered by thecarBin5sec.?
@i 15m (i) 46m
(i) 25m (iv) 55m

ek Sftad & B0 o axal ) faudaTen § a1 o oRqel i TiHE sreren §
@ T TRt =afe o fore weh g% Tfaefiel weiid &1 "ehdt 2, Sfafe g & fag
feer| st it wifect Bt €1 2 a&qy eft @ |, 9 F9 a5 I9E 19 W
T B FWehel €1 T o1 Ferd WHROT YehR T 1@ i | o i ARk |
aiferm Teerfe oh el sl =gam S0 ol or%g 1 foeeno wed €|

&) T FHATAIA | GAM T T Hl € oA SHhT T i THEHH T hEd 2
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forelt % &1 THEHH W W T % SRE WA o Wi 9 e @ R 39
feeen ¥ ot oft graiaer o 9% o 97 o URedq 3 €1 F=f saHe fa o S5
GO o WY YREfdd eial €1 STEHH T & bR i Bl © - FHM R0 SN STEHE
7| IS T HR el g5 W Fed gT FHH FHAAUA | STHAM X 91 6l
IREfdd et €, T el Sl ¢ o R STEHM ©Rol o |12 a9 21 389 faodid,
TH T 1 o THM FHAe | THF &Y § Sl 1 9841 € ql 34 ThEHM o 9
AT gl ST 21

= <t T WROf fF FR A, B IR C gR T i E 3 = 21 R T et b

e Ifgq 3R e T e gt & SR <ifee -
I wR g T H T g (WX )
HHY A SN B %R C
1st 1dM 5 5 5
2nd 1dim 5 10 8
3rd 1diM 5 11
4th 1dM 5 14
5th 1dM 5 15 17
1. -G R THGHH T F 22
0 A (i) B
(i) C (v) B&C
2. R Yhve § erfushad SR a9 i 99 S drell R A T -
0 Avijc (i) BwkjC
(i) CVj A (iv) AVjB

3. THGHH ©R0 9§ Tor ool FRE -
0 A (i) B

(i) C (v) BVKjC
4, S5UFTESHFRBERN AR T AT -
() 15m (i) 46m
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(i) 25m (iv) 55m
Passage No. 9

There are two forms of mechanical energy in an object — kinetic energy
and potential energy. Kinetic energy is associated with an object’s motion,
while potential energy is the stored energy in an object as a result of its
vertical position i.e. height. The total amount of mechanical energy is the
sum of these two forms of energy. A group of students are studying the
relationship between the Potential Energy(PE), Kinetic Energy (KE) and
total mechanical energy (TME) for a cart rolling down and up on the incline
plane. The four different locations of the cart in (cm) are given below in fig
1 and energy values of the cartin fig 2. On the basis of these observations
answer the following questions.

150

Fig. 1 (Four locations of the cart)

Location KE.(J) | PE.(J) |TMEQ)
A 0.505 0.603 | 1.108
B 0.000 1.107 | 1.107
C 0.366 0.743 | 1.109
D 0.845 0.263 | 1.108

Fig. 2 (Energy values of cart (in Joule)

1. Atwhich position, the potential energy is minimum?
(i) 0.50m (i) 1.00m
@ii) 1.20m (iv) 1.45m
2. Which conclusion regarding the total mechanical energy (TME)
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ofthe cartis rightwith the data values?

(i) The TME increases as the cart rolls upward decreases as it
rulls down.

(i) The TME decreases as the cart rolls upward and increases as
itrolls down.

(i) The TME decreases as the cart rolls upward and decreases
asitrolls down.

(iv) The TME remains constant during the cart’s motion along the
incline plane.

3. During motionof cartfromlocationCtoD:
() Boththe K.E.andP.E.increases
(i) Boththe K.E.and P.E. decreases
(i) TheK.E.increases and P.E. decreases
(iv) TheK.E.decreasesandP.E. increases

4. For which of the following positions along the track does the
carthave the smallestK.E.?

() 30cm (i) 90cm
(i) 50cm (iv) 150cm

frdt a9 W el &l 7

oft ok T YRR B € - (1) TS it qen (2) Fearfas S| ot g o St 7ifa
o T FHfed ot o1 st Sl Fed €, i fndt o5 5] sHt feafa (=)
e forarg & qfad= o RO Gied S 6 fefas] ol shed 81 o%q o Sufer
el Itk Sl 1 AF Tt St o feafast Sl & @ & SRR g /1 s %
T IE - T 2l ol TMd ad W SR TF A= i 3R T HIA T TSt S,
Terfast Ss1l @ A1k ol o TR G 1 3L = YRR Fhamehard o6 ST{aR

g B

Sieht i fafe= = fafsa feafat ot fom-1 o <erten 7o @ qen et § =1 o1 o=
foe-2 o wef¥fa 21 fretifend oTihsi o SeR W 99 o Sw <o -

ICES!
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feerfa KE.(J) | PE.Q) [TMEQ)
A 0.505 0.603 | 1.108
B 0.000 1.107 | 1.107
C 0.366 0.743 | 1.109
D 0.845 0.263 | 1.108

faa-2 (2feft & 3t o6 A7M)
1. e fef & = fefs st 22
() 0.50m (i) 1.00m
(i) 1.20m (v) 1.45m
2. el o oot AR Sl o Wi o AR 1 Sfea frehd ot €2

() 2fel o1 Mad a9 & Weh 181 1 fae 9 W@ e e Se gdt
@ e 2feft o = Y IR A T W ped Ak Sl Tt |

(i) el 31 Tdd @9 & Wb 131 [ fae 9 W Hed s Site =dt
& Qe 2ielt % = Y SR R HE W et T T 9@t 2

(iii) Zfeft & 3TFd T W A o1 SR HT AR T4 L T FHA AAH el
T B

(iv) el & 3THd 9 W e 91 SR Hi AR A wH | gt Rafaai
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el ATk S o1 | STqHEfid el 2|
3. 2felt oY T o SR feafa C 9 D W -
() s o feafast it <A g 2|
(i) et & Teerfast St g1 et €1
(iii) et St wgdt € qen fefast ot wed 21
(iv) et St wredt @ qon feorfast st sl 21

4. WA 1 TR o <A o feerfa W gielt § KLE. =gaw et €2

(i) 30cm (i) 90cm
(i) 50cm (iv) 150cm
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Answer Key

Passage 1

1. (i) 500

2. () 150

3. (i) 600

4. (i) 50
Passage 2

1. (iv) 3.98%
2. (i) 3.34%
3. (i) 47%
4. (i) 66%
Passage 3

1. () 11/15
2. (i) 13/24
3. (i) 11/40
4. (i) 3/8
Passage 4

1. (i) (1,3)
2. (i) (-1,-3)
3. () (3,1
4. (iv) (3,-1)
Passage 5

1. (i) 5

2. (i) 7

3. (i) 10

4. (i) 11
Passage 6

1. (iv) 560

2. () 1011
3. (i) 80

4. (i) 7:9
Passage 7

1. (ii) Density of seawateris more than distilled water
2. (i) 516m
3. (1) Om/s
4. () Increase withtemperature
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Passage 8

1. () A

2. (i) C&A

3. (i) C

4. (i) 46metre
Passage9

1. () 0.50m

2. (iv) The TME remains constant during the cart’'s motion along the
incline plane.

(i) TheK.E.increases and P.E. decreases

(iv) 150cm.

B w
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CLASS-IX [PSA]
QUALITATIVE — STAND ALONE MCQ'S

ForQ.1t0Q.5-

Consider the relationships and select the selected word from the
given alternatives.

Y91 9 5 oh faw —

ST Q. forenedl # 9 Hafid wes 9T —

Q.1 Time periodisto second as frequencyisto............... .
(&) metre (b) hertz
(c) joule (d) decibel
g9 o T S Yenvs o STl o T ...
(a) X (b) &S
(c) N (d) <fasa

Q.2 Earthwormistoannelidaas spideristo.................... .
(a) Platyhelminthes (b) Vertebrata
(c) Arthropoda (d) Porifera
S oh T SiE TfHTereT a9 Henel o T oo
(a) wiEReiHAedE (b) HEERT
(c) sTefarer (d) iR

Q.3 Lionistoprideasshipisto.............. .
(a) Platoon (b) Port
(c) Herd (d) Fleet
IR 1 Y S BT R, T TR B oo eI 2l
(a) W3R (b) SR
(€ ¥ (d) et

Q.4 Voteristo 18years as Lok Sabha Memberisto............... :
(a) 35years (b) 25years
(c) 18years (d) 30years
S HagTdl o Tou 18 a9 oF TR aH T o TT oo,
(@) 3594 (b) 25 9d
(c) 187 (d) 30ad
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Q.5

Q.6

Q.7

Q.8

Ploughisto farmeras hammeristo .................... .

(a) Tailor (b) Blacksmith
(c) Painter (d) Gardener
S Tt fRa o foTT @ BT v o et
(@) =it (b) TR
(c) dX (d) wreft

Mansi is facing west. She turns 45° in the anticlockwise direction
and then 180° in the clockwise direction, which direction is she
facing now?

(@) North (b) North East

(c) East (d) South East

AqFE 9fyem w5 SR @ ik el 2| 98 Sl w1 gE k1 fauda fxen
H 450 o 3Tk 1% TS HT GE w1 I F 1800 FHA T ST G
g e & 21

(@) IW (b) ST-TH

(©) T (d) feqor-gel

Mahima lives in Vishakapatnam in a sea facing house. While
going to her friends house, she turns to right. After moving 70m in
that direction, she again turns to her right, which direction is she
facing now?

(@) North (b) West

(c) East (d) South

Hfew faemareTd o @l 21 SHehT =X T9% 1 3R &1 3794 sl o )
ST THT 9 e I8 IR YT 70 WeR HI 3 SR 77 FH ok 9% 98
T TE AR S| 37 ST g fory fewn ¥ @2

(@ 3™ (b) ufT=m
© (d) =fam
Which letter comes next in the series of letter?
BACBDCEDF........ .

(@ C (b) D

(c) E (d F
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Q.9

Q.10

Q.11

S

T g@et § ST vl &1 S|

BACBDCEDF........ :
(@ C (b) D
(c) E (d) F
The number that will continue the serieswillbe 1,4,9,16,25....... .
(@) 36 (b) 32
(c) 20 (d) 48
1,4,9,16,25 @l i G0 6T i faehed € :
(@) 36 (b) 32
(c) 20 (d) 48
Choose the correct alternative :
4:64 0 7, .
(@) 343 (b) 49
(c) 283 (d) 67
et fased gHT :
() 343 (b) 49
(c) 283 (d) 67
Direction : Arrange the following words in alogical and meaningful
order:
(1) Country (2) Furniture
(3) Forest (4) Wood
(5) Trees.
@ 1,3,5,4,2 (b) 1,4,3,2,5
(c) 5,2,3,4,1 (d) 2,4,3,1,5
Freafafaa eTes] vt Tehqul aen s1efqul oy H afeer |
(1) 2w (2) R
(3) ST (4) @ (5) U
(1) 1,3,5,4,2 (2) 1,4,3,2,5
(3) 5,2,3,4,1 (3) 2,4,3,1,5
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Q.12 (1) Travel
(3) Payment
(5) Reservation

(c) 5,3,4,1,6,2
(1) 3

(3)

(5) R

@ 6,2,5,4,3,1
() 5.3,4,1,6,2

Q.13t016:

(2) Destination
(4) Berth/Seat number

(6) Availability of birth/
Seatforreservation

(d) 1,2,5,4,3,6

(2) A

(4) Hie qaX

(6) YT /3R dlelt Hie
(b) 2,6,3,5,4,1

d) 1,2,5,4,3,6

Choose the correct choice representing the Venn diagram

Q.13 (a) Asia,India, SriLanka
(b) Kitchen, Refrigerator, Bed
(c) Classroom, Table, Fountain
(d) Toilet, Truck, Bucket.

T 139 16 :

el fosheu g (39 3@ g1
(a) TRTET, 9Rd, dicieht
(c) el UF, B

(b) @R, s, Tei

(d) IT=Te™, TH, el
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Q.14

(@)
(€)

(@)
(€)

Q.15

(@

(€)

(@)
()

book, pencil, pen Q (b) car, steering, wheel

garden, grass, flower (d) table, wood, iron-nails.

OO
O

fopamar, dfae, T (b) &R, LA, =
=, =, el (d) BF, THE, Hicd
mango, grass, salt (b) hen,dog, cat

river, well, pond llliterate people,

unemployed, poor people.

(d)
(b)

T, 3, reE (d) 3TUG 1, SRR, TR
i |
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Q.16

©

(a) forest,den,lion (b) seed, leaf, root
(c) man,typist, pen (d) sun, pluto, earth
(a) ST, T, TR (b) T, o, ST

(c) emeHt, TRf, 4 (d) g, <, uelt

Q.17 Geetaintroduces Mr. Mohan to her husband and said that father of
his brother is the only son of her grandfather. How is Geeta related

to Mr. Mohan.
(@) Mother (b) Aunt
(c) Sister (d) Niece

T = 3799 9fd © T 1 IR Hd g hel, ' 3Heh 918 o far |
TS o gehetld O3 €1 it b1 Hiee | a1 figar €2

(a) Hra (b) =t

(c) = (d) TSt

Q.18 Introducing Asha to guests, Bhaskar said, “Her father is the only
son of my father.” How is Asharelated to Bhaskar?
(a) daughter (b) mother
(c) Sister (d) Niece
AR A AT sl oTen o aRfea i g e, ' 39 faar | faar
1 SOl ST 2, ST 1 AIEhT § R g 22
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(a) e (b) T
(c) <r&d (d) st
Q.19-22

Find the odd one out:
3T fashed =1 g

Q.19 (a) Finance (b) Health
(c) Mining (d) Education
(a) fora (b) TEmEeH
(c) ST (d) foem
Q.20 (a) RiverBeas (b) RiverSutlej
(c) RiverRavi (d) RiverKaveri
(a) =mE T (b) TSt T
(c) W&ty (d) e TS
Q.21 (a) Driver (b) Pilot
(c) Passenger (d) Sailor
(a) <TeTh (OBEEEEINED
(c) =mit (d) feeh
Q.22 (a) Litre (b) Quintal
(c) Ton (d) Kilogram
(a) e (b) ferice
() = (d) foeum
Q.23-24  Choose the appropriate answer :
3fa foseg g -
Q.23 9 4 25
25 16 81 64 64@144
36 49 36
(@ 19 (b) 23
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) 24 (d) 31
Q.24
(a)
() 1 (d) 2
Q.25-28

Which answer figure will complete the patternin the question?

i~ STR ST T SATpTd o U i g HM?

Q25
X X X X X X
X X 4 >
X X X X X X u
X X X X X X
X X X X X
X
X X X X X
A B C D
26.
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:|IZIOO|:|IZI IZIO|:| O|:|IZI ?

(a) (b)
ool Il

(c) |:| (d) |:|
1] (@)

27.

(a) (b) (€) (d)
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28.

N
/N [

7| P
VALY

?

%
ey

v
Y

.

29. How many triangles are there in the given figure.

<—T—>
{

a C

few e fot o fopa foreger €72
(@ 5 (b) 6
(c) 8 (d) 10
30.  Which of the following is of least importance to perform better in
studies:

(a) hardwork and determination

(b) goodteachers and good school

(c) good quality stationery

(d) supporting parents and friends

firen o oo yeel & foru frer o © 9aQ %o sevgs =R

(a) WHedd, o @ik 3¢ frv=a
(b) 3T=8 e SR 7= forame™
(c) TWIFL i I=4 UTeI

(d) =78 Hrar-far w3
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31.

32.

33.

34.

35.

Ifyou rearrange the letters CIFAIPC, you would have the name of :
(a) City (b) Animal
(c) Ocean (d) River
I 901 CIFAIPC ol G1: Safeed & R | ° ford o1 3580 fHeran

2l

(a) =X (b) IR

(c) HETENR (d) =<t
IfPEACHIisto HCAEPthen42651isto................. )
(a) 25641 (b) 15264

(c) 16254 (d) 15624

g e A1 § PEACH i1 HCAEP fer@n < € ot ¢t o & 42651
=1 == feran S|

(a) 25641 (b) 15264

(c) 16254 (d) 15624

Marry is sixteen years old Marry is four times older than her

brother. How old will Mary be when she is twice as old as her
brother.............. :

(@ 20 (b) 24

(c) 26 (d) 28

T 16 a9 H1 1 98 AU 9E W 4 1 91 | 5 I8 310 A @ T
SHR T BN al B BT ST o e

(@ 20 (b) 24

(c) 26 (d) 28

Xylem : ? :: Transport of water : Transport of food.
(a) Parenchyma (b) Phloem

(c) Collenchyma (d) Sclerenehyma
SEAH ;2 ::UHT BT Haed ;WIS o1 HaeA|

(a) W= (b) elTH

(C) hictrEm (d) TRRAHE

Each of the three brothers has a sister. How many are they all
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36.

37.

38.

together?

(@ 3 (b) 4

(c) 6 (d) 9

AT A | Tk 1 ek 8 © o W ohed feha 872
(@ 3 (b) 4

(c) 6 d) 9
Choose the correct option :

el fasheq g -

If Train — Rail = 22

Then Trouble —problem =7

(@ 22 (b) 12

(c) 32 (d) zero

If QUESTION is written as 26309741 and VOTER is written as
84935 then what word is written as 5326309.

(@) Revolts (b) Request

(c) Regards (d) Require

Ife  QUESTION i 26309741 T Sn & 3 VOTER 1 84935

foran S ® @ 5326309 o foTT shi=-H1 313 S B

(a) Revolts (b) Request

(c) Regards (d) Require

In a certain code language ANT is written as BOU, How will
ZEBRADbe written in the code language?

() AFCSB (b) BGDTC

(c) BGTDC (d) AFBCS

g ferelt she 9 § ANT =i BOU foran mar 8, at <&t ehe oo o

ZEBRA®! o9 forar sram?
(@) AFCSB (b) BGDTC
(©) BGTDC (d) AFBCS

In question no. 39to 40, arrange the following in the increasing order
and choose the correct option to match your answer correctly.

frfafed a7 RS 0 ° (B 9 981) ¥ Fafked & o fau gt fasey
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1 g :
39. 1.
2.
3.
4.
5.
40. 1.
2.
3.
4,

Weekly

Daily

Monthly
Fortnightly
Yearly
@1,2,3,4,5
(b)2,1,4,3,5
Meghalaya
Madhya Pradesh
Goa
Rajasthan
(@3,1,2,4
(0)1,3,2,4

ok wbdpE

PowbdE

SIS RED
HEED

s

TrfareR

EllcED

(@) 2,1,3,4,5
(b) 2,1,3,5,4
et

T Y9

man

TeTE

() 3,1,4,2
(b) 1,2,3,4
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CLASS-IX [PSA]
QUALITATIVE — STAND ALONE MCQ'S
ANSWERS KEY

1. (b) 2. (¢
3. (d) 4. (b)
5. (b) 6. (b)
7. (b) 8. (c)
9. (@) 10. (a)
11. (@) 12. (b)
13. (@) 14. (a)
15.  (d) 16. (a)
17. (c) 18. (a)
19. (o) 20. (d)
21. (c) 22. (a)
23.  (d) 24. (d)
25.  (b) 26. (d)
27.  (d) 28. (a)
29. (c) 30. (c¢)
31. (c) 32. (d)
33. (b 34. (b)
35. (c) 36. (b)
37. (b 38. (a)
39. (© 40. (a)
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QUALITATIVE
Passage Based MCQ
Passage No. 1

Disability refers to any kind of physical or mental incapacity that limits a
person’s ability to work. Yet it is seldom that we have thanked God for the
gift of Good health and well being. The smallest actions like seeing the
sunrise, brushing our teeth, popping peanuts into your mouth come so
naturally and effortlessly, and Yet we are never satisfied, always
discontented. It is not so for the disabled. For them it requires immense
concentration, effort, will power, energy and a lot of time. Despite this, it
could be along way of perfection.

It takes great courage and determination to cope with disability.Give them
encouragement, facilities and resources, and then watch them as they
learn, earn, play, work and even start their families.

Very often we find that a person lacking in one faculty is gifted in some
other way. That’s nature’s way of maintaining balance. Some of the most
beautiful greeting cards are made by disabled children, using one hand,
one foot or even mouth. Nothing stops them from using their talent,
intelligence and their knowledge.

1. Tocopeupwithdisability one needslotsof.................
(a) Courage
(b) Determination
(c) Courage anddetermination

(d) Effort

2. Pityand sympathy can make them loose.
(&) Confidence (b) Will power
(c) Determination (d) Ability

3. Ifweare sensitive to their needs and problems we will.
(a) learnto cope better (b) admire ability

(c) enhanceourlives (d) Allofthe above
4. A person lacking in one faculty is gifted in some other way.
That’s how nature................

(@) Maintainsimbalance

(b) Maintains balance

(c) Helpsthem cope with disability
(d) Helpsthemto betough
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5. An agency promoting greeting cards made by specially gifted

childrenis................
(@ WTO (b) IMF
(c) UNICEF (d) WHO

6. WeshouldthankGodfor................
(a) Beingabletodo easiestoftasks
(b) Being able to enjoy benefits of nature
(c) Beingablewalk and talk
(d) Allthe above

srquefar fendht =afer o e grare ® SR steran wHfas a8 fee of &1
3o TR 9 O Trguidl o feau e w1 oarg wefi-aheft € e € wfafe
& BR-BR FE T - AR ITAT, @ T BT, T =G MR et 9
3T FIE W Hd d 7, R oft 79 9 e ©, g srame st o forg e
e et B S W ToIu oigq A A, ST, SeSIieRT, Sl qul At qHA
1 METTR Bl T Sk Sl S W &l o fay srefees fqomar =
AT B 2

SEHA T A HTH o Toq EE o 35 9= &1 eavaehal gl 81 37ep ufd
TRy Aeelictd Thid o3 RIS Tavashdlalial N fSAedis 4 Teeh & ok
STt 1 TXet ST ST Fehel 2|

SToh Wi <1 272re SRt Fe@T Sk faward =1 feen €1 3= fera, gfaumd 9 g
TR HE q1 3@ foh o Wi, A, B, S Y qe ST IRaTes S 3TRY
Eal

I @ 5 € R U &9 o frse safw e g e o syt e @1 9% wepfa
1 Hder 81 3@ T © o gawan MiEn e sramed arerhl oh gRI Sk 310 U
T, T W Iel d% J@ 1 JINT H{eh AT T & S 79 Arvrar, Fqorr 9 9
Yehe T H IS T Uk Hehall|

1. STEHEA Sl qehraell Hid o forg sped 8-

(a) wrE™ (b) 3 ==
(C) dreYd e = (d) =

2. <A1 SR P HHIN HY Fehol © -
(a) fovemd (b) z=s1wfem
(c) frofa wfem (d) A
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3. 9% g9 eremef sfeal i sl 3 sfereal o gfa Hageiiet i af g9 -
(a) o= et sHT
(b) 3T AT F g HA
(C) oM ok fd | =T < <]
(d) ST gt
4. U & o fuzel e TR & o ool gtar € aifen -
(a) Eed o R®I
(b) wgeH @I
(C) oTHmeldl o | WHSE LA L H TeTIew o & |
(d) wfereal 9 M o wers o ©|
5. Torer Fivgar ure a=at g o W e i Giedre S ol Teen @ -
(a) WTO (b) IMF
(c) UNICEF (d) WHO
6. TH AN Sl YA Al A16T Flh -
(@) M HE B AT TIE B oh HRUT
(b) Yohfd o SREH &1 AT T oh HRUT
(C) dieH & I i HeIdl o HRT
(d) ST gt

Passage No. 2

Once a man saw three masons who along with some labourers were
constructing a temple. He observed the masons for some days and found
that though the three of them were doing the same kind of work, there was
amarked difference in their approach to their job.

He saw that the first mason reported for his work late, did his work half-
heartedly and sluggishly enjoyed longer respite, frequently checked the
time on his wrist-watch and left the work before time.

The second mason was very punctual in arriving and leaving, and did his
work methodically and conscientiously. The third mason,however, would
come before time, took little rest in the interval and often worked over-
time.

The man naturally got curious and wanted to know the three masons’
outlook towards their work. He asked them what they were doing. The first
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mason tapped his protruding belly with his hand and said, | am earning
fuel for this belly”. The second said. " | am constructing a building." The
third looked at the stately edifice and said. "I am building the house of
God".

1.

The firstmason’s approach toworkwas thatof.................
(@) Earnlivelihood (b) Justtospendtime

(c) Earnonly money (d) Wastetime

The second masonwas.................. in hisapproach.

(@) Structured (b) Professional

(c) Unmethodical (d) Punctual

The third mason approached his work with.

(@) Zest (b) Skill

(c) Duty (d) Dedication
Thefirstmasonwas....................

(a) Lazy (b) Sick

(c) Hard-working (d) Active

The Phrase ‘work isworship’can be associated with ................
(@) Firstmason (b) Second mason

(c) Third mason (d) Allofthe above

The writer of the above passage is trying to tell the readers that

(a) Allworkandno play is healthy

(b) Allplay and nowork is healthy

(c) Enjoydoing work with commitment
(d) Allof theabove

T IR T AfK A 3@ fh 07 Redt 2 gfthl o @ |l 9o o6 w0 d |5
qa 91 Fs T o Fieon o a8 38 ova foran fop 39 frfewai o1 & @&
ST & T S7RT T o fd gfieenior i @1 3eH egwd fohen fon v foredt e
TS W Y Sl G T4 hT ol SEH A1d o & W Hdl 1 96 3Hh aR
e g ok T IR oft A o 9 IR-9R 3T Sl H YHF <@l @l ol 9%
3T T o THT 9 Yec! BIgh Fell Sl ol

TEU RTedt 3T HRed W §HT | S o 999 W E Fell Sl of 99 379+ Sk
! HHAS Top T T G HIT ol

T foredt o7o e W 909 | 9 STl o, % oF o= 4 o §8d o fag
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3T Al & YT T X ek hdl Bl ATl

3 =fed = T w9 9 gyl giewt 3 fofeaat w5t s o ufd gfewm
I WA o faT 379 g7 fF o 991 9 @ §2 Tt fIedt 7 319 U2 i ¥ead g
el for - ‘gt U2 1 Harer 21 g foredt 3 wer - H war &1 fwior @
TR foredt 3 3T 9o 3ARA ! ITd gC Fel - ¢ HOaH o 3 H1 i w1 @

gl
1. v et o1 & ufa gfesion ..., o
(a) ifoert IuTsA (b) =3 =
(C) ¥ 3usiH (d) w9 9= &
2. IR Toredt &1 e oF T 3RRIT ..o o
(a) chHag 9 Haferd (b) =mEwtas
(C) srHafed (d) wwIeg
3. R foredt 1 % | w1 WuRd % Ui gfteshin R on?
(a) <99 3ERE ¥ (b) Fvca@d
(C) HHARIUC T (d) wwduw 9@
4, IRl R e ol
(a) g (b) =imw
(c) ufst (d) 9=
5. ‘o € g 21 I St forg faredt S el | O @rdt 22
(a) ugen foredt (b) TEw feredt
(c) drau foredt (d) =t feredt
6. ST T hT T T 22
(a) ¥ %M, & 3H (b) == 3™, & w

(c) s yfaTEgduaE  (d) S99

Passage No. 3
Read the following passage and answer the questions that follow :
There was a little boy called Varun who did not have any friends and
nobody liked to play with him. His teachers also did not love him much and
his parents were unhappy with him. Do you know, why? It was because he
was very short tempered and used to argue, use abusive language and
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getinto fights with everyone.

One day, his mother gave him a board and some drawing pins. She told
him that everytime he lost his temper and abused or fought with anyone,
he was to go to his room and put a pin on the board. At the end of the
month, his mother suggested that both of them check the board. The
board was now full of pins. Varun’s mother asked him, “Can you remove
these pins?” He did so. His mother told him gently, “See how many holes
you have made on the board by sticking the pins. Each hole on the board
represents someone you have hurt. You have made many holes in their
hearts by your behaviour. Do you think you can repair all the hurt you have
caused to so many people?”

Varun realised how much damage he had done to his friends, family and
teachers, evento strangers and he resolved to change himself.

1. Whichbehavioural problem was not annoying to his parents?

(a) Losinghistemper (b) Abusive

(c) Anger (d) Laziness
2.  Whatdideach hole on the board represent?

(a) Happiness (b) Depression

(c) Hurtfeelings (d) Belongingness
3. Howcananger be controlled?

(a) Byfighting (b) Byabusing

(c) Bydeep breathing (d) Bysleeping
4. Thesuitabletitle for this passageis...................

(&) AngryVarun (b) Disciplined Varun

(c) Happy Varun (d) Anger Management
5.  Whatmessage does this paragraph give?

(@) We should be angry with everyone.

(b) Anger affects our relationships.

(c) Angerhasonlyill-effects.

(d) Angerisanatural reaction.

6. What is the approach towards feelings or emotions in this
paragraph?
(a) Positive approach (b) Negative approach
(c) Indifferentapproach  (d) Destructive approach

freafafad s=ss =t ufgw qen f5u e ge=i & 3 S -
e DIl TSl o TSTeRt =19 o501 o1l STeh g (e el & X hiE off 9eh @1y
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Wl & TEdl o1l TR SAAMET 3T e @R TR et of 3R 3weh
AT Toar 36 AR Wd &1 T qH T 1, T F1? I 3HAe Fiifeh 98 I

SISt o7 ST ST © Sed T, Meft <l 37} eISTE Hiel il o]

T & STH! | 7 3Y TF 9 IR Fw g 7 fRu) 5= et i v o 59 e
3T, 38 et ] o1 fhdlt @ o2 df a8 o7 IR | S a1 o a+ft s fi & ]
TEH o MER o ITHT | A o€ i ST HT Fog <1 90 i i\ T o9 o 5%
1A = @1, o gE 3 o g weRd 712" 3% e feRam

TEU T A 7 W Fegdd gug, 3@, g i ament o W fara 3% # fRw

g 3T SRR 9 o o el | o fore € 8% e 53 #) | Ie ga Sl
FL Heha 812"

LU h! TEHE g3 o U <, URaR ot steanfuented SR oS oAl i
aTEd fehan 21 379 ST TR ! a<eH i oF o

1.

E] o TS T hI-H THE W ST /i1 fordl e 72 9472

(@) gTRfeISit (b) el &
(C) = (d) gt

TS T Y&k B T ol wfyid shtar €2

(a) wgei (b) frrem

(C) oT&d e (d) A=
iy i oy Frfs foman < Hehar 22

(a) TEE HTeh (b) eht 3w
(C) TR g WhT (d) @t

TH STTEIS H1 U T & -

(a) whIfad oo (b) renfaa =
(C) Y& =0 (d) e w fas
39 I8 9 e w figeran € T -

(a) ¥ T A A1

(b) T BuR wewi i gererd s B
(C) T % oherel SHHTE €1 Bl 2
(d) T U ki fman 2l
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6. 39 eIR | fopd st shi SR feRan T @ -
(a) YHIHS = (b) TorcHS 9=
(C) STEFIN (d) fommert a@=

Passage No. 4
Read the following passage and answer the questions that follow :

What is soil?

Solil is the loose top layer of Earth’s surface. Plants, depend on soil. It
holds them up. It provides them with food and water.

Soil is made of particles. These very small pieces mostly come from rocks
broken down by weathering. Other soil particles come from rotting
remains of plants and animals. The part of soil that comes from living
things is called organic matter.

Many small organisms live in soil. They include worms, bacteria and
fungi. Fungi are like plants, but they aren’'t green. And they have no
leaves, flowers or roots. The organisms feed on dead plants and animals.
They cause them to decay or break down. The decayed plant and animal
matter is called humus. Humus makes the soil dark. It provides the
nutrients, plants need to grow.

Soil develops in layers. The top layer consists mostly of humus. Itis called
topsoil. The next layer down is called subsoil. Subsoil contains more rock
particles than topsoil and less humus. It is not as good for growing plants.
The layer below the subsoil has many pieces of rocks. The pieces get
bigger when they are deeper in the ground. Most plants cannot grow in
this rocky layer. The soil layers all rest on solid rock. It is called bedrock.
There are many types of soil. Soil can be of many colours. They can also
have different textures. Texture is the size of the particles that make up
soil.

Clay is a type of soil with many small particles. The particles are packed
together tightly. Clay can hold a lot of water, which makes it heavy and
sticky. Sand has much larger particles than clay. It feels rough. There’s a
lot of air space between the particles, so water drains through this soil
easily.

Loam contains a mix of sand and clay. Loam is the best soil for growing
plants. It lets just the right amount of water pass through for plant roots to
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takein.
1. Name the material which provides nutrients for the formation of
plant’s body?

(@) Humus (b) Topsoll
(c) Subsaoll (d) Rockbed
2. Which organism doesnot help the dead plants and animals to
decay?
(a) Bacteria (b) Fungi
(c) Algae (d) Worms
3.  What is the most important factor that help in the formation of
soil?
(a) Lightning (b) Sunlight
(c) Windcurrents (d) Thundering
4.  Where do we find microorganism which help in the formation of
humus?
(@) Topsall (b) Subsaoll
(c) Rocks (d) Rockbed

5.  Why canclay hold lots of water?
(@) Itsparticle size is very small.
(b) Its particles have more soaking capacity.
(c) Humusis presentinthe clay.
(d) Lotsofairspaceis present between the particles.
6. Which soil allows the high amount of water to pass through for
the plantroots?

(a) Blacksall (b) Loamy soil
(c) Sandy soil (d) Clay
frefafaa sr=eg i ufer qen fiu 7o e & S S -
e w1 2?2

Yeal 1 TSI T G&1 81 0 gE1 W R g €1 98 3% e W@l ® 3R S5
o SR ST FH HL 2

T FIT F o It 71 A HEH RO HGH gt @ T2 o 2eH-hed ¥ 9 g
T A 31T o Ug-Urelf 3R SRl oF We-TTel STai o eid § | §1 1 A€ AT S
Tfidli o STarel § 9re el 8, 39 S el shed €
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TR-BIE HE TS9G| W &1 T FHfA, IR IR wh W e i §
AR S7RT T &0 T Fia ok et ufdl, Bt iR Wi oft T g o ey S
Ta Sftal S del | 79 SROToT R &1 A SHary] € Sk FeA-TTer 1 RO
T 81 SRl SR Ug-Uiel o 59 WS-l W (STE9l) whi g HEd &1 ghd
T ! el (dark) ST € 3R T diveh avd W& il € frent dielf i gfig o
AT sTTavershdr g 21

T wial o foshfaa gt 81 39! Tod S W | gAg I W #, 3 Sud g
ed €1 THY e SFTell Wd i SUHS Hhed €1 THH I G 1 qa § 9 &0l
Afereh TR THH T A1 ST 8 SHAT e Weff o 3T oh foIw Sat er=edt =i =il

T4 SR o A9 9ol FON KT G0 SR ot stfrs @ St ® SR gfn § mewE &
T~ T HUI HT SRR ST BT ST & | 39 Yefid TR A1 T2 WA § STrehir
T T T/

Tk Y 3 T WA ® N W W # g W feat it 1 39 3R v
ed &1 J81 H I ST o1el 9ol 0T 39 3TTUR 9 9 € 31 2

a1 2 YHR H1 et 31 T8 S T K1 81 Hehell T1 3 ST deall a1 Skl 9
firetent o1 Bt B 1 1 Faior 6 oTel 37 SI2ehi o UMl oh1 TR STET- 3T Bl
21 Foerft gl (ed) 9=1 1 Tk UH YR ® S o o5 7EH e ®1 3 %O
Toh-TWR ! Al T STk W@ &1 30 et § 9at 7801 w1 1 a7 ik et
2 il 58 9 e ferafern e 2

et firedt o o1 Fareneit fired) o ol @ o IR G BRI &1 57 0l o i shToht @redl
SHTE Bl € THeTT Siel 3 THedt 6 9 STt § yefed g fiehet ST 81

e faedt ® W IR foehet faed) <1 o o wnfee B 81 I Ui ok fore saw
Bl €1 I8 Uil o T STe 1 SR WIS i Wiell i SISl qeh Yented e <l
THRT ST TEUT &I Urell o1 STEYIharTaR erdl € S 3% 5el i e <t 2|

1. 39 vered o1 8 T S arel ol qiveh ded TR il €2

(a) =HE (b) swig=
(C) S (d) MR

2. HE-E e Yg- e 3R Sia-Siqeti o Tegd-TeH | Herd Tl 22
(a) s=Rifen (b) wi=
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(c) v (d) =fa

3. o i o gaffus gecyel g wRe 8?2
(a) dfedsan (b) 4w
(c) arg ¥R (d) T

4. goa fmi ¥ TemEe ga Sfe el o S €2
(a) 90w (b) Iwg=r
(C) =reeH (d) ¥R ¥

5. Tow faedt ° a1 U801 i i &Han SAfue =i st g S\
(a) <hUll o 3R T DI S
(b) U =Y TR &7 I B
(c) famt faedt o gw =1 g
(d) il o == @reft ST 1 g
6. Tore wehR 1 T Uil sht STei o forq sHieht | | Sl weifed e 3eft €2
(a) e faed (b) <we fad
(C) et fieet (d) foert fredt

Passage No. 5

Read the following passage and answer the questions that follow :
Some animals in a forest decided to start a school. The students included
a bird, a squirrel, a fish, a dog, a rabbit and a mentally retarded eel. A
board was formed to determine the curriculum and it was decided that
flying, tree climbing, swimming and burrowing would give a broad-based
education. Allanimals were required to take all subjects.

The bird was excellent at flying and was getting A's but when it came to
burrowing, it kept breaking its break and wings and started failing. Pretty
soon, it started making C’s in flying and, of course, in tree climbing and
swimming it was getting F’s. The squirrel was great at tree climbing, but
was failing in swimming. The fish was the best swimmer but couldn’t get
out of the water and thus got F’s in everything else. The dog didn’t join the
school, stopped paying taxes, and kept fighting with the administration to
include barking as part of the curriculum. The rabbit got A’'s in burrowing
but tree climbing was a real problem. It kept falling and landing on its
head, suffered brain damage, and soon couldn’t even burrow properly
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and got C’sinthattoo.

The mentally retarded eel, who did everything half as well, became the
valedictorian of the class. The board was happy because everybody was
getting a broad-based education.

A true broad-based education prepares students for life, without losing
their areas of specialization and competence.

1.

Which of the following competition was not organized by the

school board?

(@) Flying competition (b) Tree-climbing competition

(c) Running (d) Swimming competition

Mentally retarded eel became the valedictorian of the class

because.........ccccccc,

(@) shedid everything half heartedly.

(b) she showed better performance in all other fields without losing
her own area of specialization.

(c) shewasobedientdue to mental retardedness.

(d) theschool boardwas happy with her.

Ontoday’s education system, this paragraph ..........................

(a) isasatire.

(b) isan effortto show the conditions of education system.

(c) isan efforttounderstand the problems.

(d) showstheimportance of broad-based education.

Whatis a’broad-based education’?

(a) Students should prepare for life without losing their areas of
specialisation and competence.

(b) We are all gifted with some strengrhs so we should get
specialization only in that field.

(c) Thesyllabusis prepared specially for the mentally retarded.

(d) Itisameanto make school board happy.

Whatis the suitable title for the paragraph?

(a) Broad-based education system

(b) Panchayatofanimals

(c) Schoolinajungle

(d) Importance of broad-based education

The dog denied to pay thetaxbecause..........ccccoeeeeeeeee

(a) hewasselfish
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(b) hewantedtojointhe school board

(c) hewantedto learn the skills of others

(d) hewanted to make the syllabus more broad-based by including
barking in the syllabus

Freafafaa =g 1 ufgu aen fKu e ye=t & 3w e -
D e A ST | Tohed & I okl HEel forn ed o wiHd 9 - T g,
T TDelt, T Tafean, T e, wh fod iR &9 fKan oeft T o (W9 &t
TE T HIell) | T SIS o=@ T TggEt e <9 o @t ° S 3 e fha
% Tpel ® S, U8 R =g, I IR s o foat amm =1 foren facieg o wnfga
BT difen wft sh1 agqe foren <t <1 weh iR Gt SHeri & forg weft o arervaen
o fafean SeM v o al B 31 W 5 Toel FM &1 a1d o7 di o8 79 =i 37
v@ digdt W iR et W Sedt & 9@ 224 *1 g § fafgan sea o off Aema
@, 9t Ug W =g 3R O 3T faw X Y 1 o) fireted U W =g § v
T R A § el W Telt et | o B W <R o7 I o 9l T o7 Hehdt
off THfeTT ST & <t | et 81 T | et A Thel § e g1 TEl fern iR o 3
o< o fean SR e i Tacts o wfirer swam ok fog Seswe o sre @ foa
Wit H GOy wR @, Afer Ug W ae 3Tk fou gfveha o1l U W =g &l
FHIeTeT o A I8 FR o oot iRl @1 @ik 38k R o Saiega =i o fomant
T8 H Seal 1 o8 fofel @igd | i Arepmare g el
fEAmTt IR R HESIR ot 3 o T i SA-TR & W FoRan 9 Ao o § e
3TE | Thl 1 I o8E G oI Hiifeh 9l R agaa! e o @ o
WRETE o A0 W Glaat SR Hifaferad i @ie iR e o oy dar e wE@l
e o g e
1. Tpd ae 7 forw gfeifian o1 emisH =& fhan on?

(a) SEMaE HI @ (b)) T WRuET

() e w1 gt (%) T wfeIf
2. feorf IR R FHER ot 7o e W e o1 eifen -

(&) 3T LM Al A-3TR 71 | fopam)

(b) =T TT Fadr Wi TR o= Aradet | S U et 953 fRa

(C) o8 HHSIR fEHMT o HI0T TR oft
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(d) wpaaE 39 983 G ol
3. 78 A 3Tt o fYnen eerwen -
(a) WAL
(b) = fearfq i SR L@ 21
(C) ! WA i TS T T 2|
(d) o BT % gHE! faehTE o e i < 2|
4, wgHE fen @ 8?2
(a) faeneft et @ giaat iR wifaferad 1 @ 9] fSai & fag
F B
(b) <@ A & TUA Hl FE-A-HE G G 2, I A HeRY e e
=8y
(C) TeATh IR T HHSIRI o foTe Ga fean 7o ey 2
(d) TFa 9 &l G HH H IR
5. XU 1 SUFEK YR A1 €2
(a) gl fore sHereen (b) SHad @ d=rd
(C) e ¥ wpd (d) =gaE foren &t drefshar a1 qewn
6. e R () I 9 K e A -
(a) =@ et o
(b) =% o # i g =mEd ol
(C) o2 U & =il <kl HiE1 &1 =medr ol
(d) o' i = foeem o wfre wEme S9 R Wt agqEl S
I

Passage No. 6

S3#RWI9@ETVUN5%IWA4XY8$SXZ6AWKE&TB
1. In the above arrangement, how many vowels are there which
comes justafterasymbol.

(@) Three (b) Two
(c) One (d) Four
2. In the above arrangement how many numerals come just
before asymbol.
(@ Two (b) Three
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(c) Four (d) Five

3. In the above arrangement how many consonant are there
which come just before a numeral.
(@) One (b) Four
(c) Three (d) Five

4. In the above arrangement how many symbols are there which
have a numeral just before them and a vowel does not come

just after.
(@ Three (b) Five
(c) Two (d) Four

5. In the above arrangement how many geometrical figures are
there which comes just before a numeral but does not come

afteravowel.
(@) Three (b) Two
(c) Four (d) One

6. In the above arrangement how many vowels are there which
come either just before or just after any consonant.
(@) Two (b) Four
(c) Three (d) Five

S3#RIS@ETVUS5%IW4XY8$XZ6AIK&T7B
1. Ui oFeee ® U9 o TR & S ol welieh o qRa ag o o1 872

(a) ™ (b) =
(C) = (d) =m

2. S oEE | Ud fohae Wi © S Heitehl W i Tl 22
(a) = (b) =
(C) =R (d) df=

3. S SaE | U foha oo € TS qXa veel IS Heieh 872
(a) @ (b) =m
(C) dH (d) dr=

4. SR e 4 T e wditeh € S8 X Yeel Tk HE&AH © Ui SHoh
% H1E TR T 72
(a) = (b) =
(c) = (d) =R
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5. SIS oFee | fohat sefhdta sehfaat forddt weme o qia Ted ® W

forelt %o o =g et &2
(a) dH (b) =
(¥) =R () T
6. ST Hee H fhae TR T € Sl ol o qXd Uee A R A= H &7
(a) « (b) =m
(c) <M (d) =

Passage No. 7

Four friends Anuj, Dinesh, Pankaj and Sumit come from different cities of
India. They have different professions like Artist, Doctor, Player and
Singer. Now read carefully the following rules and information and answer
the questions that follow. You can take help from the given table by
marking the (x) or (v') inthe boxes.

1. The first letter in the name of person, profession and the city is
not same.
Sumitis a player and comes from Durg city.
Pankaj, Anuj and the player do not come from Pune.
Anujis nota singer and comes from Sambhal.
Pankaj comes from the city whose first letter can not be the
same as the first letter of his profession.

ok wbd

Artist Doctor Player Singer Ajmer Durg Pune Sambhal
Anuj
Dinesh
Pankaj
Sumit

1. Dinesh comes fromwhich city?

(@) Ajmer (b) Durg

(c) Pune (d) Sambhal
2.  Whatisthe profession of Anju?

(&) Artist (b) Doctor

(c) Player (d) Singer

3. Name the city from where Pankaj comes?
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(@) Ajmer (b) Durg

(c) Pune (d) Sambhal
4.  Whoamongthe followingis the singer?

(@) Anuyj (b) Dinesh

(c) Pankaj (d) Sumit

5.  Which pair of the following can exchange their profession with
each other if they follow the rule number 1 strictly?

(@) Anuj—Dinesh (b) Sumit—Pankaj

(c) Dinesh—Pankaj (d) Noneofthese
6. Whatisthe professionof Dinesh?

(@) Artist (b) Doctor

(c) Player (d) Singer

et gerstl 1 sAgde afeu SR fram e gemtel R eefa geAi & SR Sifse

IR SR 3T, TeiwT, dehet 3R it =R STer-ote el e, g, qOl 3iR Hee
Y 3T qe =R o SHeH FHeahr, S, faarel ud mHew 71 ore frefatea
f7ai =1 9T T 2R 99T o SR Sl 2 fu e aiferent @reh sl 7eg Aol
YA Y Tehd B

FAGR X fEerEl e W g gw 9ed

s
e
Gehsl
gfta

1. oAfeR o T, S SR YL ok A 1 Yol e (S o STTER)
o e )

gfra faen<t @ i gt 4 emn 2

3T, Wkt 3R Faete! gor o =2 o 7

ST Tk eI @ IR T | T )

Tk Y TEXH 3 e S TY Teld 5 THd 79 i3] &d Tele Jadrd
o &1 8l Hehdll

1. e o e @ et 22

AR S
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(a) TSR (b) =i

(c) 9O (d) Gua
2. TS I HEHE 12

(a) <heHR (b) =X

(c) fTaaret (d) T™=®
3. Ul fopd TR 9 SRR

(a) R (b)

(c) 9O (d) Gua
4. T o T i B2

(a) o (b) f&wr

(C) d&S (d) gfa

5. 9= o T Sig %9 wE© | o I o6 UieH d gU 310 SHAeEr i
Teh-TR 9 95l Tohd 72

(a) orgsi-fem (b) gfud-vshs

(c) ferwr-vahst (d) =7 9 & T
6. e o oHerEE W B2

(a) chellR (b) =X

(c) faarEt (d) ==

Passage No. 8

Education is for life, not merely for a livelihood! So long as we are
unmindful of this truth the quality of our educational curriculum as well as
that of our teachers and students will remain inadequate. It is not enough
for a society to have experts. It needs human beings who can think, feel,
and act generously, the kind of people who cannot be replaced by the
computers and robots. The great faults of our present age is its emphasis
on efficiency at the cost of humanity.

1. Theauthortalksabout....................... inthe above passage.
(@) Humanbeings (b) Teachers
(c) Education (d) Curriculum
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2.  When the author says that education is for life, he means to say
that—
(@) Educationisvery useful for life.
(b) Educationis useful for earning money.
(c) Education can make a personrich.
(d) Education cantrainthe people to be proper human beings.
3. The author says that it is not enough for a society to have
experts because —
(a) Expertsare very egoistic people
(b) Experts cannot give overall view of facts
(c) Expertsare notreally sensitive to the needs of the society
(d) Experts are eccentric people
4. Accordingtothe author the present educational system :
(a) Stresseson efficiency
(b) Fulfills social aspects
(c) Isscience oriented
(d) Emphasizes on computer education
5. Human beings cannot be replaced by computers and robots
because:
(a) Computers androbots are non-human
(b) Theyreact mechanically
(c) Theydonothave specialized knowledge
(d) They cannotthink and feel like humans
6. Themainideaofthe passageis:
(a) Educated people should have a sympathetic attitude
(b) Education should be to improve the quality of life rather than
efficiency
(c) Onlyexperts are efficient
(d) Theonlygoal of educationis to gain efficiency

foren Sfter o g ® oherel U1 UM o fore €Y B 1 S qeh €9 39 T o i
Toa el Bl a9 qeh SN TeT i UreTehH 3R BUR teArdeh] SR fermmfefa i
TUTE ST | fRE THIS o feTw sherer YU Sl BT BT TEtE 1 @139
AETTHRA T TH T 1 S T Fohdl B, 19 FR Hehd & 3R SIRAT  HH o
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Thd 1 T YHR ok A 1 T et oft et oI A6 T o gad §) adum
I o1 J&A <9 ¢ Toh &H HIFel i e W et s eerdl WS S @ 2

1. SO TR E AGF v & 9N H o1 S 2
(a) 9= (b) e
(c) Toren (d) dUeawH

2. 6 i@k el § fon fren it ok fow €, 3o sueht arcad @ T -
(a) fem o foren siga e 2l
(b) e Yo s o forg wwenr 21
(c) faen =afer ot ST 1 Wehell B
(d) foren =i =l wetern fa@wd 2
3. v e B T 3 e R SRR 1 S 2 e e 2, e -
(a) Tgur @ wgd e B
(b) rqor i desi o1 quf stereieh et T Hehd 2
(C) TYUT AR A &1 &l o Ufd Heesiel 61 sl
(d) Fqor =T TRt B €
4. @S ok SITER FAHM ToreT gomer -
(a) <eId WS I 2 (b) @S weqe w1 gl s 2
(C) foam S=geh 21 (d) e fnen WS S @)
5. TR A1 Y SAKH T ST T o Gehell €, TR -
(a) R 1 UeE S B €
(b) S wfafsren aiferen 21
(C) 3ok urd fafdre 3 =&l gl
(d) o 3HM ! e 7 e Tehd € 7 HEHH h Fehdl B
6. TSl ol q&d W& © -
(a) Terfera safermt o1 werufagol Wa g =nfey)
(b) foem =1 I3EvA Iaa@r TR dfckh oA 1 ORI bl GURAT BT
By
(C) ohaet f7gu1 @ € 381 B &)
(d) foren <1 THHTS STITF I&TT hI U HIAT 2|
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ANSWER KEY

Passage 1

oukwbnpE

(c)
(b)
(d)
(b)
(©)
(d)

Courage and determination
Will power

All of the above

Maintains balance
UNICEF

Allthe above

Passage 2

oukwnhpE

(@)
(b)
(d)
(@)
(c)
(©)

Earn livelihood

Professional

Dedication

Lazy

Third mason

Enjoy doing well with commitment

Passage 3

ogkhwhE

(d)
(c)
(c)
(d)
(b)
(@)

Laziness

Hurtfeelings

By deep breathing

Anger management

Anger affects our relationships
Positive approach

Passage 4

oukwbhpE

(a)
(c)
(b)
(a)
(a)
(b)

Humus

Algae

Sunlight

Top soil

Its particle size is very small.
Loamy soil

Passage5

1.
2.

(c)
(b)

(d)
(@)

(d)
(d)

Running

She showed better performance in all other fields without
losing her own area of specialization.

shows the importance of broad-based education.

Students should prepare for life without losing their areas of
specialisation and competence.

Importance of broad-based education

he wanted to make the syllabus more broad based by
includiing barking in the syllabus.
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Passage 6

1. (b) Two

2. (d) Five

3. (a) One

4. (a) Three

5. (d) One

6. (c) Three

Passage 7

1. (c) Pune

2. (b) Doctor

3. (a) Ajmer

4. (c) Pankaj

5. (d) Noneofthese

6. (a) Artist

Hint

Artist Doctor Player Singer Ajmer Durg Pune Sambhal

Anju X v X X X X X v
Dinesh X x x X x v X
Pankaj x X x v v x x X
Sumit X X v X x v x x

Passage 8

1. (c) Education

2. (d) Educatoncantrainthe people to be proper human beings.

3. (c) Expertsare notreally sensitive to the needs of the society.

4. (a) Stressesonefficiency

5. (d) Theycannotthink and feellike human.

6. (b) Education should be to improve the quality of life rather than

efficiency
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Sample Question Paper-|

QUg (37) HATHUT F FIART

o Frefarfea o e 1 9 8 H 9o 9@t fashed gfe-

1. ‘ TETCHT ST X B TSl ST =i | e B i o1 fasioor g ?
(i) REIEEAENEL (i)  aRHTEREE fagem
(i)  Fehaarae fagem (iv) FeaETEs fagmm

2. Hifed STEd g ¥ | IR H gfaRivur g |

(i) Hifgt (i) =A@
(i) G (iv) ¥

3. SEUYE 99 H yge R |
(i) S ERED (i) GHHH
(i)  fghew (iv)  omede

4. * arferen feman faioror o6t 91g §-
(i) TRHETES (i)  Haar=h
(iii)  TEEER (iv)  Qfar=es
5. AEARHIgREATSALE -
()  9RHvENES (i)  TFRE
(i)  IRFRH (iv) URSrehiH

6.  ‘SU ST YHI ALK HHAAR ?

()  FTER (i) ==
(i) 39 (iv) ST
1
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7. Y WU 938 | Wifhd I A HRFH T |
(i)  FHRE (i) FHHFIRH
(iiiy T HRS (iv) TIYHREH

8. 3G Y Al ¥ Tt o Ar9s e fean | 1@ifeha ue 1 faeim g 1

iy g@ (i)  oTEfe

(i) @ (iv) il
TuE (@) Hew | yreraett
QU (37) R I YA

o1 fr=fafed uea 9= 9 9 16 § 9o el fashed sl =9 hifsu-

9. Ate femm-
)y  StaHg:sm iy  derem
(i) TEIHHI R (iv)  SEHm g

10.  SEHH R W 33HT-
()  SgASARA (i)  TEIIREHEA
(i) S oS 3 (v) STHIRET
1. TSR 1 S B T-
()  Igd SIS B g (i) U HH B B
(i)  TREH WS (iv)  Toselard = e

12, IR DT GEA TEHT Y T GE T | T G 6 SRR |

(i) TA RS iy TASE
(iiiy  EE I (iv) SIS
2
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13. QA el HIATHI ol G fIdl i T 3k TS | e gehl' I STRE T |

() fomzm (i) STETR
(iiiy ~ AfSsaaE (iv) faag=e
14.  HA U Prer o T8 feu @ o @ et e W |
(i)  TATS (i) WUYsTU
(iii)y TAISTI (iv) U=

15, e A FHS T ST, |

(i) =t (i) R
(iiiy o7y (v) <
16. WA H STHFTH W W EAET....oon eipicill
@iy (i) T=A
(i) gl (iv) EmR™
(T0) TR e ity
@UE (37) AR I TR

Fdor- = feu T SRR 1 e WY W' 17 9 24 H 3fud fashed 1 =
HIfU-3Tefash 17 R 18 R gC 19 Sea! g1 €9 9 di=i 20 1 fsrarget
Tk ST FfAffee 3d 9 | 379 3 21 T & Welieh € | 37 Dol - At 1,
Tel, WS A T & 22 1SN 23 TaAl o &asil H 8 © | Hoha o fH wifd

HI24%1
17 Rea w17 ?
(i) =k (i) #S
(i) (iv) &g
18. fRaawam18?
(i) T8 (i) 9H
(i) STH (iv) S99 H
3
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19. ReaTaE19?

G =W i) =

DI (iv) =i
20. fe@wm20?

(i) TR (i) TR

(i)  3fe (iv)  dieat
21. fewm21?

i g (i) T

(i)  enfdew (iv) S
22. fEawm22?

(i w7« i) Toem

(iii)y IS (iv) g%
23. feawm23?

(1) SISl (i) wH A

(iiiy fafv= (iv) wu&Y
24. fEawm24?

(i)  Udl® (i)  wfqeprst

(iiiy  wfdar (iv)  wfafsan

4
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Qualitative Reasoning
i - S (T eh)
9T 25 ¥ 42/ Questions 25 to 42

Y. 25 SR A 56 AASId ohl <@ A1 39 A AT Toh 98 IHeh! 92t i AT & fuar

T ST & | TSI ST T oo T
1) He

2) oTg (T

3) g (Redguen)

4) =N

When Amir saw manjeet, He recalled that he is son of the father of the
mother of hisdaughter. ManjeetiSAMIr's..........cccccceveenee.
1) Brother -in-Low

2) Brother
3) Cousin
4) Uncle
.26 EH Hetud & fhae |, 3 THR......... RS 12 SO T
1) A, 9EN
2)  SSORER, Wem
3) A, oA
4) ®d,US
Author isrelated to book. Inthesameway --------- isrelated tQ -------------

1) Human Society

2) Engineer, Building
3) Mason, Building
4) Fruits, Tree

5
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.27 WA=y, gt

1) HHUTR

2) &Y

3) EEEIR

4) A
Choosetheodd oneout :

1) Seismograph
2) Earthquake
3) Cyclone

4) Tsunami

¥.28 3 %l 3H 3197 I3 i 39 9 6 T[HI § | IR | 91<, T 3T 1AM 43 T 2
S | SA7HT S A 39 SdEU;

1) 30 9T
2) 329
3) 3449
4) 28 |1

Amitisnow 6timesasold ashisson. Four Yearsform now, thesum of their
ageswill be43yearsDetermineAmit'spresent age:

1) 30Years
2) 32Years
3) 34Years
4) 28Years

6

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

W.29 Uk Af A ST T WE T IE v IR 7 fob. . =ren | 3ueh =g oY
e 2 fon. . <l | 36 918 Tk R R aTd gg et 12 foh . =el | T aR
AT o ge et 2 fof ot =1t | oo eTRfves fog W ug=m & faw & fora g8

LREZEI R

1) 7 . .
2) 12 f. .
3) 4 f. .
4) 5T, .

A Man Startswalking in south & walksfor 7 km, thenturnsleft walksfor 2
km, once again turnsleft & walksfor 12 km, turns |eft one more time &
walks for 2 km. How much distance he has to cover to reach the starting

point ?

1) 7km
2) 12km
3) 4km
4) 5km

T.30 TH T | Ao d ARl ol STIUM 5:2 T | TSI i HE&A ASfhRal 9 450
AR ¥ | Tohel H et I=d o e foRat € 2

1) 650
2) 1050
3) 400
4) 950

Thw ratio of boysto girlsinaschool is5:2. The number of boysismore by
450thanthat of girls. How many studentsarethereinthat school ?

1) 650
2) 1050
3) 400
4) 950

7
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(Question 31-36)
Read the passage and sel ect the crrect answer the questionsthat follows:-
Eight personsA B C D E F G and H. are sitting in two lines facing each
other. Each line hasfour persons. A is sitting between F and G and facing
towardsnorth between D and B. H isat thejust right of G.

Q.31 Whoissitting Just oppositeor exactly facing C.

@ F
(b) G
(© E
d A

Q.32 Whoissitting at thejust right of C.

Q.33

Q.34

@& B

(b) F

(© D

(d) BorD

Inwhich pair of thefollowing, personsareexactly facing each other.

@ C-G

(b) B-G

(© D-G

(d) F-C

On the basis of their position three out of following four are alike in a

manner and makeaset. chosethe pair which doesnot comeinthegroup.

@ DA
(B) CG
(© EA
(D) BH

7
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Q.35 Inwhich pair of the following second person is sitting at |eft of the first

person.

a) FA

b) GA

C) EB

d) CD

Q.36 WhoamongthefollowingfacingtoNorth.

a) C

b) B

C) E

d) H

9
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TR
(¥ 31-36 ) : FAfafEa s =es o1 afgu aen feu e g+ & S :
s At A B CD EF G 3R H $THA-9rH- S1 A1e § Tah g i IR HE fRe
AT TIH AT H IR AL F IR GCH dHA TR T SWJEETENB
WAL SHR ATAHED IRBF I CETNGCH TATTCH T |

Q.31 CHIFTEAHHAISAT
a) F
b) G
C) E
C) A

Q.32 CHFTEIM DAL

a) B
by F
C) D
d B=aD

Q.33 frfafea # & fora SIS # =ferd T TR & WA 3T 2

a) CG
by BG
C) DG
d FC

10
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Q.34 MM MR R faTafed R § § T frdl TR 99 € 31d: S T
IR I1 ¢ 98 Uh i 91 § 51 59 T8 H el 3T g |

a) DA
b) CG
C) EA
c) BH
Q.35 fH3fra I #guu =i Twa & A A I3 g
a FA
by GA
C) EB
d CD

Q.36 FHHAFASW HIIMEFTIAT
a)
b)

C)
d)

ImwWO

11
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( Questions 37 - 42)

Study the paragraph and Answer the correct option for the Questions.

When Sunil was born his father Sushil was 30 years old. Sunil's Auntie
Bobby is 3 years younger than her Brother Sushil and 5 years younger than her
husband Pankgj. Pankaj and Bobby has three children - Sonu Monu and Shelly.
Sonu was born on the 28th Birthday of hisfather. After 10 yearshis Brother Monu
will be 7 yearslessthen the Half of hisfather's age and hissister shelly wil be one
third hisMother'sage Sonuwashborn befor 12 years.

Q. 37 Find the person who is senior to the same number of persons to whom
heis Junior to ?

a) Shelly
b) Sonu
C) Sunil
C) Monu

Q.38 Kavitatheelder sister of sunil may beyounger than:

a) Sonu
b) Monu
C) Shelly

d) Sonu and Monu Both.

Q.39 Accordingtotheageif wearrangetheminadecending order which of the
following optionisthecorrect :
a) Pankaj - Sonu - Sunil
b) Sushil - Pankaj - Shelly
C) Bobby - Pankaj - Sunil
d) Monu- Shelly - Sonu

Q.40 Whichof thefollowing pair consist the personshaving ssmeage.
a) Sushil - Pankgj
b) Sonu- Sushil
C) Sunil - Shelly
d) Sunil - Monu

12
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Q.41 Whoistheoldestinthefollowing.

a) Sushil
b) Bobby
C) Sonu

d) Pankaj

Q.42 According to ageif we arrange them in ascending order which one of the
following arrangement iscorrect.
a) Sunil - Shelly - Monu
b) Sunil - Sonu- Shelly
C) Shelly - Sunil - Sonu
d) Sonu- Sunil - Monu

13
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37 - 42 ) : TefafEd sT=e] i dfgy aa feu U g9+ & W

ST AT 1 ST g3 el ST T Geitet 30 o 1 o ATt 31 (HHT) st
379 TS Gl F i ot 31 o1 ufd Uehet 9 wiw o6l Bl T Uehs iR Al S A = €
T, T 7R et | T 1 ST 379 fidm & 28 & SFAfGT TR g3t 911 10 I8 & 9GS5
oTE T 379 1 3T o 39 T 91 I hH ST 37X STHRT e Sreft ST Tl bt 3T i
T forre Bt | S o g e T S I o |
UK R ol e Ufgy 3IR e g9t & It & fore W@t fasme g |

Q.37 FTAHAHA T SN I & &l A B ¢ Sl A - a8 |

a Il
b) w9
) g
d =
Q.38 YA I TSt a5 hial =1 B ford T Bl & Fehel © 2
a w9
b) =
c) Il

d) dgeiRARIHH |

Q.39 3MY s SUR AfE IS VBN o HH H T A 1A A1 fahed T & 2

a) U, e, g

b) Wi, 9w, el
C) Sfelt, Jeht, Gt
d) =, e, €

14
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Q.40 fr=fafedd o™ uH g arel H1T |

a)  gula- 9@

b) wH-gi@

C) g - el

d)  gi@-#g
Q.41 fHATRATTRTLI

a)  gEfa

by st

c) w9

d d=

Q.42 g GuE YA TR A IS & FH T AT R a1 - Gl Thed TRl T |

a8 e, e,
b) g, =, e
C) e, efte, |
d) =, g,

15
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Section A- Language Conventions (English)

(Question 1-8) - Read thefollowing passage carefully and select the must suitable
option from each according to the corresponding number inthe passage.

In1918-19therewasaseriousoutbreak of flu.
Theviruswasknown as Spanishfluand
itisestimatedthat it killed morethan 20

million people. Recent research which had been conducted
intothestructureof thisvirushasshedimportant
light onthiskiller disease. The scientistsconducting
theresearch used viral DNA sequencesfrom

the biopsieswhich wastakenfrom American
soldierswho diedinthepandemic of 1918-19
worringly theresultsof theresearch suggest

that the 1918-19 virusmay havehaditsoriginin
birdsandthat it jumped the speciesbarier to

infect human beings.

©WoOoNOOAWNE

e el el
whkF o

=

Thecorrect useof theword/ phrase had been conductedinline4is-
1) have been conducted

2) had conducted

3) will beconducted

4) hasbeen conducted

2. Theword closedinmeaningtoword 'pandemic'inline9is-
1) war
2) akind of virus
3) chaos
4) widely spread disease

3. Theword'Origin'inline 11 could best bereplaced by-
1) Relationship

2) Comparison
3) Starting point
4) New

16
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4. Theword closetinmeaning totheword' outbreak'inlinelis-
1) aStrong protest
2) astrongexpression
3) asudden start
4) aresult of

5. Inline5the phrase'Has shed' means-
1) togetridof
2) tolet something fall
3) tokill people
4) togiveinformation

6. InLine3"isestimated" the phrasewould mean
1) toformanideaof value.
2) alongfriendly contact

3) togiveanofficial status
4) iscalculated

7. Inline8theusecorrect useof thephrase’' wastaken'is-
1) canbetaken
2) wereTaken
3) oneTaken

4) had Taken
8. Which of thefollowingis thecorrect spelling of "barier” inline12?
1) barrier
2) barrir
3) barierr
4) berrier

(Question -9-12) Complete this passage by choosing the most suitable word /
phrasefromeachlist tofit the corresponding gap -

A coupleof friendswho(9) Morning house haveasked usif we're (10) inmoving
into their present apartment. I'm not sure. It'sbigger then ours but it's one of those
placesthat_(11) very _(12) superficialy but hasalot of problems.

17
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9. Which of therefitsgap (11)?

1) are
2) was
3) is
4) were

10. Whichof herebest fitsthegap 10 ?
1) interesting
2) interestingly
3) interest
4) interested

11.  Whichof thesefitsthegap 12 ?

1) attracted
2) attractive
3) attract

4) attracting

12.  Thewordwhichbestfitsthegap9is?

1) are
2) were
3) is
4) have

( Questions 13-16) Completed the passage by choosing the most suitable word /
phrasefromeachlist tofit the corresponding gap.

Some species, like the Giant Panda, are becoming very rare in the (13) because
their habitats, the places they live, are being _(14) ,for example when the main
forests are cut down. So, zoo's play a very important role, or part, in (15) there
same animal sand making surethey will not (16) for ever.

18
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13.  Whichof thewordfitsthegap 14 ?

1) tamed
2) bred
3) destroyed
4) prepared
14.  Whichof thefollowingfitsthegap 13?
1) cages
2) Z00's
3) planet
4) forest

15. Whichof thefollowingfitsthegap 15?

1) taming
2) domesticating
3) training
4) breeding
16.  Whichof thefollowingfitsthegap 16 ?
1) come
2) disappear
3) run
4) sleep

(Question 17-20) Complete this passage by choosing the most suitable word
phrasefromeachlist tofit the corresponding gap -

In ancient days maps _(17) trade routes across seas and land and were therefore
very (18). Infactthey wereso preciousthat onecountry, would send spiesto (19)
another country's maps. However, since those days maps have changed a great
deal. Now with the use of computer technology and satellite photography, maps
canbeso (20) they caneven show your house.

19
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17.  Whichof thesefitsthegap 18 ?

1) helping
2) expensive
3) adequate
4) valuable
18.  Whichof thesefitsthegap 17 ?
1) told
2) showed
3) assessed
4) analysed
19. Which of thesefitsthegap 20 ?
1) important
2) revealing
3) explained
4) detailed
20.  Whichof thesefitsthegaps19?
1) adopt
2) take
3) steal
4) practise

( Question 21-24)Complete the passage by choosing the most suitable word /
phrasefromeachlist tofit the corresponding gap -

Sportsismeant (21) enjoyed, whether youwin or lose. It's(22) you play thegame.
When you giveyour 100 per cent, thereisonly one option left with you either you
winor makeothers (23) thereisno (24) atall.

20
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21.  Whichof thesefitsgap 22 ?

1) when
2) where
3) why
4) how

22.  Whichof thesefitsthegap 24 ?
1) winning

2) losing
3) defeating
4) spoiling
23.  Whichof thesefitsthegap 21 ?
1) canbe
2) tobe
3) aretobe
4) will be
24.  Whichof thesefill thegap23?
1) lose
2) win
3)  play
4) fight

21
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Q.43

(1)

Q.44

Q45.

Q46.

Quantitative Reasoning

I - HY (AT Teh)
U9 43 ¥ 60 / Questions 43 to 60

(837 + 163)° + (837— 163)’ =
837 x 837 + 163x163

4000 (2) 674(3) 2 (4)None of these

A Number is 36 more then its 2/5th, the number is -
(1) 48 (2) 60 (3) 56 (4) 68
Tk G&A1 399 2/5 9 91 9 36 31fyes § O T&A1 &1 |4 8 -

(1) 48 (2) 60 (3) 56 (4)68

An electric device make beeps after 60sec Another device
make beeps after 62sec. They beeped together at 8.am. next
time they would beep together at the earliestis

(1) 830am (2) 831am (3) 859am (4) 9am

TUeh ToR[a SUHT 1 3T 60 Teheg & o1E TH: SIeTd § | T Teh 3T
U 62 Tehwe NG Y : TSI & | ST USRI 6T STATH YT : 8:00 S Teh
1 SIS | T2 ST ohT STETH SSareTst foha srt s |

(1) ITd:8:30 W (2) Ud:8:31 W (3) WM:8:59 W (4) UTd:9:00 IS

Which of the fraction lies between 3/5 and 2/3
T AR = 3/5 q912/3 & o= 3Tl |

2 1 1 31
(1) = 2 5 G 15 (4) =5
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Q.47 250=10thenxis

VX

20 _ 10 FIxwAmE
X

(1) 65 (2 250 (3) 625 (4) 2500

Q.48 Thetotal areaof 64 small square of chessboardis900cm’ thereis3cm
wideborder around the chessboard. What i sthelength of each side of
chessboard.

Teh TTATS o SIS o 64 IS a1 ol (el &TThel 900cm’ ¥ 3H &I & =R 3K
3cm ASTAET T | IS & SIS i Y Il bl STHITS =1 BT |
(1) 17cm (2) 30cm (3) 33cm (4) 36cm

Q.49 On taking the radius of acircle as 4 timesthe radius of another circle
the circumference of the new circle will be how many times
circumferenceof thesmaller circle.

(1) 4times (2) VAtimes (3) 8times (4) 16times

Tk I i a1 Toh el 317 Jd ohl =R 71 oish 9T I foh afRedt, ©1e ga ot

TRl & ferat AT ?
(1) 47 (2) 1/471 (3) 87 (4) 167

Q.50 Onesideof arectangular fieldis8m and oneof itsdiagonal is17m. the
areaof thefieldis.
(1) 136m*  (2) 120m’ (3) 128m° (4) 68m’
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Teh STTIATHR HSH i Teh il 8 Hio T & TN IHeh fah vl ohl TS 17 Hio € | HEH 1
ATHA S
(1) 136H>  (2) 120Hto (3) 128> (4) 68 o

Q.51 IN the given figure if PQ | QS, OQPT = 115° and OPTR = 20°
then[JSRY isequal to
1) 155  (2) 150° (3) 135°  (4) 95°

S
Q
R
o
115 20°
T

Q.52 Thevaluesof x andy inthefigure are measure of angles. thenx +y is
equal to

TR H X ATy HIUN k1 AT E A X + y T HH BN

5y+5 . D

(1)90° (2)85° (3)75° (3)65°
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( Quations 53 - 56)

Read the following passage and answer the questions that follows

. (53-56) Frefafed st=ee o1 afew e fau 7o e & s i -

It is said that word is done upon on abject whenever a force acts
upon it and displaces it. For example if plough is moved across a
field, usually a bullock or a tractor supplies the force to do the work
on the plough. Energy is acquired by the object upon which work is
done and this energy is known as mechanical energy. This implies
that mechanical energy is the energy possessed by an object due
to its motion or due its position. Mechanical energy can be either
kinetic energy (energy of motion) or potential energy ( stored
energy of position). A moving ball. for example, possesses
mechanical energy due to both its high speed and its vertical
position above the ground.

The total amount of mechanical energy is the sum of the potential energy
and the Kinetic energy. This sum is simply referred to as the total
mechanical energy (TME)

Total Mechanical Energy = Potential Energy + Kinetic Energy

Aform of potential energy is gravitational potential energy There is a direct
relation between the gravitational potential energy and the mass of an
object. Objects with more mass have greater gravitational potential energy
There is also a direct relation between gravitational potential energy and
the object is elevated, the greater is the gradational potential energy.
These relationships are expressed by the following equation.

25
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Potential energy (gravitational) = mass x g x height
where m - mass of the object
g- acceleration due to gravity
h - height of the object

Since the gravitational potential energy is directly proportional to the height
of the object, doubling of the height will result in the doubling of the
gravitational potential energy. Atripling of the height, will result intripling of
the gravitational potential energy.

Kinetic energy is the energy of motion and depends upon two
variables - mass (m) of the object and speed (v) of the object. The following
equationis used to represent the kinetic energy of an object.

Kinetic energy = 1/2 mv’

The kinetic energy is directly proportional to the square of the speed. That
means that for atwo fold increase in speed. the kinetic energy will increase
by a factor of four.

26
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ol g W hrd fohan 7o § A At SRl S Hehdll § STel SHW 91 STRITId Bl &
3R 3H fazenfya 3a1 § | SeTevl & o fhe 5t 1 B § =9 & foig, St =1 39X
T 1 & B B AT I Y a1 § | T8 a%g R wrd fohan S €, o o
TSI T &, 3T =8 Sett AT Sl hgaTdl! © | ST d1eqd § o 2ifash St femedt o
T 3Heh! T 3R 3Hen! feafa & R ffed et Bt © | A7 il ol TehR T BIdT §-
Tfas et (T1fd & o Sett ) 91 feerfas et (feafa s sro st ) | Seetur s fag, T
Tl g8 g H ST O =1e IR STHH F S 39t seater fearfa & o =it st
ffea gz

iR St ht et AN Rfast it 3T 1fast S5t <1 ART 2ra €1 36 AR i
el Fifsa i (total mechanical, TME) w8 g1

F e St = et -+ fors oot

T YR ! Teafast St - e feafas S § | T feafast Sei ik
T o A | Hren GaY ¥ | 31fe geau arelt aeqstt wi et feafas st ok
T S TSI H G Gel# T | ATk oo el sqsi ol e feafast it it
Bl T I BT SR IR o feafas st # ot dien ey 8 & 1 et a%g &t
ST Bt & ST ST B SHe el Feerd S Sl BIeht € 1 57 Sl b e Tt
EEN RIS KIS

ferfas et (TEET) = TSA9M X g X 348

STRT g - TEce T R

h - g &1 39
Hiifeh e Fefast Heil a%g i 3 TE o THI Bl §, SAMCT 3HaTE QR i |
‘e feafas et off AT B S B | SET UoRR e ohi i T S TR A St off
TR SA T |

TSt STl 7M1 SR 1 o BT & 3T &1 =ieTeht TR iR el §-ar%g 1 g8 (m)

iR HT = (V)

TSt St = 1/2 mv°
Tt STt =Tel & &l o (V7)) HETAT B & | SEeht aread ¢ foh =er 1 €1 i gfg
TR Tt St R T[T & ST |
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Q.53 Thediagram given below shows the motion of as ski jumper as she dlides
downthewill.

== Tz o o, e et | i & 3R Tfq T W@ wh i oA ol el &
A geiarg |

KE=(
PE=50 D00 J

KE: KE=20 D00 J
PE=30 000D J PE=30 000 J

|60 m

100 m

KE= ;
PE=15 DDD J X0 m KE=50 000 J

: PE=0 J

What would be the kinetic energy possessed by the ski player (Jumpera) at
position B and C respectively.

fearfa'B' 3iR 'C' R 3@ faretet i st et shaet: 2t -

€) 30,000 J, 35,000 J

(B) 20,000 J,35,000J

(C)  20,000J,15,000J

(D)  50,000J,0J

Q.54 Thetotal mechanical energy of onobjectisthe-
@ Kinetic energy minusthepotential energy of the object (KE-PE)
(b) Potential energy minusthekinetic energy of the object (PE-KE)
(© Kinetic energy plus potential energy of the object at any instant
during motion.
(d) Final amount of kinetic energy and potential energy minus the
initial amount of kinetic energy and potential energy.
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fepritereg =t et AT Sotl BT E |
(@ agHIfas et IR H feafast et § 3Tk (K E-PE)
(b) frafas it iR ifast 3=t | 2@ (PE-KE)
(c) Tk SR fohat oft eqor ifast Seit &iR fearfast et w1 M
(d) ifast St feafast =it st ifam @mn $iR nifast 3=t iR feafast =it
T STRFeh AT H ST
Q.55 A toy car is moving along with 0.40J of kinetic energy. If its speed is

doubled, thenitskinetic energy will be-
e TGl SR 0.40J 1 TTfasT et & TFAHA © | AfE SR el ST Shi <1 T,

et Sestt ey
(8  0.16J
(b) 16J

© 163

(d  160J

Q.56 A cartisloaded withabrick and pulled at constant speed along aninclined
plane to a height of 0.45m. If the mass of the loaded cart is 3.0kg, the
potential energy of theloaded cart will be (takeg = 9.8m/8?)

Tk ST 1 231 9§ 9T ST & 3R fAfe=r =t @ e7Hd 9 W 0.45m ohi 318 doh
T T | SR 230§ 9 el o1 goq9H 3.0kg ®, O et i fearfas i
B (g=9.8m/8)

@ 1.32J
(b)  13.23J
(c  0.135J]
(d 30J
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(Question57-60) Study thefollowingtable carefully and answer the questionthe
follow

Yo (57 - 60) == <t T ekt b £ Jeieh UfgU 3R U9 & ST I |
Percentage of marksobtained by 7 student in different subjects.

7 B g fafir= faften & ure stent =51 gfawrd :
Student Hindi | English | Maths | Physics | Chemistry| Biology T
Toremeft = Srferst g aifent WA | < femmA '
Maximum
—Marks 100 150 75 150 150 75 50
Afrehan 37
Amit / sifa 67 88 92 88 58 60 98
Ruchi / =it 65 78 68 70 64 72 76
Kanchan/ #=m 89 66 76 76 72 68 76
Prashant / weia| 88 80 72 68 62 64 72
Mrina /9= | 78 64 76 74 68 80 78
Kunal / % 60 86 88 74 94 76 84
Diksha/ fzat 74 92 96 66 86 88 96

Q.57 How many marksdid Kunal getinall thesubjectstogether ?
AT A Gt oo # H ot foha 37k g fohu-
(8 592  (b) 598 (c) 624 (d) 606

Q.58 What are the average marks obtained by all the students together in
chemistry ?
Tt forarfefat 3 waram fomm & fora eiraa ofe wra fore -

(@ 108 (b) 112 (c) 88 (d) 98
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Q.59 How many students have scored the highest marks in more than one
subject:
(@ Two (b) One (c) Three (d) Four

foran forafelai 5 wen @ 21fes faoa | 1fierawn o7 gt foru |
@ = (b) =™ (c) ¥ (d) =r

Q.60 Whosecuredthehighest marksinHindi and | T respectively,
(& Amit,Kanchan
(b) Prashant, Diksha
(c) Mrind,Diksha
(d) Kanchan,Amit
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(Question 1-8)
Q  1()
2 (i)
3(i)
4 (i)
5 (iii)
6 (iv)
7 (iii)
8 (ii)
(Question 9-16)
Q. 9 (iii)
10 (ii)
11(iii)
12 (iv)
13 (iii)
14 (iii)
15 (ii)
16 (ii)

(Question 17-24)

Q. 17()
18 (ii)
19(ii)

20 (ii)
21 (iv)
22 (iii)
23 (ii)
24 (i)

Answer Key to Sample Question Paper |
Answer Key - Language Conventions (Hindi)

RUEICCREN L
T

THHEH
gfATIETE
IRARh
EEpi

SR Fh

e

T Yehe T
A R B
TRE & R S
TS

wAfSTd BT

T 98 Y

R1E

RESS

&S]
394
at=i
wETgIal
EIE]
e
fafy=

ERIED
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Answer Key - Language Conventions (English)
(Question 1to 8)

1) 4) has been conducted

2) 4) awidely spread disease
3) 3) starting point

4) 3) asudden start

5) 4) to give information

6) 4) iscalculated

7 2) weretaken

8) 1) barrier

(Question 9-12)

9) 3)is

10)  4) interested
11)  2) attractive
12) 1) are
(Question 13-16)
13)  3) destroyed
14)  3) planet
15)  4) breeding
16) 2) disappear
(Question 17-20)

17)  4) vauable

18)  2) showed
19)  4) detailed
20)  3) dedl
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(Question 21 - 24)

21)  4) how
22) 2)losing
23) 2)tobe
24)  2) win

Section -B (Qualitative Reasoning)
(Question 25 - 30)

25) (1) Brother -in-Law /4reT
26) (2) Engineer, Building / ssifer, wa=
27) (3) Cyclone/ =srema

28) (1) 30years/30
29) (4 5km
300 (2 1050

(Question 31 - 36)

3) (d -A
32) (¢ -D
33) () -BG
34) (0 -EA
) () -GA
36) (d -H

(Question 37 - 42)

37) (b) -Sonu/Er

38) (@ -Sonu/HEq

39) (a) - Panka - Sonu - Sunil / 9 - § - g
40) (d) - Sunil - Monu/gte - |1

41) (d) - Pankaj /9wt

42) (c) - Shelly - Sunil - sonu/ 3l - g - T
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Section - C Quantitative Reasoning)
(Question 43 - 52)

43) (3) 2

44) (2) 60

45) (2) 83lam.

46) (4 3150

47)  (3) 625

48) (4 36cm

49) (1) A4times/4T

50) (2) 120’
51) (3) 13%°
52) (4 65

(Question 53 - 56)

53) (b) 20000 J, 35000 J

54) (c) Kinetic Energy plus potential energy of the object at any instant
during motion.

55) (¢) 1.6J

56) (b)) 13.23J

(Question 57 - 60)

57) (d) 606
58) (a) 108
59) (@ Two/J

60) (d) Kanchan, Amit/ &=, 3tfa
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Sample Question Paper - 2
@Ug (37) AR F SIART

;- Fr=fafed ye e 1 @ 8 | a8 we fasked gfu-

1. RSO R HARAAE I | A H -1 foerem g ?
(i) TqoTem=rek fargreror (iii)  srffea afwmoreT=es fagrem
(i) HreTHe forrem (iv) Iffi=a geamEmes fagmm

2. ‘ATSTHES Jgd Yal © | IR H IfaRiv g |
() d~med (i) Ed (i) g (iv) ®

3. fafean TP A TS W R | oo d SiEl fma e ?
(i) wHHE® (i) sTRHE*  (ill) Wondw  (iv) qeeRifaen

4. TH 3T ST Hehdl B | 3R § T fopann forsioron 1
() FoEr (i) e
(DEESIEEED
(iv) dfer=es

5. SregfedTdivE?
() srREE (i) swiere (i) smiE (iv) s

6. ‘Fehey ' vTeg H Y ST R |
(i) == (i) &1 (i) =g (iv) ==
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7.

Sigeh W Tl Fehed! | JEifehd U8 H Reh ©
() FOFERE

(i) FHFE

(DEEESEETED

(iv) wegFR®

TEEAATE ovvvevenne g | R v & fau Sugsi v 2 |
(i) <IEH
(i) &R
(i) =urg
(iv) =
Tue (@) HeH H e

a9~ Fr=Afafad 997 91 9 | 16 § wad 3fua faseu =1 =9m wifsu-

9.

10.

L hT YOT ST

() T EHT A
(i) FAAEREE

(iii) gHEa A
(iv) =z

ST HEAT-
() wErSaEn
(i) e femr
(iii) A

(iv) ardt e
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1. % @ g -
() s w
(i) imsmdena
(iii) ==t =g =am

(iv) BeE#HuET

2. qHA S ST SRl AR fae.
(i) e freere fean
(IR EEERINERI]
(iii) A e e
(iv) =ifaaermfean

13, BEABGH AT H T
(i) serfen
(i) S
(iii) feenfen
(iv) e T

14. UfREHMAIE D TREH TR
(i) wwf
(i) femfew
(i) =mfen
(iv) wafem

15. dMRE A AT R G|
() O THER
(i) THF AT
(i) SuHT TeHR
(iv) &9 TR
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16. WU ARA HA e |
(i) 3TIUTE TAHR
(i) ST STAFR
(iii) T TEwR
ESGERE

QU () TEAIT Gfel BT
Frdor:- 7 feu o=k i Uga  UYH WA 17 9 24 H 3fud fasey 1 =
HIfST |

TR 1 BAR 17 T ogd e ¢ | TR oA € 379 18 ol W o< Tehdl € |
e B i START, 19 BT ¢ | T TTeal | 20 i Fagl & Shatan € 1 70 21
fT TS 3101 TR1 © | 31 1l SR ¥ 371 fS@Ia1 § | 24 A A v, WATS &
23 AAHETRAE | SR 24 femar  foman g

17. FEaTam17?
() =
(i)
(iii) =i
(iv) Sfrer

18. Raazeam18?
(i) =
(i) <&
(iii) o
(iv) @
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19. ReTamr19?
(i) Ser
(i) e
(i) =
(iv) wer

20. REaeam207?
(i) ™
(i) I
(i) =
(iv) =™

21. Reawm217?
(i) =ust
(if) Sfar
(iii) <
(iv) FE

22. REawam22?
(i) ofe (ii) efreft (iii) &1 (iv) W
23. w23 ?

(i) oW (i) =1 (iii) = (iv) =

24. RFazam24?
(i) TeeR (i) o (iii) Tt (iv) <A
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Section A - Language Conventions

Note: This section of the question paper contains 24 guestions in the English

language. A studentisrequiredto attempt all the 24 questions

(Questions 1- 8) : Read the following passage carefully and select the most
suitable option from each list according to the corresponding number in the

passage.

©WoNoOkAWNE

=
o

=

About two-thirdsof the Earth'ssurfaceiswater.
Landthereforecoversacomparatively small areaof our planet.
Theworld populationisincreasing very rapidly.
Itissaidthreetimesasmuchfood asweproduce at

present will beneeded by theyear 2010if everyoneisto

have enoughtoeat. Only half theworld popul ation

today can afford enough of theright kind food.

Theamount that peopleeat al so variesconsiderably.

A workerintheU.S.A., for example, eatsthreeand ahalf
timesasmuchfood aday asafarmer in South-EastAsia

Inline6, theword "enough” could best bereplaced with
1) lots

2) more

3) less

4)  sufficient

InLine 3, theword'Rapidly’ could best bereplaced with
1) growth

2) fast

3) rising

4) quick

Inline4, theword 'produce’ could best bereplaced with
1) bring

2) make

3) created

4)  manufacture
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4. Inline 2, the word ‘comparatively' could best replaced with
1) relatively
2) related

3) comparedto
4) comparable

5. In line5, the word 'everyone' could be replaced with

1) anyone

2) al thePeople

3) someone

4)  most of the People

6. Inline 7 the word "afford" used as a noun, would change to
1) afforded
2) affordable
3) affords
4) affording

7. Which of the following is the correct spelling of the word "Varees"

1) vars
2) vareis
3) varies
4) vares
8. In linel, the word "surface: could best be replaced with

1) thelnnermost Layer
2) thetop layer

3) themountain area
4) thecovering

42
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(Question 9 - 12) : Complete this passage by choosing the most suitable word /
phrasefromeachlist tofit thecorresponding gap

The (9) of the computer, i.e. the chip has become an important 10 of any
musician'stool. A method of sound production using the chip called the
Digital Waveguide synthesis not only 11 instrumental sounds but also 12
performance nuances such asacoustic variations.

9. Which of thesefitsgap9?

1) lungs
2) brain
3) liver

4)  heart

10 Which of thesefitsgap 10 ?

1) part

2)  product
3) object
4)  branch

11.  Whichof thefitsgap12?

1) adds

2) adding
3) addition
4) added

12.  Whichof thesefitsgap11?

1) reproduces

2) make
3) generated
4)  processed
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(Question 13 - 16) : Complete this passage by choosing the most suitable word /
phrasefromeachlist tofit thecorresponding gap

Gandhiji wasonce 13 inthe open compartment door of aspeedingtrain. Hewas 14
inhisthoughtswhen oneof his"chappals' 15 hisfoot and 16 down.

13. Whichof thesefitsgap 16 ?

1) falen

2) fal

3) fell

4)  hadfalen

14.  Whichthesefitsgap 157

1) dip

2) dipping
3) dipped
4) dips

15.  Whichof thesefitsgap 13 ?

1) stand

2) stood

3) stands
4) standing

16.  Whichof thesefitsgap 14 ?

1) lost
2) losing
3) lose
4) loser
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(Question 17 - 20) : Complete this passage by choosing the most suitable word
/ phrase from each list to fit the corresponding gap

Snake charmers 17 a very colourful picture of Indiato the tourists but the 18 of
their own lifeis quite sad. They wander to many places 19 their skills but due to
new forms of 20 like circus, television and theatre, their earnings have gone
down.

17.  Which of thesefitsgap 19 ?

1) display

2) displaying
3) displays
4) displayed

18.  Which of thesefits gap 20 ?
1) entertaining
2) entertains
3) entertainment
4) entertained

19.  Which of thesefitsgap 17 ?

1) display
2) present
3) showed
4) give

20.  Which of thesefitsgap 18 ?

1) reflection

2) redity

3) real Problem
4) actud
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(Question 21 - 24) : Complete this passage by choosing the most suitable words
phrasefromeachlist
Value of money has gone high. Everyone wants _21 rich without hard-
labour. He does not hesitateto adopt _ 22 at al to become rich. All religions
23  great stressonhonesty and at other social andmoral _ 24

21.

22.

23.

24,

Which of thesefitsgap 24 ?
1) vauables

2) vaued

3) vaue

4) values

Which of thesefitsgap 23?
1) lays

2) lay

3) lie

4) lied

Which of thesefitsgap 22 ?

1) anymeans
2) dlmeans
3) everyMeans
4) someMeans

Which of thesefitsgap 21 ?
1) tobecame

2) tobecame

3) becomes

4)  becoming
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a1 - it ( IUTESR @) Section - B (Qualitative Reasoning)
U9 25 | 42 / Question 25 to 42

Q.25 Choose the correct option in the given question circle is related to
circumferenceasrelatedto-

(@ Diagona (b) Perimeter (c) Area (d) Volume

e ye = o @& fashed gfe-
FAF HIY IR T ], AT HTH ... TR

(a) fowoi  (b) uwfREm (c) A%a (d) I

Q.26 Introducing agirl, mohan said. "hes mother isthe only daughter of my
Mother-in-Law". HowisMohanrelated tothat girl ?

(& Uncle (c) father

(c) Brother (d) Husband

Teh A1 1 UR= S0 U HIEH 3 oIam, ¢ TSkt o1 | B 1 i gttt
it & HIg ekl A o Helfdd 2-

(a) =m=n (b) foar

(c) i (d) ufd
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Q.27 Select thecorrect answer figure.

o fem i -

M B

(a) (b) () (d)

Q.28 Which letter should bein the place of question mark in the following
series?

2 <t g Sroft § 9 Fere o T TR ShIF T TR ST -
ACFJ 2 U

@ O (b) K (© N (d P

Q.29 A man is going to Chandigarh from Delhi by a car. which of the
following of importancefor hisjourney -

(& TheMusicsystem of thecar should beworking

(b) Thecar shouldbewhitein colour

(c) Thetyresof thecar should haveenoughair

(d) Themendrivingthecar should beproperly dressed.

Teh ferd R R fEoett | =€iTe o1 W@ie | f7=1 A S 9 fashey 3@t amn
& fau mReEqui ¥ 1 -

(a) HRE G G H1 AT 3k

(b) HRAHE T B =BT

(¢) R I T v T H g Bl =y |

(d) FR ! T STl AR ST=5t qIenes &l |
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Q.30 If BORE=ERBO, whatisSPAR

3R BORE = ERBO®,dI SPARTIIE -
(a) RASP (b) RAPS (© APSR (d) PSAR
(9931 -36 ) Tr=aferfed S =1 gfeu qen fou e yve=i & Swife

C27U54IH*x $KE3LB @ARM16F%JG9

Q.31 SR FIS H Weft 37T 3R eftehi sl fehTet & ol TC H H1ad TM WHE
||

(a) @
(b) M
(c L
(d B

a

Q.32 s 6 T foha iten & Fored g Ugcl i &2 A1 i a1g § A5 ¢ 7

(a) 1
(b) 2
(o 3
(d) 4

Q.33 e B T fohae T el fF i Tl A e A H G © 2

(a) 7
(b) 8
(© 9
(d) 10
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Q.34 I B U foham ot § fS1eh R Teel ohig oo © W] a1g H T TRl
7?2

(a) 1
(b) 2
(o 3
(d) 4

Q.35 e | U3 foran =o § 9198 9 7ds & g U8 T Wdish a1 Teh
T §?

(a) 4
(b) 5
() 6
(d 7

Q.36 RIS | 279 T & SeR W fAfafed =) § 3 & fhd gor o0m §
3T 2 3Teh1 Ueh THE S & 916 hI- |1 ¢ 51l 38 THE H el T € ?

(a) KL3

(b) F%
(c) R61
d I1$%

(Question 31-36) Read thefoll owing passage and answer the question that fol | ow-

C27U54IH* $KE3LB @ARM 16 F%JG9.

Q.31 In the above series after erasing out the numerals and symbolswhich
oneisontheseventhfromtherightintherest series.
(@ @
(b) M
(© L
(d B
50
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Q.32 How many symbolsaretherein the serieswhich have aconsonant at
just beforeor just after them.

(@ 1
(b) 2
(© 3
(d 4

Q.33 How many numerals do not have any symbol just before or just after
them.

(& 7
(b) 8
© 9
(d 10

Q.34 Thenumber of symbolswhich hasaconsonnt just beforethem but not
avowel just afteritare:-

(@)
(b)
(©)
(d)

Q.35 Total no of consonent in the series which have asymbol or anumeral
just beforethem are:-

(@ 4
(b) 5
(c 6
(d) 7

A WNPEF

Q.36 On the basis of their position following three out of four are aive
hencemaking aset, find the onewhich doesnot comeinthe set.

(@ KL3
(b) FI%
(c0 R61
(d 1$*
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(Question 37-42) Study the following and answer the question in the following
diagram:-

Triangle represents the singers
Rectangle represents the Doctors
and circle represents the joint families.

Q.37 Findthedoctorswhodonoliveinjoint familiar but they aresingersas
well.

@ O
(b) M
(© N
d L

Q.38 Number of Doctorsnot singerslivinginjoint family are:-

(@ O
(b) M
(© N
d L

Q.39 How many singersarenot doctorsbut arelivinginjoint family.

@ M
(b) O
(© N
d R

52
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Q.40 Thepersonslivinginthejoint family neither singer nor doctors:-

(@ P
(b) ©
(© M
d R

Q.41 Total number of doctorslivinginjoint family are:-

@ O+M+N
(b) O+M+N+L
(c) O+M+R
(d) O+M

Q.42 Total number of singerslivinginjointfamily are:_

(8 O+M
(b) M+R
(c0 M+N
(d O+tM+R

(9% 37-42 ) Tr=fafea =1 9few qen feu o yv=1 & S e

e Yt § 7 ye i shtan © - ekl 0,
a7 IS T oh¥al § —Sfeed i |

I TR Shiell & - SRt TIRaR & |

T R STHRA U1 o SR o Hal foehed Fa |
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Q.37 Y Sl S e IERi | e e SR I & |

(@ O
(b) M
(© N
(d L

Q.38 G IR | Y& dTet 3l SAferd il ek e St |

(@ O
(b) M
(© N
(d L

Q.39 TR TR T T o1l feham) e Sl T |

(@ M
(b) ©
(© N
(d R

Q.40 G INER H T@ daTet o SAferR Sit A ol Tk 3T T & gt

(@ P
(b) ©
(© M
(d R

Q.41 T IER H T8 a1t el S1aR foha e §
(8 O+M+N
(b) O+M+N+L
(c) O+tM+R
(d) O+M

Q.42 Y R & @ o el M © 2

(@ O+M (b) M+R (c) M+N (d) O+M+R
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Section -C (Quantitative Reasoning)

- (AT Toh)
9 439 60 / Question -43t0 60

Q.43 Calculate/ T
(679 + 267) - (679 - 267)

679 x 267
1 B @ e 5 @a

Q.44 24 isdivided into two parts such that timesthe 7 first part added to 5
timesthesecond part makes 146 thenfirstis

24 1 39 YRR QI A H 911 7201 foh T@el 9T <1 7 71 3fS TER |1 %h 5 T
TS T S 146 9T e & T T8l ST R B

1) 1 (2) 13 (3) 16 @) 17

Q.45 Three piecesof timber 42m, 49m and 63m long haveto bedividedinto
planksof thesamelength. Thegreatest possiblelength of eachplankis

THS! & A TSI I TTaTgaAT SHHATT: 42 |, 49 Hlo 3R 63 Y, H H e
TSl THS e § | T B § fhan fhat o & e e S
HHAE|

(1) 63m (2) 42m (3) 14m (4 7m

Q.46 Solve/EAH

0.289 _,
0.00121 o

0B 0l 0% of
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Q.47 Thelength of arectangular plot istwice its breadth and the length of the
diagonal is v9m Theperimeter of theplotis.

Teh STIATRR EUE i TS SHHT AIENE i G ¢ | A 30k forahon wrvae
9v/5m ¥ A YUE T IR R 2R 2

(1) 36m (2) 54m (3) 72m (4) 81m
Q.48 Thelengthof therope by whichacow must betetheredin order that may
beableto grazean areaof 2464m’is(take TT= %)

TEHT oh! o SIS AT hiTSTQ Fored] Tohel! T okl e © &y e ol 318 2464m°
FTRA H IR T | ([[HIHE = 2—72)

(1) 28m (2) 16m (3) 44m (4) 72m

Q.49 The wire when bent to form a square encloses a region having an area
121cm’. If thesamehasbeen bent into theform of circletheareaof the

circlewould be (take Tl = % )

Teh AR h1 TS 3 Teh o7 o1 711 € FSreent &57thet 121 11 W Hie g ofe 34t
22
TR G Teh I ST ST <l ST &(hel 2 ([H AR = "7 )

() 144cny (2) 180cm®  (3) 154cm’ (4) 176cm?
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Q.50 InthegivenfigureJA=80° 0 B=60,0C=2x and OBDC=Y.BD andCD
bisects [1B and Crespectively. Thevaluesof x andy respectively are.

A

80°

(1) 15°and70° (2) 10°and160° (3) 20°and130° (4) 20°and 125°

g1 T emeRfa § [JA=80° 0B=60° 0C=2x BDC=Y BD @1 CD @1 CD
wAe: (1B ae [ C o hivl SHigHISTeh § | X T2y o el A 8- |

A

80°

(1) 15°@=M70° (2) 10°q=M160° (3) 20°qe130° (4) 20° T 125°
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Q.51 Inthegivenfigure if EC /7AB, ECD =70 [JBDO =20 then JOBD is

equal to
E A
70<=
© D
C 20
(1) 70° (20 60° (3) 50° (4) 20°

TS eeRfa § Afg EC /AB, DECD = 70° OBDO = 20° it JOBD &1 4

E

C

A
70<
© D
=

(1) 70° (2) 60° (3) 50° (4) 20°
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Q.52 Thelength of achord of acircleisequal to the radius of the circle. The
anglewhich thischord subtendsin the major segment of thecircleisequal
to.

(1) 30° (2) 45° (3) 60° (4) 90°

T I ! SE i a1 TR a1 & sRIeR T | Sia g 99 & <reeve |
ST T 10T Shi |9 T BT |

(1) 30° 2) 45° (3) 60° 4) 90°
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(Question 53-56 )
Read following passage and answer the question that follow :

(99953 -56)

Frafafed sTg=e% o1 afed aen fiew ¢ g+ & S SIfe-

Paper chromatography can be used to identify metal ionsin waste water a
drop of water sample solution is placed on filter paper. The bottom of the
paper issetinasolvent that travel sup the paper (seefigures)

i =<—— beaker
direction of

solvent movement
\‘-"-r

drop of

> lilter paper
sample solution -~ —_ Fope

solvent
Figure 1

The solvent carries the ions up the paper. Some ions move faster, and
therefore farther than others, resulting in a separation asthey move up the
paper. The paper is dried, them stained, causing the ions to appear as
coloured spots. Rf valuesarecal culated for each spot.

Rf = Total linear distancetravelled by ion
Total Tinear distancetravelTed by solvent

Table 1 shows Rf values for 5 ions and Table 2 shows Rf values of ions
present in 3 samples of wastewater. The same solvent wasused for all ions
and samples.

60
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THITST ShIHCIIThT STAFYTSE STet | &1 ST oh! U i o fore Jim feran <
Gohdl § | T S Teh 9% ! [thee o T TR T 14T | SITS o fi=et fo Tk
Toretreren ¥ feera ® | 71 foretrares st § W et S =ear s | (fas-12fem)

T o faerA

foreTTreh ST Rl HTTST H SR 1 31X o ST © | R ST il 9 =g © $Hfay
TERI ! T H X IR © | IR 3 ST S0 9gd-=Igd g2 &l S
¥ | TS B! R S &, FoR Iea (1) fopann i 7, fored) o1mam O et
% €9 H feEH T € | Ik &9 1 Rf A (&) 91 fohan ST g |

Rf = s1a grad@ &1 718 g gt
Toretrreh g a3 &t 718 el g
qfereht 1 ST Rf A1 1 <wiian € SR et 2 ST et o <iF T 4
ufterd T & Rf A 1 <9I § | et 1 3R T & foe we foemaes
TN R T |
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TABLT / artferent
Molar Masy Distance Colour /
lon/ 3T HqerR gemE | Travelled / Rf Sp% oo
g/mole T (CM) FTA
EREIRIF]
N'Ck‘?'\l.i' Al 58.7 08 008 | Pink /T
[
Cobalt / sTeee Brown - Black/
58.9 35 0.35
co” YU-hTell
Copper /e 635 60 060 |  Blue/en
Cu
Cadmium /
Hefgam 112.4 7.8 0.78 Yellow / dtemn
cd”
Mercury /
B - Black/
i 200.6 9.5 0.95 rogviv{?_mac
Hg™
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TABLE-2 / atfetent-2

Note: Sample contain only the metal ionslisted in table
e T H haa dfcR 1 gEias u1g T Sfufted 71

Sample/ R Spot Colour /
kAl e hT T
1 0.60 Blue / Hren
0.78 Yellow / dem
0.35 Brown - Black/ {-hTell
2 0.95
' Brown - Black/ {U-<hTell
0.08 Pink / 1 6“5“
3 0.78 Yellow / dtef
0.95 Brown - Black / U-hTetl

Q.53 Theinformation intables 1 and 2 supports the conclusion that 'sampl€e’
3' contains -
(@ Cu” and Cd” only
(b) Co™ and Hg™ only
(c) Ni*, Co™ Cd”only
(d) Ni*, Cd® and Hg” only

difetert 1 3R 2 H < TR AR & SR W 39 5kt T I8 <1 Tohell ©
fo g 3" H 3ufterd et ¥-

(a) Faa Cu™* 3R Cd™

(b) Saa Co™* 3R Hg™

(c) ®aa Ni**, Co™ IR Cd™

(c) &aa Ni**, Cd™ &R Hg™
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Q. 54 Arrange the metal ionsin order from the fastest to slowest speed with

Q.55

they moved up the paper (refer table-1)-

(@ Hg”, Cd”, Cu™, Co”, Ni*
(b) Cd™, Cu™, Co™, Hg”, Ni**
(©) Ni*, Hg", Co”, Cu”* ,Cd”
(C) Ni2+’ C02+, Cu2+’ Cd2+’ Hg2+

TS § I T SR T TG 1 =16 & SER T, G ST o] Had oo J Forl
et 7ifa § et wifse (Sfem arfes-1)

(@ Hg”, cd”, Cu™, Co”, Ni*
(b) Cd2+, CU2+, C02+, ng+1 Ni*
() Ni¥, Hg”, Co”, Cu™ ,Cd”
(c) Ni*, Co™, Cu”, Cd”, Hg”

Based on the information given in the two tables, one can conclude that
2 contains.

(@ One metal ion only

(b) Two metal ions only

(c) Either one or two metal ions
(d) Morethan two metal ions

ferhtsdl § 3T T8 SR & TER WX, I8 ekt fepren e  foh =9 2
H Sufeerd &

(@) Shad Teh 91g A

(b) 1 &g 3T

(C) T A1 <l 9Tg 3T

(c) < & 31y g A
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Q. 56 Which of the following figures best illustrates the appearance of the
filter paper after 'sample’ was analyzed -

T 1 @ foveee S W, & 9 e S 6 fEmee F vl

Y § 0 -
— = Key /3
° O =Yellow / dren
(@ — distance traveled / faeeh g1 0 &1 T g @ = Blue/ e

(b)

(©

(d)

I| |I
o
|

8

starting point / 3T foig

. distance traveled by solvent / faaae g1 @@ &t € T

. starting point / 3T faig

— distance traveled by solvent / foerre g1 @ &1 T T

. starting point / 3Ty fag

— distance traveled by solvent / foere g1 @ &1 T g

starting point / TR foig

65

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

Question (57-60 Refer to the following pie charts & answers

T3 (57-60) & T f9=1 UrE =9me ol SEeht ST |

Distribution of Protein Human body Distribution of Human in
Human body

Hormones
Enzymes
& other proteins

e IR B WA o1 oo e IR | deal a1 faaem

T e
T Y3
T3 o
T W

Q. 57 What isthe ratio of the distribution of protiensin the muscles
to that of the distribution of proteinsin the bones?

66
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Q. 58 What percentage of the total weight of the human body is equivalent to
the weight of the skin in the human body ?

A IR & e AR T FRaT Aa IR T &= & qed © 2
1) 1C

2 016

(3) 0.016

(4) Insufficient data/ $T5R 3THS

Q.59 To show the distribution of protiens & other dry elementsin the human
body, the arc of the circle should subtend at center an angle of.
e TR H W 3R 371 g T ol faaor S o foe ga &t = &

TR foha 3791 T HI0T I ?

(1) 120° (2) 54° (3) 108° (4) 252°

Q. 60 What isthe quantity of water in the body of a person weighing 50kg?

g AT TRt o 50 fem.am. & SHH 9 5t A |

(1) 35kg  (2) 120kg  (3) 7l42kg (4)20kg
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0o N o1 ok WWODN P

Answer Key - Language Conventions (Hindi)

(iv)
(i)
(i)
(i)

(iii)
(i)
(i)

(iv)

(Question 9-16)

Q. 9
10
11
12
13
14
15
16

(Question 17-24)

Q. 17
18
19
20
21
22
23
24

(iii)
(iv)
(iii)
(iii)
(i1)
(iii)
(iii)
(i1)

(iv)
(i)
(i)

(i)
(i)
(i)
(iii)
(iv)

(Question 1-8)

o

A= SEamErEs g
§gd

RS

FHTTTEE

SINICI

H
I hTeh

e

GH TR |
29t 3BT
BN
EAGIEACEI RO

5 e

= fu

IF ITARR

39T AR

Sta
Sk
Heherdl
ikl
St
ST
=
SHA
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Answer Key - Language Conventions (English)

(Question 1-8)

Q. 1 (4 sufficient

2 (2 fast

3 (2 make

4 (1) relatively

5 (2) allthepeople

6 (2) affordable

7 (3) \varies

8 (20 thetoplayer
(Question 9-12)
Q. 9 (20 bran

10 (1) part

11 (1) adds

12 (1) reproduces
(Question 13-16)
Q. 13 (3) fell

14 (3) dlipped

15 (4) standing

16 (1) lost
(Question 17-20)
Q. 17 (2) displaying

18 (3) entertainment

19 (2) present

20 (2) redity

68

Downloaded From

. http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

(Question 21-24)

Q 21 (4) vaues
22 (2) lay

23 (1) any Means
24 (2) toBecome
Section - B (Qualitative Reasoning)

(Question 25-30)

25 (b) Perimeter / 9i\Tg
26 (c) Brother /s

27 (¢

28 (@& O

29 (c) Thetyresof thecar should haveenough air / R & 2= § 9T
T H B B =M |

30 (& RASP

(Question 31-36)

Q. 31 (d B
32 (d 4
33 (b 8
A4 b 2
3B (@ 4
36 (@ F%
(Question 37-42)
Q 37 (¢ N
38 (@ O
39 d R
40 (@ P
41 (d O+M
42 (b) M+R
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Section - C (Quatitative Reasoning)

(Question 43-52)

43 (4 4
4 (2) 13
45 (4 7m
46 (1) 170111
47 (2) 54m
48 (1) 28m

49 (3) 154cny
50 (3) 20°and 130°
51 (3) 50

52 (1) 30

(Question 53-56)

Q 53 (d) Ni*, Cd” and Hg™ only
54 (a) Hg”, Cd”, Cu”, Co™, Ni*
55 (b) Two Metal ionsonly
56 (a)

(Question 57-60)

Q. 57 (b) 21
58 (d) Insufficient data
5 (c) 108
60 (d) 35kg
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PSA-IX (HINDI)
SAMPLE QUESTION PAPER-3

Language Conventions (1 to 24)

Gug (3) AR d ATFIAN

e fr=fafed w9 1 9 8 | a9 et faskey g -
Q.1 I3 TH FENH I T=1 W® & {@ifeha v1% o1 fagivor 4% sifew -

(ORINEIEED OEELERIEED

(iii) A=A gRETITET=S (iv) 3= e
Q.2 ‘UeHrE! 3Tedd wad! T ol § wfarsivor €

(i) TEHE (i) T

(i) ®dat (iv) T
Q.3  Ha T Ml B H hiA-E foran B2

OERSERED OIEERED

(iii) fgervn (iv) SRomeE
Q4  Honnn Stifert @1 R §|

(i) < (i) =

(iii) TH-TRH (iv) STeer-STeat
Q.5 o i gfe ¥ WEl v 2|

() SwH (i) STgw

(i) SR (iv) STg=
Q.6 fooel &l TR ..., R (HI0T)

(i 9 (i) o

(i) w7 (iv) <
Q.7 ‘31 SuE o WA fohd visg § g3 €72

(i) ST (i) STTs

(i) == (iv) SHMER
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Q.8

a1 T FHSI T T &

() e
(iii) T

g (9) T | vrssrae

frefafed w9 9= 9 9 16 | Ta9 3fea fasred 1 =7q Sifsw -

Q.9

Q.10

Q.11

Q.12

Q.13

Q.14

Q.15

BT T T A

(i) HTHT A T
(iii) <t ® g ST
TR ARAT -

() TrFRFE

(iii) R =

(i) T Tl B
(iii) FTEE BT
TR THISHT T -

() I famr
(iii) =g =S <
BT T Teel Tl -
() FIREM

(iii) 31 wEeie B
3t HaT -

() AT

(iii) 3T FHTA

R H T BT -

() I e
(iii) =R o & gloen faemn

(i) 2fereh o FE
(iv) Hetea o e

(ii) ST HTH HE
(iv) R = o fgor g

(i) TPFE-THPIRE
(iv) 1 3T

(i) U=
(iv) BT ek 3

(i) pX B
(iv) =gd &4 T

(i) 9 S
(iv) T T AEH HEAT

(i) ST@ A
(iv) R ¥ dref g
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Q.16 e 371@ 9 3@l -

Q.17

Q.18

Q.19

Q.20

(i) T THM HFEAT (i) e B
(iii) & e (iv) Teh Toremem  de

Que (H) T_ANT gfd hifeg

: A QU T STI=8] I UgH WNH WEAT 17 W 24 H 3feq fasey &

EREEHISINE

A1 T ITAAH HIEH] o WY AR e | yeer h 9 AR
1 NfITATd IR T o 3k U d- 1 o8 ST TSl 81 AT
S{ie w1 STRRUT TR HHMTRT hl ....17.... AN SHRT ALIEH U
Sfre <9 HT ....18.... R A1 71 THok Taadia AT ... 19.... H TS
geft € firerdt ®1 6w ....20.... wfiffial 5@ A SR fommrem 5
w21, B TRl €| G SR SO FD ..22.... T TEl Teh AU T

EAN ....23.... T Wed € o HRU Geol B Herdl 1 ....24.... T
31 Td 3EHR I A Ufed e o R T 2l

R w172

(i) HEER (i) d7
(iiiy (iv) fAfsRa
R = 1872

() fawia (i) fagra
(i) @ra (iv) 9T
R T 1972

(i) Sied (i) T
(i) =g (iv) aRew
R T 2072

(i) TR (i) =y
(i) fafyre (iv) foom
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Q.21 fETumM21?

() A9 (i) vag
(DISELE (iv) foemg
Q.22 Tz 22?
() T (i) TwaE
(i) =T (iv) TETE
Q.23 Tl w232
(i) ¥ (i) &M
(iii) 3TIRH (iv) STI<H
Q.24 i M 24?
() ¥ (i) A
(iii) SA_H (iv) STIEH
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Qualitative Reasoning (25 to 42)
[k.M (c) xg.kkRed roZQ

Q.25 et weiTg | Tdl © °e fenrerd wdd %1 3R e i Tel ¢ 9%
Tt SR et B SR R geahs Sl 1R St © 39k o1% o <t 31k
qegohl TF WX St € 3R fhY Sff 7R qea Use (15) Hiet Jerd! @
3fq o o TR <t 3R gedt ], o1e o e o 9 g 1 3t s @1 2
(a) fedTe™ vaa ot (b) S T @TS!

(c) fe= "R (d) & 9R

Nandini lives in Chhattisgarh. She is standing facing Himalaya
range, she goes right than she turns and goes right again. Then
she turns left and goes 10 meter than she turns right and walks
(15) fifteen meter finally she takes a right turn. In which direction is
she heading now.

(a) Himalayan Range (b) BayofBangal

(¢) IndianOcean (d) Arabian Sea

Q.26 U 378R-37h F@A H YRS oh T T FAT 3T AT 2

A2C, C4E, E6G, G8I, ?

(@ 110J (b) G10K

(c) 110K (d) J10K

Which of the following will replace the ‘?’ (question mark) in the
given alphanumeric series.

A2C, C4E, E6G, G8I, ?

(@ 110J (b) G10K

(c) 110K (d) J10K

Q.27 AR foreh 7 o1 weal (Ba) &7 WHaR @ &+ K7 veet var €
3 7EH § 26 9@ 1 S E-91 T 2

(a) ER (Feeafdem) (b) ghar
(c) WHaR (d) THaR
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If 6th day of month falls on 3 days preceding monday, what day of
the week will follow on the 26th of the month.

(@) Thursday (b) Friday
(c) Saturday (d) Monday
Q.28 AR et YR F U 228 FAGH HARN o A 98 3T sk §d h
foha =Rt R T kT 87
(@) 8030 (3113 IR T19) (b) 365 (= THa)
(©) 22 (I=H) (d) 01 (TH)

If, Ishwar celebrated his 22nd birthday, yesterday, than how many
revolutions of the sun he has completed till today :

(a) 8030 (eightthousand thirty)

(b) 365 (three hundred sixty five)

(c) 22 (twentytwo only)

(d) 01 (oneonly)

Q.29 U wu foswhedl ® ¥ 39 IR I FHT I = KU g 3% § wiha

378 9 TR 99 Hehdl|

PRESIDENT
(a) RESIDENTS (b) DESIRE
() TIRE (d) REPENT

From the given alternative select the word which cannot be formed
using letters given in the words.

PRESIDENT
(@) RESIDENTS (b) DESIRE
(c) TIRE (d) REPENT
Q.30 ARG werdd s +mefT ' Hwef ? I x’ AR TN A
AR P A48 +2+4-2x4=7?
@ o (b) 1
(c) 20 (d) 44
If ‘+’stands for ‘+’, + stands for ‘', ‘—" stands for ‘x’, and ‘X’ stands
for '+’ then.
(@ O (b) 1
(c) 20 (d) 44
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1391 (31 @ 36 9%) Y & T&E U § 9R v KU MU § fod
WO HTE TaY T I8 Gael Ao XU e o11e @it o 9 U % 5}
T T © 9% YEntes S yeE | KU 7 v o g9y i Hel-gel

el ©, 31T9ehT STR € 379+ 3w o forg el forehed gfw?

Direction (31 to 36) In the following each question has four words.
These words have a kind of relationship. Which is shown by the
diagrams out of these given eight diagrams (A, B, C, D, E, F, G, H)
only one shows the relationship correctly. The diagram which
shows the correct relation of the words in a question is your
answer, selectand mark the correct choice.

A B
: Qo
- ®
. @® -

Q.31 ficelt, ST U=, ohid, A&
Delhi, Uttar Pradesh, Kerala, Lucknow
(@ B (b) C
(c) D (d G
Q.32 =M, f&A, wdl, 9«®

O
O

B @O
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Year, Day, Month, Week

(@) F (b) A

(c) E d) G
Q.32 =d, fq, W, wwe

Year, Day, Month, Week

(@ F (b) A

(c) E d G
Q.33 Tyedl, Wz, §d, Udd

Earth, Sea, Sun, Mountain

(@ C (b) F

(c) E (d) D
Q.34 i, Taccit, wWHYR, Sfa

Dog, Cat, Mammals, Animal

(@ D (b) F

) G (d) E
Q.35 Tpd, &, dNR, ThM

School, Town, Market, Shop

(@ A (b) B

() C (d) D
Q.36 s, WMHH, ferh, RS

Dancer, Singer, Teacher, Citizen

(@ F (b)

(c) H (d)

W m
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Qualitative Reasoning (37 to 42)

e (37942 T%)
frafafad Yol § *, @ , %, & 91 $ Yaiehl T 1= <are T 7 |
AT e T R
AxBHT e & A BY TS TRl
A@BHFId? & A BUTSR
A%BH AET & A BUBRL
AdBwTi?d & A B ST

A$BHI T & A, BH BRI T

Tilehl oF YU Al o MUR W = oF FHeAl ol §& T4 g Tl

ST foh Yedieh oM o 1% X a3 forom | qen 11 H shi-an/8 wel

? 5w Tu fashedt (a) (b) (c) 3R (d) & & IR ok forg wet e g
Direction : (37t042)

In the following questions symbols *, @ , %, dand $ are used as

follows::

A* Bmeans — AisnotlargerthanB.
A @ B means — AislargerthanB.

A% B means — AissmallerthanB.
AdB means — AisequaltoB.

A$B means — AisnotsmallerthanB.

On the basis of above meanings of the symbols and considering
the statement in the following questions is true and correct you
have to find out which conclusion/conclusions | or Il or both are
correct. or I/l or both are incorrect choose the correct option from
(a) (b) (c) and (d) for your answer :

Q.37 wTH% W@x , xdy, y$Z

frrd: | - Z% W
I — Y * W
(a) ohere et | HET 2 (b) oheret Freamd 11T B

(c) Tt e 11 1 Y R (d) 7 freere 19 1w R
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STATEMENT: W@x , xdy , y$Z
Conclusion: | - Z% W

n - Y *x W
(@) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neitherconclusion|Inorlliscorrect.

Q.38 ¥ :PdQ , Q@R , R%S

fpd: | - R s B
I — Qds
(a) oheet et | HEl B (b) heret Foremdl 119t B

(c) Trertd |qen Il SH1 |t B (d) T foemd 19 € 1w R

STATEMENT: PdQ , Q@R , R%S
Conclusion: | - Risthesmallestinall
I - Qd4s

(a) onlyconclusionlis correct.

(b) onlyconclusionllis correct.
(c) conclusionland Il bothare correct.
(d) neither conclusionInor Il are correct.

Q.39 YT :MdN , N%Q , P@Q

fpd: | — P W@ «Elel
Il — P$N
(a) ohore T | HE 2 (b) ket forsand 1192 €1

(c) Trnd <o Il S T € (d) = e (7€ 1w €

STATEMENT: MdAN , N%Q , P@Q
Conclusion: | — Pisthelargestinall
I — P$N

(a) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neither conclusionInorllis correct.
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Q.40 YT :J*xK , L@K , L%M

e : | - LdJ
- M$J
(a) pae frent |6 2 (b) e frerd 116 )

(c) T 1den 11 S @& B (d) = frerd 198 1w R

STATEMENT: JxK , L@K , L%M

Conclusion: | - LdJ
nm - M$J
(a) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il bothare correct.
(d) neitherconclusionInorllis correct.

Q.41 ST :E$SF , F@G , H%G

frepd: | - HOIE SRI?
I — GdE
(a) ket et | HEt B (b) here Tehd |1 et 21

(c) Tert |qen Il 41 |t B (d) T fremd 19 €1 1wt 2

STATEMENT: E$F , F@G , H%G
Conclusion: | — Histhesmallestinall.
N - Gde

(a) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il bothare correct.
(d) neitherconclusionInorllis correct.

Q.42 U :P*xQ , QdR , TR

feprdi: | - T@P
I — Q$T
(a) ohedt Tt | Het B (b) here Tehd 11 62T 21

(c) Torer |den 11 S &Y 7 (d) = frewd 198 1w R
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STATEMENT: P*Q , QdR , T%R
Conclusion: | - T@P

- Q$T
(a) onlyconclusionlis correct.
(b) onlyconclusionllis correct.
(c) conclusionland Il both are correct.
(d) neither conclusionInorllis correct.

Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

Quantitative Reasoning (43 to 60)
@ug (¥) HEAHS qoh

Q.43 A tree increases 1/9th of its height every year. What will be its
height after 2 years, ifit stands today 81 cm high?

(1) 90cm (2) 100cm

(3) 99cm (4) 101cm

Teh F87 3T SIeTS 1 1/9 Wiaad sigar &1 2 ol o qgEid SHh! Hag
11 BT A% 7S 8 81 Wt ofel 2

(1) 909+t (2) 1009t

(3) 99dt (4) 10194

Q.44 Aclass starts at 10 am and lasts till 1:27 pm. Four periods are held
during the interval. After every period 5 minutes are given free to
students. The exact duration of each period s :

(1) 47 minutes (2) 48 minutes
(3) 51 minutes (4) 53 minutes

T IO FI 10 I UTd: 3T BIeRT JU8L 1327 d doldt 21 39
M 4 HifEE o Bl Y& Gfae o a8 5 fie &1 STaehTel 13 i
fean ST B 1 gk RS o1 Wel-9e 99T SidUd o B

(1) 47T (2) 48THTe
(3) 51fFTe (4) 53fHe
Q.45 Solve /A &Y -
171+19x%9
1) 1 (2) 18
(3) 81 (4) None ofthese/
TTH | &S TR

Q.46 The perimeter of a square field and a circular field are equal. If the
area of the square field is 12100 m?, the area of the circular field
will be.

T JAHR TEUES ! A Toh STFR TEUS o IRAMT % THH g1 A
TRR FEUE HT &=t 12100 M2 € il SRR EUE hl &=l ERTI-

(1) 15500 cm? (2) 15400 cm?
(3) 15300 m? (4) 15200 m2
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Q.47 The number of small cuboids with sides 10 cm x 8 cm x 5 cm can
be accomodated in a cubical box of edge 1 mis:

T HieX T a7ed 59 ° 10 cm x 8 cm x 5 cm YAl aret foha =19

MEFAT -
(1) 100 (2) 1000
(3) 2500 (4) 250

Q.48 Inthegivenfigure, Oisthe centre of a circle and arc ABC subtends
anangle of 130°at O. AB is extended to P then, SPBC =?

& ¢ aMpfa W, O o 1 s & =9 ABC %5 O W 130° &1 il
A 21 AB I P ek SI@rl T @l v PBC =2

C
130
p
A\/B
(1) 75° (2) 115°
(3) 65° (4) 80°

Q.49 The average of 30 numbersis 12. The average of first 20 of them is
11 and that of next9is 10. The last number s :

30 HEe w1 e 12 1 U 20 Hemst 1 SAGd 11 € qe s9d
A T 9 S 1 ArEd 10 B, Afon gen € -
(1) 60 (2) 45
(3) 40 (4) 50

Q.50 Ofthe 2000 inhabitants of atown 60% are males of whom 20% are
literate. If of all the inhabitant 25% are litrate then what percent of
females of town are literate.
Teh % 1 SEEA 2000 € TG W 60% o0 € ST 20% HER 7|
e W SHEA 1 25% HER € f Afgerat s fhan gfaerd wen 8-
(1) 13% (2) 22.5%
(3) 45% (4) 32.5%

Q.51 Apersonweighs 750 N on earth. The mass of this person on earth
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and moon would respectively be.

(1) 75kg,12.5kg
(3) 750kg, Okg

(2) 75kg, 75kg
(4) 12.5kg,O0kg

fore =afert &1 geat W 9R 750 N B1-39 =Afe 1 gea To =g T
SSIHT ShHRT: B - (g=10m/8?)

(1) 75kg,12.5kg
(3) 750kg,0kg
Q.52
(1) 12gofH,O
(3) 12gofCO,

(2) 75kg, 75kg
(4) 12.5kg,0kg

Which one of the following has the maximum number of O tons.

(2) 12gofO,
(4) 12gofCH,

frfafed | 9 forad wmost 1 Sen stfisha g -

(1) H,0d12g
(3) CO,d12g
Q.53-56

(2) 0,d12g
(4) CH,d12g

The pie chart given below shows the spending by a family on
various items during the year 2012. Study it carefully and answer
the questions that follow :

== = T Wi = A 2012 § T IRaR g1 faf= aegsti ) e
TG TEiE e 15 Hehie YRS LFTH A T T HF B W

Others Transport
VE ifjokgu
0 .
Saving 15% | 15% Education
i<ib
cpr
12%
15%
15%  /Housing Loan
23% %) dk .k
15%
Food .
Wit Clothing
diM

(IRER g a9 2012 ® fafv= axgetl | e U @< &t yfawe
HTAT/Percent of money spent by a family on various items during
theyear 2012)

Q.53 If the total amount of money spent during the year 2012 was Rs.
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5,00,000, what was the amount spent on clothing?
I 8 2012 | fRan 741 e @@=t 5,00,000 TFF o1, T HIST T fhaT

=t forar man?
(1) Rs.5,00,000 (2) Rs.1,00,000
(3) Rs. 75,000 (4) Rs.50,000

Q.54 How much money was spent on housing loan and food if the total
amount spentwas Rs. 5,00,000.

R T R/ Al WeF R fra T @ feen T, Ak o =i

500,000 en?
(1) Rs.1,15,000 (2) Rs. 75,000
(3) Rs.5,00,000 (4) Rs.1,90,000
Q.55 The maximum amountws spenton.
(1) food (2) clothing
(3) education (4) housingloan
forg W sAfishas @= fohan T -
(1) s (2) #7
(3) werE (4) X HT R
Q.56 The ratio of the amount of money spent on housing loan to that
spentontransportwas:
TR o 01 T fohal T w qen uRaes W T T @ 1 STUd of -
Q) 1:3 (2 31
3) 1:2 4) 2:1
Q.57-60:

Read the following passage and answer the questions that follow :

Body Mass Index is a sign of good health. BMI is a method to
evaluate whether a person is obese or overweight. It greatly helps
to avoid diabetes and other metabolic disorders. A high BMI
indicates that the person is more likely to suffer from diseases
such as diabetes etc. If two persons with different heights have the
same the shorter ones BMI is more than that of taller person.

Body mass index formula is given by World Health Organisation
(WHO)as:

mass in kg
Body MassIndex =
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(heightin metres)?
For example, height of person Aiis 1.55 m and her mass is 55 kg.
Her BMI can be calculated as follows :

_ _55
BMI' = {Wssy

For adults, anideal BMI is within the range of 18.5 to 25 kg/m?.
The given table shows the BMI and the category of the person:

=22.9kg/m?

Category BMI (kg/m?)
+ Underweight (less mass) 16.0-18.5
+ Normal weight (ideal mass) 18.5-25
+ Overweight (slighty more mass) 25-30
+ Obese 30-35
+ Severely obese 35-40
+ Veryseverely obese above 40

fFfafEd eT=es & 9feT der T 7T a9+l oh S| Y -

ckM+h ekl baMsDI (Body Mass Index) 37=s T@&ed &1 Yt
21 BMI T et ® T5e® var oman s e ¢ for foeeft safaa &
a5 el stfush € 1 iR 98 Wi B 98 SR HyHE Td o
SUT=R AW G S § e w21 3t BMI 1 s @ T
e i Te[HE TS I EH HT AR ARHT 1 AR 3 A et
SHEE G © W oo {91 @ IR BMI kel ST, df & S
(F]) arel Afd T BMI 3T g fava @red e+ (WHO) g1

f&w e g o erEn-
AT - T (T #)
(BMI) (ST HieX H)2

ISR o AU, Aafe AhT ®e 1.55 . 3 o5 55 T ©, af STkt
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BMI BT -

_ 55
BMI = 755y

STEh| o 3MTeYt BMI T UfER 18.5 | 25 kg/m? @1 = <t 7ot aferent
T =for 1 BMI TS STRT o <911 7901 @ -

=22.9kg/mz

oxZ BMI (kg/m?)
. H SeIAE (ST) STl SHferd 16.0 — 18.5
Ml I oA (SIST) et SH ok 18.5 — 25
il TR SmM (SH) aTen Safad 25 — 30
W HreT = 30 — 35
W R et safaa 35 — 40
W sTeafie Hier At 40 ¥ 3

Q.57 < =AfRE A, B 3R C &1 =g (%) 170 U 21 A, B 3fX C &I
TN 1 70 ToRT, 80 TR 3R 65 form 21 fore =aferd =1 BMI
TIUFAT -

Three persons A, B and C have the same height of 170 cm. Mass
of A, B and C is 70 kg, 80 kg and 65 kg respectively. The person
with the lowest BMI would be —

1) A (2) B

(3) C (4) Allwill have the same BMI
Q.58 fUdl ®1 HaE (FT) 160 UH 21 SHHT T 60 THUT B1 SHHT BMI

(kg/m2) & BT -

Height of Arpita is 160 cm. Her mass is 60 kg. Her BMI (in kg/m?)

would be —

(1) 234 (2) 24.8

(3) 22.3 (4) 25.6

Q.59 i =AfeRl X, Y 3R Z %1 BMIHHI1: 24.3, 32.3 3R 27.8 &1 9eHE ©
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Hifed B 1 e A ST fohEen © -

BMI of three persons X, Y and Z are 24.3, 32.3 and 27.8
respectively. The person who is most likely to suffer from diabetes
is—

1) X 2 v
3] z (4) OnlyXandZ.
Q.60 Tl =afer 1 BMI 26.9 B1 4 STh! S=ig 1.5 1. ®, 1 SHehT oo
(SoHHM) B -
BMI of a person is 26.9. If the height of the person is 1.5 m, her
mass will be —
(1) 56.5kg (2) 56kg
(3) 70kg (4) 60.5kg
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ANSWER KEY
Language Conventions (Hindi)
[Question1to 8]
1. (iv) A= S&AE=S
2. (i) IHd
3. (i) FHHD
4, (i <u
5. (i) SUgW
6. i 9
7. (i) =™
8. (i) e
[Question 9to 16]
9. (i) 3T T &
10. (i) ST HME R
11. () </ H hIel g
12. (i) U
13. () wSRBMI
14. () SHEAL
15. (i) =RH g giawn faermn
16. () Wk WHM HEA
[Question 17 to 24]
17. (iv) TSR
18. (i) W@
19. (i) Sftem
20. (v) faum

21. (i) HIER
22. (i) oT=REY™
23. (v) STR_H
24. (iv) STERH
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ANSWER KEY
Language Conventions
[Questions 1to 8]
1. (3) unusually
2. (1) simple
3. (3) encouragedideas
4. (1) clear
5. (1) half-ball shaped
6. (4) verysmall
7. (3) curving/swelling outwards
8. (1) scientists

[Questions 9to 12]

9. (2) perhaps

10. (4) eliminating

11. (4) manyofthe more
12. (3) identify
[Questions 13 to 16]

13. (3) amazing

14. (2) parts

15. (1) claws

16. (3) attack

[Questions 17 to 20]
17. (3) inviting

18. (1) personal
19. (3) carried

20. (4) spacecraft

[Questions 21 to 24]

21. (2) thought

22. (3) wassuffering
23.  (2) left

24,  (3) had
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Questions 25 to 42 — Section B
Qualitative Analysis

25. (d) Arabiansea
26. (c) 110K

27. (b) Friday

28. (c) 22Revolution
29. (a) Residents

30. (c) 20
31. (@ B
32. () A
33. (@ C
3. () G
35. (d) D
36. () E

37. (c) C conclusionland Il bothare correct(W>x,x=y,yCz)
38. (a) a onlyconclusionliscorrect(P=Q,Q>R,R<S)

39. (c¢) conclusionlandll. Bothare correct(M=N<O<P)

40. (b) onlylliconclusioniscorrect(JC K<L<M)

41. (a) onlyconclusionliscorrect (ECF>G>H)

42. (b)) onlyconclusionlliscorrect(PC Q=R>T)

ANSWER KEY
Questions 43 — 52 — Section C
QUANTITATIVE ANALYSIS

43. (2) 100cm

44, (2) 48cm

45. (3) 81

46. (2) 15400m?2
47. (3) 2500

48. (3) 65

49. (4) 50

50. (3) 32.5%

51. (2) 75kg,75kg
52. (4) 12gofCH,
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[Questions 5310 60]
53.  (3) Rs. 75,000
54. (4 Rs.1,90,000

55. (1) food/ssH
56. (2) 31

57 (3) C
58. (1) 23.4
59. (2 Y

60. (4) 60.5kg
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= ghae / Test Booklet Code = gwoe 9. / Test Booklet
No.

A4

Series: HRL/I
FHET-|HET AeRe / Problem Solving Assessment
CODE No. 091 P

g 1AM : sTfeeRad afeh : 90

Time allowed : 2 Hours Maximum Marks : 90

TSR IheIT T 32 T53E | 3H S ohele o 6 Toh Bt 5161 ek 319 3h1 LH1 i oh el 7 il S |

Thistest Booklet contains 32 pages. Do not this Test bookl et until you areasked to

doso.

weeyqui a9t/ Important Instructions :

1. WU TH IR Fehole & IS T | 516l MYeh 2 Iehele i Wi o fera Ffera foran sime qa
IR I e FhTet, 3R & -1 IR &5 -2 T St ot/ et difct IS herd o A1 FraerT
FAR W
The answer Sheet isinside this Test Booklet. When you directed to open the
Test Booklet, take out the Answer Sheet and fill in the particularson Side -1
and Side-2 carefully with blue/blck ball point penonly.

2. THITRIHOR & AU IR JHOR FIS 14 T | T I e St X 3 foh T gahele HhIg S W
T o 8 -2 H i T a8 2= geheie W ot sk | fagmfa & ume, 8 fomnedf g Sl o
FHTIE S I T ohl aqer oh [T 1 &7k hl ard
TheTest Booklet Codefor this Test Booklet isA4. The Student should check
carefully that Test Booklet Code printed on Side-2 of theAnswer Sheetisthe

sameasprinted on Test Booklet and theAnswer Sheet.
3. TR IFHORH 60 T T SN T TR Tt i st H et € 1 ferenfef=i s @eft we wme stavas

Tt uH 24 yeAT T ot 7 18 YA SR SR H 18 T T |

T ; AT STER (YT H. 19 24), 3 ol : UMb (U9 G. 25 H 42), 3 2 AEAHS qh
(ITT43960)

Thetest booklet contains 60 questionsdivided into three sectionsA, B and C.
A Student isrequired to attempt all thethree Sections. Threeare 24 questions
inSectionA, 18 questionsin Section C.

4. | A it w9 wgfasedt we (M CQS) | 37 e § %8 3=k o sigiaskedt MCQs
T § Safeh TR Faw sgfashedt 2ok gva ¥ | S/afe g faw sgfaswedt (MCQS) e €157
it et o =R ke €, 9 3 haret Uk faehed wi@dt € | fomnfel=i <1 wet fasheq o1 wom s
¥ IR Tl A SR U | Y9 & G TR |
All the three Section contain multiple choice Question (MCQs). Some of
three questions are passage based MCQs whereas others are stand alone
MCQs Each of these question out of which only one option is correct. A
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student has to select the correct option and fill the corresponding umber in
theAnswer Sheet the question.

5. e W 1Y% 37k T € | e Tl e o T farnfefE it 1Y/ ek T | Rt off wee
ToTT TR RIcTeR 37eh el © TR ST UeHl & forw snig 37k =i fareii |
Each Question carries 1¥2 marks, for each correct response, the student will
getl¥2 marks. There is no negative a marking for any of the questions and
unattempted question earnsno mark.

6. Tomnfeai ol o797 ST T YL W 3uferd sl Ty for R 3ufeerd oo W gEmar fone fom
TR gl Tel ore € | o faeneft 3 sufeerd vie W axdesr 7& fh € o1 SR usten fteres =t
T a2, T W 1 STfed e & W & 9§ T §UHRATE S ST |
The student's should not |leave the examination Hall without handing over
their Answer Sheet to theinvigilator on duty and sign the Attendance Sheet.
Caseswhereastudent hasnot signed the attendance sheet or the answer sheet
handed over totheinvigilator shall bedealt asan Unfair meanscase.

7. o0 U R, fomnfei g sw ase , At/ g § 3ufted fiee sl S Sed 7 |
On completion of the, test, the student MUST HAND OVERANSWER TO
THE INVIGILATOR intheroom/hall. The student are allowed to take away
thisTest Booklet withthem.

8. WY foewu ferem iR S ek ot =1 3l i sifehd e o foaq Shaat fiel/ el st
T2 SHeTH h1 & STANT L |
Use blue/blcak ball point pen only writing particul ars on this page writing or
marking response on answer sheet.

9. fomneft 1 oe gHfe=m e =fe fof ST vite Tt A Afmra 7 2 | ST T W AT o sifafem
EUEEEE I
The student should ensure that the Answer sheet is not folded or damaged.
Do not makeany stray markson theanswer sheet.

10.  foremeff qdten g | oT9H =RV & oy H 9IS @ Hefed 9t fraw iR fafem @ wfaa
T | e e & Geft wme s sie % et oiR ottt & w9 & | frver smom |
The students are governed by all Rules and Regulations of the Board with
regard to their conduct in the Examination Hall. All cases of unfair means
will bedealt with aspeer Rulesand Regulation of theBoard.

Tetertur wEA / RegistrationNO. ...

fréieres < g&arat/ Invigilator Signature
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T - T (TS W)

Titentea & fog fce

1.

78 Tg 31 fanfefdi & feru & St i TR (Heg-ed dagemesyae ) Eue
& F=id fee! faoa H wen S aed ¥ |

A EUE § Hl 24 TGS I § | et 31 & qen Uik U9 1.5 ST H R |
T o1 9Lt ef qfedept § 59 JaTsH o foTt S 7T Tref! T\ R E &1 |
Gt W had OMR I I T & 3HTohd Y | 3T W SAYeleh 3AThd hY |
I IE v T {7k T FANT g ¥ |

@Ug (37) AR  FTIART
Frfafed gv1 g 1 9 18 Wet fasked -
‘3T I g o W R e § - TR €7

1)  HHHS

2)  3HHB

3)  WomedeR

4) QAR

" FHIIHHR Fgd el § 1 T | hA-1 g ¥ 2
1) TUETES

2)  URHETETE

3)  Hhdadrdas

4)  GEAEES

‘o ISt agd @il © 1 are § giRe ¥
1) ’

2)
3)

344 3

4)

1
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4. T T TG W= ®

1)  9wifgsh
2)  Higs
3) H«Ee
4) gwfedh

5. “F IR-9IR ST a1 Tt 37 @l § | SR § g fomanfarsem ¥
1) HcEES

2) AIEELEED

3)  dfder=es
4)  GREETES
6. ‘oo’ v # ffed Sue ©
1) e
2)  eH
3) T
4) o
7. 15 -faame FfaEfTar § Tk Se qat H sierdn § S T TR e
1) foua
2) Ty
3)  wWE
4) quy

8. Yerme) e W redt ¥ 1 {@iferd ug | T FRE ©

1) ol
2) ®H
3)  Hey
4) AR

2
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G (&) Haef yregraeit
- frafatad uv= 5= 9 9 16 1 9o Sfua faseq &1 =9 ifsu-
9. “TteTT T IR0 G T i o fae w1 9 foem @ sma ®
1) e RS
2)  sTvedEfeRd B
3)  9gd g9 o
4) TR
10. ‘TR TS ER Sl EE S IR s e o | s I § f uere ' 9 arferara B

1) TS HIWE A
2) RS HId@ugdendn|
3) URISSEIge

4) T81S T A6 ohl g hicd o1 |
1. RIS R HHUS T | LEiohd U1eE o1 AL
1) el ohl STHEE

2)  HEBA
3) Qi AT
4) <
12, o= I YT R HHTER G a1 Ted 1 Sl ot | Wi ST S §
1) IS
2) WS
3)  =afher
4)  dRIGETN
13, ‘ool S R Sem ot | SR Sie @ st §
1) gREdA
) HEEAR TR

3
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14.

15.

16.

3) aE A ot

4) SRR e

g SR AT, IR Tt el B 5Ot AT 9o 178 | J@ifend 3791 o1 37 §-
1) THhfogwdd

2) THe-fad e

3) S FrmmEE

H 8 9 & AR § AR RIA R R ? TR IR AT T o ?
e T U h FaT e |

1) THEfogRd

2) THeh-TgE g

3) WIARAR

4)  AA-drRd

FIRE(EEE | KR K| i | OO T ST | SR T8 Y SR U 1T |
1) 9l

2) R

3) &9

4)

4
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TUE (F) TG Ufel ShifeTT
Frder - e fu T ST=eR b1 UG U9 98T 17 9 24 H 3fud fashey o1 <o shifse-

IR e STR qierensti i T 17.... T i Gra HI e F

FET(01 i AT B S |
17. feTem207?
1) =%
2) &M
3) kejes
4)  ¥gd
18. TeRwm17?
1) HHSIR
2) w=
3) =
4) B
19. e T 18 ?
1) ™
2) WA
3) W
4) TR
20. fedem19?
1) &
2) I
3) =l

5
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4) H
21. TRedwam24?
1) #H
2) =&
3) Exl
4) TR
22. TeawaE21?
1) S EAIGIEED
2) g
3)  Sdlfheh
4)  Heunid
23.  feEwam22?
1) &
2) &
3) @l
4) H
24.  TEdwaM23?
1) IR
2) "I
3) A
4)  oArai

6
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Section - A (Language Conventions)

Note : This Section of the question paper contains 24 questions in the English
Language. A studentisrequired to attempt all the 24 questions.

(Questions 1- 8) : Read the following passage carefully and select the most
suitable option from each list according to the corresponding number in the

passage.
Itlong been proven that meditation can reduce

stress but scientific research now shows.
that it also provides other valuable benefits.
Practising meditation can lower blood.
pressure which subsequently reduces the risk of
heart attacks. Meditation can also improve the
performance of your immune system, helping you to
stay healthy. It also has advantages for
students since it can improve the ability to
consentrait and deal with life's problem.
In line 4, the word "practicing' could best be replaced with
1)  Applying
2) Rehearsing
3) Trying to do
4) Regularly doing
2. Inline 1, the word 'proven’ could best be replaced with
1) sure
2) shown
3) claimed
4) reveaed
3. Inline 3, the word 'valuable' could best be replaced with
1) adequate
2) generous
3) important
4) expensive

© O N U~ OWDNRE

o
O

7
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4. In line7, the word "performance’ could best be replaced with
1) routine
2) operation
3) achievement
4) presentation

5. Inline 5, word 'subsequently' could best be replaced with
1) also
2) then

3) similarly
4) successively

6. In line 10, the word 'problems’ could best be replaced with
1) events
2) efforts

3) obstacles
4) occurrences
7. Which of thefollowingisthecorrect spelling of theword'consentrait'?
1) concentrait
2) concentrate
3) consentrate
4) consentraite

8. Which of the following is the opposite in meaning to the words 'hel ping
youto'asthey areusedinline7 above?

1) aidingyouin

2) helpingyouin

3) reducingyoufrom
4) preventing youfrom

8
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(Questions 9 - 12) : Complete this passage by choosing the most suitable
word/phrese from each list to fit the corresponding gap.

Teenagersfrom 9 well-of familiesare becoming moreindependent of their
parents. Althoughitishardto__ 10 thecausesof thistrend, mobile phone
and shoppingmalls__ 11 have given them the ability to choose their friends
andactivities_ 12 parental supervision.

0. Which of thesefitsgap12 ?

1) despite
2) without
3) involving

4) eliminating
10. Which of thesefitsgap9?
1) mostly inthe
2) mostly formthe
3) many of thefully
4) many of themore
11. Which of thesefitsgap 10 ?

1) link
2) show
3) identify
4) attribute
12. Which of thesefitsgap 11 ?
1) rather
2) perhaps

3) meanwhile
4) furthermore

(Questions 17 - 20) : Complete this passage by selecting the most suitable
word/phrase from each list to fit the corresponding gap.

Firewalking referstotheactivity of walking on hot coals, rocksor cinderswithout
burningthesolesof 17 Insomeculturesfirewalkingis part of areligious
ritual, whileinothersit 18  aconfidence-building activity. Walking across
hot without getting burned doseseemimpossibleto_ 19 people, butinfact
there is a scientific explanation for why walking is possible. 20 fire

walking tapeinto mysterioushuman capabilities.

9
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17. Which of thesefitsgap 20 ?
1) Therefore
2) Generally
3) Doubtfully
4) Presumably

18. Whichof thesefitsgap 17 ?
1) onesfoot

2) onesfeet
3) one'sfoot
4) one'sfeet
19. Which of thesefitsgap 18 ?
1) isconsidered

2) will considered

3) had been considered

4) would haveconsidered
20. Whichof thesefitsgap 197

1) afew
2) many
3) more
4) several

(Question 21 - 24) : Complete this passage by choosing the most suitable
word/phrase from each list to fit the corresponding gap.

Ice sculpting is an artistic endeavour that usesice astheraw 21 for the
creation of art works. Sculpturesformicecan 22 abstract or redlisticforms
andare 23  associated with short term events or festivals 24 their

limited lifespan. Several icefestivalsare held around theworld each year.
21. Which of thesefitsgap 24 ?

1) dueto

2) on behalf of

3) accordingto

4) for the sake of
22. Which of thesefitsgap 21 ?

1) form

2) aspect

10
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3) material
4) equipment
23. Which of thesefitsgap 22 ?

1) takeon
2) takeup
3) takeoff
4) takeover
24. Which of thesefitsgap 23 ?
1) coldly
2) generally

3) extensively
4) infrequently
1 - it (TSR Teh) / Section - B (Qualitative Reasoning)

11
Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

U9 25 | 42 / Questions 25 to 42
W favam § o 79 fha e 9 €, Tegd i € iR 519 T &1 SHaer
T3 Gt R T 99 STeAcht § | 27899 9% T § o @ s T okt faferse syremmsti &
i Sred ¥ | T 1 =9 L] gAY Fese 39 o1d o1 &4 @ © T i 1 @l st
T 3R el W Y9 B Hhar & |
AR R F=fafed 7o i & @ =i 9§

Hten - favarg, 3emH, 3erE

- e, ¥, THd

T - g, T, A=

den - e, S, we

A - T, S, e

ST ST ShT ST i §U Frferfed g9 s ST e -

Colours are believed to influence how we think, feel and behave. Studies have
shown that peopl e associate certain col ourswith emotions. When choosing clours,
designers consider the impact they may have on people's understandings and
feelings.

Commonly recogni sed associ ationsinclude:

Blue -trugt, cold, sadness

Green - balance, calm, freshness

Purple -leadership, wisdom, intuition

Yellow - happiness, warmth, fun

Red - heat, energy, appetite

Usetheaboveinformationto answer thefollowing question:

25. U TEAAIE o Gl o T, - T il Fordl Afeeh B i He1 shiE-d

it 2t 2

1) iR

2)  remsiRdien
3) USRS

4) o ST e

12
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For ahospital interior, the colourschosenwould most likely by

1) greenand red.

2) blueandyellow.

3) greenand purple.

4) purpleandyellow.

WO 1 I8 AT § R 7T Aehl o HILTEhR & folt o 11.00 o191 T Tga
% fausH- draga |

26. R H o oM § frefafed e § 9 SH -9 ol w1 Hewyul § ?
1) IE s ST |
2) IEHARIEIEEA|
3) SEIETH O A 9ud |
4)  HIE11.00 99 Y TEe U= o feaq 32 fert o qehg 1 ¥ |

Praveen needsto decidewhich hub to catch tomorrow in order toget to his
jobinterview by 11:00a.m.

Which of the following factors is least important in making a decision
about thismatter?

1) Thefrequency of busservices.

2) Thenumber of seatsonthebus.

3) Theamount of timeit takesfor thebusjourney.

4) The number of buseshewill need to catchin order to arrive before

11:00am.
27.  zEHYTH Mied Gadi W faam i :
Teaft & foTe S TST I8 Hehe & foru et |
Frefafed wee &1 e R TS F-8 9e W © 2
foraTel o T S ereres o % fau festar |
1) o=k
2) W
3) @
4) Testahen

13
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Consider the relationships without this statement:

Bird is to worm as spider is to fly.

Which of the words below completes the following statement ?
Writer is to book as painter is to

1) easel

2) brush

3) colour
4) painting

28.  Afg I few vresi =l 7Ifd & SATER (Wed R & Hol I &1 % ) HHeg fwa
TN B A G UE hiF -1 ITe8 ST 2

1) EESRI
2)  HETEe
3)  IEcTheH!
4) ST

If the words bel ow were organised according to speed (slowest to fastest)
whichwould comefirst?

1) skip
2) plod
3) stroll
4) toddle

TeTaR Ut @l § i1 o Hag = wnfegeh o1ef | s1fush SUfta s € |
29. e s fau@E, U A g4 |

‘T TH A H TR E |

1) A, SO o fed H Hewri € |

2)  SEARFHETHA AT AT

3) AW FE TH & L H A HL @S

4)  UH E A & fehe & Wi ARl o T 9E |

Idioms are saying that convey more than a surface or literal meaning.
Select the correct, deeper meaning for thefollowing idiom.

14
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‘We're all in the same boat.’

1) Peoplewho shareacommon interest.

2) When everyoneissittinginthesameboat.

3) When everyoneisfacing thesameproblem.

4) A group of peoplewithticketsfor the samecruise.

30.  TTIAEIH Y HIA-TIS Hell & o Tk s bl qeiar g ?
1) IEYE g H A S g
2) TS Y AR ST RIS |
3) TERIsHHR S A HISI T T |
4) TS S EAER & S IS TS |

Which of these statementsreflectsacontrast betweentwo fruits?
1) Thisappleasbeautiful asapeach.

2) Thisapplenot dissimilar toapear.

3) Thisappleisnot assweet asthisorange.

4) Thisappleisgrownonatree, likeaplum.

(UF 31 - 36) & FMEATARET TS hi UfGU AT T T Y91 o ST ST &, ?

(Questions 31 -36) : Read the following passage and answer the questions that
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follow :

S S, ST AR T, T Thet ¥ TR W1 S U U iy X5 ¥ TRt o, St
3T e AT 9 | Ueh <4, 9el 3 Tl W TR W o, ot afedn wuS ued s Afgen
Teieeh L& o & To¥l 511 o STet QIS - {0 T & off | g ol Tk o Tl ot ST
TR ZASR F3 T o, TR 3T STegarst | 1,000 o i A1 SHS TSorT 9 e gu STHaT o
IR & I ewy W IR 7T | 31fHer e 33 & o gent arfer S| Afgen @i e arad &
Teh, TAfeh SHH Ue] T a8 W1 & T, ST A Ael W IR W 3= four fean | i
B FIdich a1 < Tell SHE Teet &, Hieetl ggargl # Soreft H SIgt STl oS =i H g wfedt
T

SAfH STet & St T TS T Tqe 9 4 oT0 wha 918 § era fod 91 gu
FAEE " I AR S | I TR gRR TR S 1 e g, Sl Sl gRhee
Garett, et gt =S WieH aTel T Tehd & | 59 TR URaR i 6 fael o1 $7Tae e
H Heg foert 3iR AR ure q@ ot yatad Tar a=m 998 &1 TE & o 31=st <o
Gohd &1 I8 G a1 &0 W TR, Afeh 3 grer U9 e € | o 38 g ' L e
TR TR 3 Ui & ey Fr whoft s 12 e | e vl g AfHaT gt IR, 3T Sl
% T8 T e STTer SIS h Jal § qWRM ohi T8 G =ei! AT |

Tow friends, Bina and Amita, always waked home from school together an
exclusiverestaurant, often visited by foreigntourist.

One day, just as they were walking past the restaurant, a well-dressed woman
tourist bustled out of the main entrance. She made for ataxi waiting at the curb,
and in her haste, “1,000 note fluttered from her handbag to the footpath beside
Amitasfeet. Amitabent to pick up the notsto return to the woman, but before she
could do that, Bina stepped on the notes, hiding them from view. Before Amita
could react, the woman scrambled into the texi which accelerated away into the
traffic.

Amita quickly turned to face Bina who had deftly scooped up the money and
stuffed it into the top of her school shirt. "What are you doing?' she raged. "That
money doesn't to you!" It doesnow" smirked Bina, "finders keepers. Thiswill my
family pay somebillsandwel'll still have enoughleft over to buy ourselvesatreat!"
Amita was shocked at this. "But it's not your money. You've stolen it! I'm not
having anything to do with it to you ever again!" And with that, Amitaturned on
her heel sand stormed away, leaving her friend with apuzzled |ook on her face.

31, 31K 2 3R 3§ aftfa frefafed 8 @ sm-ar el & erfed 71 o ?
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1) IR feEa g

2) AR R R T

3) IqUE 9 T R

4) AT RT3 & forw gk

Which one of the following action, described in paragraph 2 and 3 was
inappropriate?

1) hidingthemfromview

2) Binastepped onthenotes

3) deftly scooped up themoney

4) Amitabent to pick uothenotes

32. g IT=R Y, I FA-w3iTa Far § 6 afeen TR S i € 2

1) EpECY
2)  g=am
3) W

4) A RIS TG
Which of thefollowing from the second paragraph, indicatesthat the woman may
have been wealthy?

1) tourist

2) handbag

3) restaurant

4) well-dressed
33, hH-TX YIS SRl o YT fyd o Herd 315 9 i g ?

1) A

2)  wEfaard

3)  Ha®

4)  drEy

Whichword best describesthegirl'srel ationship at the beginning?
1) kind

2) wary

17
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3) cautious

4) amicable
34. I UIEERIT % &Y H G SR qlieh I it bt ST Hehel § |
1) Th TR
2) ST
3) T gfaen
4)  THEEA

thistext could nest bedescribed as
1) apuzzle.
2) adebate.
3) adilemma.
4) adiscussion.
35. T ITISRR o foTU Grd 37d o § il orardl & foh et ferai 1 3faa s foam |

1) 37Tt e, ST = Afan & T Ui H feie R S o1 USRI 1 |
2)  owTel fea, afar 3 i | gerrehrd st 3R uiv i ¥ T g sus wny T

i fee e i |

3) TH HS OG, A1 A 9 H a9 foren AR AfHar ¥ 9 arw A &
feuAeg F HI g |

4)  SMERER, < IR 39 T % IR H e T 3R fr & o 31 S
Y |

Which of the possible endings for this passage shows girls acting

appropriately?

1) Thenext day, Binaofferedto sharethemoney withAmita.

2) L ater that day, Amitavisited Binaand demanded that she sharethe
money with her.

3) An hour later, Binachanged her mind and asked Amitato help her
returnthemoney.

4) Eventually, the two friends forgot about the incident and become
best friendsagain.

36. ARl i SR ohl TR Ug T form feerfa o1 et frshtem & foe, R =t s
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% ST, SAHAT

1) SR R IS ] Hehd ot |

2)  Heg o foru fercett Herdt ot |

3)  gfcra ol i | a1 i o foTe he wehd ot |
4) ST e fefq W == s wehdt o |

To resolve the situation without damaging the girls friendship, instead of
walking away, Amitacould have

1) chasedthetexi.

2) shoutedfor help.

3) askedthepolicetotalk toBina.
4) discussed thesituationwith Bina.

(W9 37 - 42) & FreafeTiad ST=g ohi ufeq a9 fEu e wo=i o ST it :

(Questions 37 - 42) : Read the following passage and answer the questions
that follow:

IR THI Igel 1870 H, a0 T ==l ol Hfxd < il Tehrileh faehfdd g3 qel qwaTh.
FHUFE! A 7T FERET ol QAT <A o TTT SHRT ST HEA1 & R |

Teitel iR fheH faari dfed gfiag @l & oo w6 Wfsd IS R e & Yehe
& | Hrel qoh, IfAeRTst, FHER U iR fafmrerl § fore w1 famtya foan o
ferorl # o & Ui HehRIcHeh REhivl <l serel 34 & ferg g il o1 g&amre
ERI

3 fame & fagmaai # efaedl, <a fafecent, ufag artl IR T foa ® fReid &t
SIEdl & T A hd U TS 71 | 3l ShiE Tiel UeTe -Te fewl |

37: AT SATEAST o1 el & foh fheiRi 3Tk areni & o= fame =1 od 8 &1t gfg
TS | SHY A had YUIH 1 7d § IG5 g, dfeh o J garel Al 1 i ge |
STARTSET TYE STa i & foh qaiTdh, Teh ek ScUIg & Sl ARG | 9% 3 Uiy 3s
TS

T & H, {3 <9 A fame fafaed &1 fame & ® e W yuue & fagg Jae
ferem o fT ITeR ST S I o1 € | I8 <IdTer Y9 o o TR o fe@md & |
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ST AR ST IR & & had, ek FRT oft o6 @il b1 (I SIS |
Way back in 1870, when the technology to print col oured pictures was devel oped,
tobacco companiesbeganusingit to promotetheir cigarettes.

Famous people, including athletes and movies stars, were pictured on cards that
wereincludedin each cigarette packet.

For years, cigarette were advertised in magazines, newspaper and cinemas. These
advertisements used many strategies to promote positive attitudes towards
smoking. Doctors, famous people and healthy |ooking teenagers having fun with
friends were shown in cigarette advertisements. There wasn't a dirty ashtray in
sight!

It isn't surprise, therefore, that addiction to cigarette among teenagers and adults
increased greatly. Not only did addiction increase, but smoking-related desthsal so
increased.

International groupsclaimthat tobaccoisalegal consumer product that kills. This
makesit a perplexing product. Recently, some countries introduced lawsto force
cigrattete makersto place warnings against smoking on every packet of cigarettes.
Thewarningsshow someof the consequencesof smoking, such asdiseased lungs
and mouth cancers, but many peopl e continueto smoke.

37.  frAfafEd wem 9 aH-91 %R0 IR 99TE & Hee I e 2
1) IR YU 9 Satd A
2)  foreiR SRR & |1 wel L
3) e SR IR RS TR HE S e
4)  fo=med AR afseRTd, TR O SR e

Which of the following statements shows a relationship of cause and
effect?

1) addiction and smoking related deaths

2) teenagersand having funwithfriends

3) warningsand diseased lungsand mouth cancers

4) advertising and magazines, newspapersand cinemas

38. Sl SR T Fafercaeni 1 ¥ 3 fomm ol famme € Je gema sa €
1) femRe R A gefa e
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2) YU I AT Hhe SR AR E |
3) YU YA A TRy 3R ST T |
4)  fome fFd o e & fau e T S|

Advertisements showing doctors and dentists smoking cigarettes are

designed to suggest that:
1) cigarettesarerelatedtoillness.
2) smokersare successful andrich.

3) smokersare healthy and attractive.
4) cigarettesarenot harmful to one'shealth.
39. fame fou g fommm e fom w© fasikt = figsi & e aen o feema ¥ |
T I & T3 T AT 2
1) Y T el SR |
2) TR fRIR YU A |
3) fomewien s fauimed s vsar s |
4) U HHRIHS g6ZhT0 Sl TGS |

Some advertisements for cigarettes show healthy looking teenagers
having funwith friends. What i sthe main messagethis presents?

1) Smokingisadirty habit.

2) Popul ar teenagerssmoke.

3) It costsmoney to buy cigarettes.

4) Smoking promotespositiveattitudes.
40. THOE HHSAERITTH:

1) IS i YHIH el hid & fel T FAMT |
2)  TReiR IR U S o sl =iy |

3) T oI hi I =aTeT 9 YehTSl ST |

4)  foQTo ot B TR TR S SRt T |

Themain purposeof thisarticleisto:
1) convincereadersnot to smoke.
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2) advertiseto teenagersand smokers.
3) highlight warningsthat have beenintroduced.
4) draw attenuation to certain advertising techniques.

41.  Trafafed fammm giadi § A wE-d quuE Sl Fa FE & B A ?
1)  S¥ICAEH! Bl STAN
2) TS HHE Sl STAM
3) T A I @
4)  uyelel oiR fhen faari =1 feam
Which of the following advertising strategies is aimed at reducing

smoking?
1) using visual warnings
2) using international groups
3) showing healthy looking people
4) showing athletesand moviestars
42. THESH U TR TR 5 % v ' U1 T ST T ?
1) ydfdd
2)  Yedl
3)  fyeAamen
4) STra 1 @R | STt aTetl
What is the meaning of the word 'perplexing’ as used in this context in
paragraph 5?
1) popular
2) puzzling
3) confronting
4) lifethreatening

Tt - Hi (ATATeeh deh) Section - C (Quantitative reasoning)
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9T 43 W 60 / Questions 13 to 60
43.  DEE 400 HeX Sre § T foran |
° A TR & 3TR 2 1= B o oIS SIS TH h1 |

° ST A R & 918 Q1S THT< i |
° RS = R Tl AT SHTE |
° forfie A &t & Tei Qi WHTK 1 |
Ti<rel T 1A 3T 2

1) W™

2) 3

3) TS

4)  fo

Six studentsparticipatedina400-metrerace.

) Ram finished after Amar and after 2 other students.
[ ) Amar finished after Sameer.

) Firozfinished before Sameer.

[ ) Vinodfinished beforeHari.

Who camefifth?

1) Ram
2) Amar
3) Firoz
4) Vinod

44. A fosTelt 61 HAG 6.4 9 6.5 U I Tk 9 TE T | ST o HREM &
o1 arTett forer i sTaret < fe1 600 JF1ed 1 Sw=inT e STuferd € | 367 39
31afy & URY H GeR e TaT | 369 3Y 1 fosref! 1 ST 90% & w1
g3
Indian electricity prices have risen from = 6.4 to ~ 6.5 per unit. Arvi's
factory expected to use 600 units in the next billing period. He installed

solar panelsat the start to that period. Thisreduced hiselectricity usage by
90%.
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et ot foret femamn oign ?

How muchdidArvi'sbill increase?
1) "6

2) ~ 38

3) © 39

4) " 54

45.  ATEEh S TG AIRT & 52 Tl 1 9= Yeh § | 39 Tt o1 =i, gopH 1 <A
TR Gt 3o ToRT 39 T G T2 Weh et f1ahTet |

Treferfer # s i9-91 T 31 1 Terd SeI HHeA S ?

1 e
2) LEIE]
3) UHTHA
4) TR

Bahadrak hasastandard pack of 52 playing cards. He removestheking of
clubs, the four of spades, and al the aces. He then draws a card at
random.

Which of thefollowingisit most likely to be?
1) aclub
2) aking
3) aspade
4) adimond
46.  hdl 9 9 TR DS | T IR TR R o | F=fafed § 9 [ 91 T 3

& g 2

Kavi fires three arrows. Each one hits a scoring ring. Which one of the
followingtotal isnot possible?

)
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1) 17
2) 18
3 21
4 22

TG TR H 7o & 1 | e feercht 1 A2 foig & meag Y gwien T e

Gajraspositionon her farmisshown by thedot onthisdiagram.

uTH T3 W
hay shed

stable

47. AR TN3.54° . e § Tt §, 79 9 foRE iR s @ A ?

1) afy

2) ™

3) SISEN]

4)  HEHRUS

When Gajrawalks in the direction N 54°W, she will be heading towards
the

1) dam

2) pump

3) stable

4) hay shed
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3T H1T a1 o TRT ot 50 off FIARE O A1 = 50 TR BRiGHT a4 R |
IHHT YfdhR (TS HIA ATel) hafed . 250 H 12 SR E. 175 H 7 % T=ai § &l
TR B |

For her parents' 50th wedding anniversary celebration Malinadecidesto

buy 50 balloons. Her supplier only sellsballoonsin bunchesof 12 for 250,
and7for ~175. Malinabuysexactly 50 balloons.

48. 3T KA fohal AT ST T ?

What isthetotal priceshe pays?

1) 1,042
2) 1,100
3) 1,175
4) 1,225

49. 12 foncl o1 ek A T foeett & grerg, 1450 fon. . i gl W ASF R |
= <t 71 rfereht | UrHel o ST -I[eeh i XS TR T |
TheParcel Postage Ratesare showninthefollowingtable.

WA ardel Uee s €F / Indian Parcel Postage Rates.
3T gutt / 2 form ek 2T/ | 2 TRt & SR ues Sifaftam fomnt & o &,
Distance Category Rate up to 2 kg For every additional kg over 2 kg. INR.
INR INR

et / Local 35 5
500 foh.H. T / upto 500km 50 8
501-1000 fo. 9. / km 60 12
1001-2000 f&.4. / km 70 25
2000 . 0. | fer /
More than 2000 km 90 35

T USSR @ fohaHT BT 2

1) %. 85

2) %.95

3) %. 320

4) T. 840
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How muchwill it cost to send the parcel ?

1)  85INR
2)  95INR
3) 320INR
4)  840INR
50. e o T IR Te i gfedi o QR 39 BT QAN Ug! T8 GRSl FEAl
feame |

The graph below shows the number of books read by 39 students during
theschool holidays.

gfgedl F IR e T Teh

Books read during the holidays

12

10

it e O
Number of
Students

1 2 3 4 5 6

gl 1§ YEaeh! sht @& / Number of books read

3TCT TR Y1 A HaN H 311 B o1 gor § 1o fonare Ul | 3R 3w | stferen
el | FHR A &8 g U 7T feRarai Rt et H i foharsl ue |

All and Ram more books than the other students in the class. Hari read
morethan 1 book. Sameer read twiceasmany booksasHari.

HA-HFIT GRS ?
1) FERA 2 fwae gt sk el 7 1 fhae et |
2)  HHRA 3 fohde uet 3R eTel 1 5 fomarsl 9 |
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3) B2 fhae Te SR I\ A 6 fonare Ui |
4) &4 Tmame uer iR 31elt 7 6 T ue |

Which statementiscorrect?
1) Sameer read 2 booksand Hari read 1 book.
2) Sameer read 3booksandAli read 5 books.
3) Hari read 2 booksand Ram read 6 books.
4) Hari read 4 booksandAli read 6 books.
51. TGl o Thol H Ugel el goIg 8.30 oSl Y[E ol Sl § SR Hreft e gag 11.30
T W B S S | heTel o s | 4 FHTe &1 TR 8 | R F N A e i g |

T HET Rt el & 2
1) 41 e
2) 42 e
3) 71 foe
4) 72 e

52.  TTRI U AL STU g1 WiIg, 7Y 3T USHE i TalTs IR I o1 0 i
% T oTTerE W fog 91T | 3TTere 56 X o |

Daha sketched points on the graph to represent his height and weight and
thoseof hissistersFarha, Madhu and Padmal. Thegraphfollows:

Scatterplot of Heishts and Weights

Weight (WR)
3

&/ > Height (#e1%)
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TR TE ¥ T §, Wfehd 7Y 9 T § | 7Y I a9 ISHA & 9 © |

Dahaistaller than Farha, but shorter than Madhu has the sameweight as
Padmal.

3erE R -4 foig STl Teffa e € 2
Which of the pointsonthegraph represents Daha?

1) A
2 B
3 C
4 D

(I% 53-56) : FrAfafen stT=ee =i ufgu qen faw e ge+i & S

(Questions 53-56) : Read the following passage and answer the questions
that follow :

39 U8 R G B WAV I 971 § | Yedish AT § FTeHeh STaf¥Td g
T¥eh Bl § S KO ST Soieeid | for B § | SeTa =fisif & farg,
YFATCH STRT o ST FHOcH AT ki G&AT & THE Bl § i) =iifers 9
TE Th-GER o TR ] fahel i d &, 3] for1 foreht setfohgen ofremt < Bt
T | TTcAlTeh &gl o fIq Tequl SHoMceh ST9al gHTcHeh STORT U il §9d
BT

St =1 vrelt & ot e SRl SITTE B TS ST § 1 Soiaid oh U S &
T TR B St § | o119 J=f yef¥id 2rsi geifdes = &l St I8
TSNt T Hehd & foh SO fohd Tl ST |

Everything on this planet is made up of atoms. Each atom contains a
positively charged centre, or nucleus, which is surrounding by negatively
chargesand becausethey cancel each other out, the object endsup with no
overall electric charge. However, it is possible for objects to gain an
overall negativeor positivecharge.

When objects made of different materials are rubbed together, electrons
may jump from one object to the other. Objectsbecome positively charged
if they loseelectronsand negatively chargesif they gain electrons. You can
predict which way the charges will jump by referring to a triboelectric
chart such astheone shown here.
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Human skin (| =)
Leather (=H31)
Rabbit's fur (BT & %) (AT)
Glass (=T)

Human hair (F354 & =Tel)
Nylon (ATIAt)

Wool (&)

Cat'sfur (foeeht & w) (AT)
Silk (™)

Cotton (=4m¥)

Perspex (Tdte e @ife)
Acrylic (Thfaes)
Polystyrene (dieieaiia)
Rubber balloon (87 1 Ts&)
Polyester (WifelqEx)
Plastic wrap (U2 STl wiifeeh )
Ebonite (3dM132)

T TRTel G SoTRT W o TRt HTaT §- 39 o H H W wetedt bt g
AT it T | STHAR W 6l €1 9eTel ol 3799 B WIS <l § < 98 vgref s
T H 39 TOF W B, YA H A= 3 13 el w1 g 7 soreE @l ]|
I & foru AfS Teh e A whifies 1 S &1 31 & he & T TS
ST T 3 SR T 371 SHY A Y0 €9 I GATCHeR ST 2l St &3R)
THURY UM AR = # 8 T3 o7 wgiedl & o< seioheiq 3Tfueh
LA W TR 8 § | (FSraert areqdd o8 ® fof o1uehi 5% 31af¥d & &
ot st # S1fereh ofel 99 qeh WIS 781 gem) Afg 219 B & e (=
W) & 1Y = ] TSd € A TN o T ] fha) 31, Sl - 3eA1Ee W TS

1 T H Igd hd SeTae i Shid i a0 ST |

Thislist of common materialsisarranged in order of how likely they areto
lose electrons. In general, when two materials are rubbed together, the
material that is higher on thelist will lose el ectrons to the materials listed

30
Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

below it. For example, if aperspex rod is rubbed with a piece of wool, the
wool will lose electrons to the perspex so the wool will end up with an
overall positive charge and the perspex will end up negatively charged.
The further apart the materialsareonthelist, hemore easily the electrons
are transferred between them (which means that you don't have to rub
them together very long to get them to charge up). If you wereto rub glass
withrabbit'sfur, far fewer electronswill movetotheglassthanif youwere
torubtherabbit fur on something likeebonite.

53. T TE SR 9gMiE § 9, fRE o 79 6 W ydE & fo9es W W, W AR 98
HhRIcHeh &9 U =Ts! 8l ?

1) T

2)  GifduE

3)  difafed
4) A EET

Which of these materials, when rubbed against each of the other three, will
become positively charged each time?
1) perspex
2) polyester
3) polystyrene
4) plasticwrap
54,  frefafed awgeis § 9 fhad grgy S ST ?

A B C D

1) A
2) B
3 C
4 C
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95.

ST 1= =01 U % G191 Teh THE T TIST ST dl 98 Fad Sl
TOTRTH TS T |

1) WA

2) Wi

3) THU

4)  foaccimo

Cottonwill gainmost electronswhenitisrubbed for one minuteagainst
1) silk

2) acrylic
3) perspex
4) cat'sfur

5 =gl # forodia seiforgen STomT 311 € of Toh-g8 i AR gt & qen 5=
TG T THM TeifoRah SToRT 21 € o Teh - TR b1 QX Sehard! ¢ | SATaf¥rd a%g
T T AT TG Teh-TH 1 W F&r= S | = e 7o om@ o
Tefeld ¥l € foh <Ta1 TR Th-gER & ke A1 S a%g & Tejeish aR W
ek T A ol I BT -

Objectsthat have opposite el ectric chargesmovetowardseach other while
objectsthat havethe sameel ectric charge push each other away.

A charged object and uncharged object will movetoward each other.

Thediagramsbel ow show what happenswhen different balloonsare hung
onstringsnear each other or near acharged object.

»d
®E  »d
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56. oAl TR HYU ST hH-TTE 2

What aretheoverall chargesontheballoons?

wHE/ A B C
S.No.
1. HFHNIAF / Positive HFNAF / Positive | 18 3mawt &t / No Charge

2. g AT 71&l / No charge | @IS a1 & / No charge R / Negative

3 FHUes / Negative YHNIcHF / Positive | =g 31awT =&t / No Charge

4. oA / Negative IS 3TEW TEi / No charge| — TmIeHeh / Positive

(U9 57 - 60) : FrAfAREa STTIE ol Ufeq 9T fIU T uv=i & ST St

(Questions 57-60) : Read the following passage and answer the questions that
follow :

T YRR Hagl ael! shid 1 |t Wleeh Sl TREe 9t § 59 81 | o J&id:
T YHR & B ¥ | 3Tade / AT i 3T sl i g 8§ fh=RI W I B € qen
AR R fe=i H o T <1 E1 H 9 Teh © | 39eh ISTeLUI Sl SSIR H1e1 U8l o ¢ | el Tel |
FHISR G Tl Gl ahl U8e] W gk @ H HeTdl hid o ot 34 oidi o1 T =9y |
IERIKRIN

3 fet STfYeEr oI o1 9= =9l o T - |1 e 3T IYh LUl § fohan Srar g 1 S
g3l Tl FST fe@M, T 1 a3t i T9aleh Q@M o faU STad® o, GeAeel, /S
TR 1 LS B STRTENT <19 o1 Wi o S § | SR ofg emafeda 2 € 1 3 o1
H TR ATl YehTeT fRTui Rl Rt Tah foig W hed #d € | 71 foig wied (foig)
T & | S ST o1 s § TS Hier € g a1 €1 eTaffd s § e hrehd o
% ST & THI BT |

L enses are objects made of transparent materials such asglassor clear plastic that
has curved surfaces. There are two main kinds of lenses. Diverging lenses are
thicker at their edgesthanintheir centresand they makelight rayspassing through
them spread out. Converging lenses are thicker in the middle than at their edges
and were the earliest kind of lens made. The earliest examples of these date back

two thousand years. They have been used in spectacles to help people with poor
vision seebetter sinceat | east thetenth century.
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These days, as well as being used in spectacles, converging lenses are used in
many other devices. Magnifying glasses, microscopes and some types of
telescopes use converging lenses to make small things much larger, microscopes
and some types of telescopes use converging lenses to make small things appear
much larger or to make distant objects appear much closer. Converging lenses
magnify by bending theraysof light that passthrough themto meet toapoint. This
pointiscalled thefocus. thethicker that aconverging lensisinitscentre, the more
it magnifiesandthecloser thefocusistothelens.

&9 /Lens
A
WeRTST fahuT Uex o / { N/
Light rays enter lens \ ] WrHE/
V Focus

ST A1 HAAEET 2 | S e 9 Tha AMER o, Ied a5 i @eTs o
faufsm, ot g2t sfa +1 e & SR At T e & fow afg 2 a4 dea
HRTEET 29 | @A R 6 FHl. e feea g i wier i AfwEnaer 37 1 (& 3x ™
feran ST ®)

T TE, T 10X &9 Teh 3% 1 1071 @il f@Ia | 91 10 AT =ret ot fgemm |

Themagnifying power of asingleconverginglenssuch asthat usedinacameraor
magnifying glassisequal to thelength of the enlarged image divided by thelength
of the original object. For example, if a2cm long beetle appears to be 6cm long
when viewed through amagnifying glass, the glass magnifying power is3written
as"3x"). Similarly, a10x lens would make an object look 10 timeslonger. It will
alsolook 10timeswider.

= T o e e wefvia hian © foh o Siie, Wehiet HAigshieentd SR Ueh Soieei
TSI ATSSHTEh Y T ST T o hIH TG ST hl Tl &1 H S <7 Gehell |

The diagram below shows the sizes of objects that can be observed effectively
using thehuman eye, alight microscope and an el ectron microscope.
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*
; 10m —
i 1 meter —
Lm 100 mm —
j i)
& 10 mm —
E =7dt [ ant
2 % 1 mm —
n r'y <9 % %01 / grain of salt

100 pm —
L HHET %31 / human hair

WYl gEHaE

Light Microscope

® 10um — : : -
t I
g FifirrTed ) sgaen [ majority of cells
E 2 1um b Sesten / bacteria
| 1>,
X &E 100 nm —
L c
O kévmgwruses
T 10nm —
@
W

1am — |‘ TFEHIagey | macromolecules

D.1nmJ

¥ |' T [ atoms
- . — aﬁaﬁ F T H
1000 i sFa a2/
1nm=s —2>X  mm indicates range of
1000,000 sizes for object

57. S SoER UIEhIShIY & WA W 2N W Tl B arEd 2 et o o
feras 2 & A1 59 HISsh IR TY o STTaieh ifert feha1 & 2

If the smallest of the viruses appears to have a diameter of 2 mm when
observed through an el ectron microscope, the microscope's magnification

power is:

1) 20x
2) 200x
3) 20 000x
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58.

59.

4)  200000x
Frefafed 8 ¥ SF-91 s ARER o 1 ae gy feemr g ?

Which of thefollowing diagramsshow sideviewsof converging lenses?

[))D

1) ARC
2) B3RD
3) B3RC
4) B,C3RD
1) AandC
2) BandD
3) BandC

4) B,CandD
TS Weh 5 3TTatieh shi<l & HILAH W <@ ST dl, Teh DIt ©f Ieit b1 &1 25 Ty’
YId BT S | 39 Tl SR e fereh &1 foRa g ?

1) 1 fd
2)  sfE
3)  20fE
4) 125 fiyeft’

When seen through a 5x magnifying glass, asmall leaf appearsto have an
areaof 25mm’. Whaistheactual areaof theleaf ?

1) 1mm’
2) 5mm’
3) 20mm’
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4) 125 mm’
g 31E H Teh THT o9 § 7 311 & die feq e W s fgd 0 & foad gemren
TerToit <l et B HoreT i bl STAfA T § |

The human eye contains alens that allows light rays entering the pupil to
befocused ontheretinawhichislocated at theback of theeye.

T Ut FiEarr | o § S o i HIeT See SRl © | O i HIeTs aed ST
TR YT foRol foRd T hd Bil § — I 1 faai geml TR@ Wel &1 § syamd
7

The lensis surrounded by muscles that can change the thickness of the

lens. One of the diagram below correctly shows the way light rays are
focused when thethicknessof thelensischanged.

3)

1)

U

A AT g [
Keys to Lens shapes

e e

Urnn-n

e |
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60.  Whichisthecorrect diagram?
=g HH & fa ST/ SPACE FOR ROUGH WORK

38
Downloaded From : http://www.cbseportal.com



Downloaded From : http://www.cbseportal.com

hed Y & fT S8/ SPACE FOR ROUGH WORK
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